TEL-136 5623 2153

-( Increasing

B®TE &KX

i 15 17 2 Il i A

HIGH PRECISION PLANETARY GEARBOX




< Increasing
SR TERRIRIE

PRECISION PLANETARY GRAR REDUCER

PRECISION PLANETARY

DRIVE THE FUTURE

BEITE RaIRK
EERYUBEHRERAIUTHFESZEHEFRAFLAK,

T BRE=ERNG. SBILAZEY, BE—xKEBWHERRIT. HhiEF0
HESBETERENNSHRARE,

F’reusmn planetary, Drive the future. ABEFNTEREN=RFE, ESFREPL. PF. PS,
IB. IE. PN, ID. AD. IBRER%I, IizNBFEmMEFL. TIAE
EBEE, BEXKXRI, FHREH. A, BEEE. BUSHLER. A2 . BBERE. BEET. KEIR.
riented, to reaches to the best, CHEDR. BT, BEEzk. KEE. AFHIE. 4. Bm.
G

ering and innovative.

ANEHBEREHENEFMENIRE, ER T —H#EDTILNLT
AT, REIEBEISO001REARFRIAE. CEIAIE, RRSMERKRB
TR, FREEEES, BO5EL. MEFERSHKX,

ILFNEFOE, HELI T EBEEYIMES R 55H K F A
INEREEOMEFTE R Z BN,

Qingdao YingKeRun Drive Technology Co., Ltd. is located in Qingdao
High-tech Economic and Technological Development Zone, China.Adjacent
to Qingdao Liuting International Airport and Qingdao North Railway Station,
it is a professional R&D, design, manufacture andSales of high-precision
planetary reducer high-tech enterprises.

The company produces planetary reducer products, leading products
are PL, PF, PS,IB, IE, PN, ID, AD, IBR and other series. Widely used in
automation industry,Industrial robots, aerospace, CNC machine tools,
metallurgical mines, beer drinks, tobacco light industry,Environmental
Protection Engineering, Warehousing Logistics, Plastic Machinery, Lifting
and Transportation, Stereo Parking, Automobile Manufacturing, Textile, food,
ceramics and other fields.

The company has advanced international production and testing

T E | §HEE O 51 : T - BEREHI B . equipment, gathering a number of excellent transmission industry.Talents,
[ | : . o —————— g the company has passed the ISO 9001 quality system certification, CE
1NEN HEAN 0N [ I NNEN DNEN NNED DNNE NEEE §EA) Bt : certification, won a number of national inventions.Patents. The products are

sold all over thecountry and exported to Southeast Asia, Europe and America
- j . and other countries and regions.
(RRERRR 5:5!%5““’ : R S mE — : Let's work hand in hand to realize that China's precision transmission
: e ) ji & % - ; e machinery catches up with and surpasses the world's advanced level.Create
the goal of Chinese enterprises with core value.




mncreasing

T HETiaMhHHE

EEATERRIE

PRECISION PLANETARY GRAR REDUCER

R ET & ZNEESR

IR ARSI i R NEES

e
waannn e g

RERTHEAH RS

";ML‘E:'?, i~ ﬁ __12"3
3 -3
ar =5
el ER: W HRTEERHAR AT EBHE: GR201837101050
HERHE: 2018411308

HEAEHLE

S e—

5 A 7 8 & FE S

Increasing
EETERRIRIE

PRECISION PLANETARY GRAR REDUCER & & & <T i/ 04t 44

HONOR TO WITNESS HISTORY
QUALITY IN THE FUTURE

5RE WIEMSE auRAEEIHRE




l( inéreasing
et R TERIRE
* HAT kAR

o on / weN :
Y PW P29-50
7L AD/ADR P51-59
" IE/IER P60-67
IB / IBR P68-75
AB /ABR P76-83
4/ =

;




BEITE Rk
PRECISION PLANETARY

DRIVE THE FUTURE

Increasing

BRTE 1Rk

PRECISION PLANETARY, DRIVE THE FUTURE * & & T i &4t 44

Notes of product ordering

O KR A T B R PR

PS series

Precision Planetary Gear Boxes

Rotio/igli# kb

Backlash/[5] 2 [ sl
Output torque/E4E
Frame size/H§B45E

i=3:1~10,000:1
< 3 arcmin
~16,000N.m
PS70~PS400

ordering code

A BRI/ AL REREH A

PS 20 L2

MODEL SIZE STAGE
B2 g B/
70 Li: 1BR/ER
90,115 | L2: 2ER/iR
142,190 La: 38/
240, 285 : ARRIR

330, 400

- 32

Ratio | kL i :
Li:
3.4,5.6.8.10
La:
9.12.15.16.18.
20.24.25.30.32 .

36.40.48.64

La:

60, 64, 72, 75, 8O,

90, 100, 120, 144,

150, 160, 180, 200,

240, 256, 288, 320,
384, 512

-| P2 |- S2

Backlash Output
Hh i =R
Po: #B¥E%  S1: shaft Sl
n S2: shaft with key B2§%
P1: HEE $3: splined shaft E?m
’ K1: Hollow shaft 7
P (SMERREE )
K2: Hollow with key B#EFL
K3: SWpline hollow 7E#7FL
T: Special require FPEHER
OP 3: Case mounting
T A B A
OP 4: Foot mounting J& EESE AL
Standard connection if no mark
T A A SO B G R A

MOTOR

Input
i Tkt

e NS PR
M, MAERSR
o R e
Rt

WPS series

Precision Planetary Gear Boxes

Rotio/i & L

Backlash/[E] 2 B
Output torque/E 48
Frame size/t§B15%

i=3:1~10,000:1

< 5 arcmin
~16,000N.m
WPS70-~-WPS400

ordering code

A B RIS/ B SRR IE R A

WPS 90 L3

MODEL SIZE STAGE
E kil B/
70 Li: 1R

90,115 | |Le: 2ER/4R
142,190  La: 38R/
240,285 |Ls: 4BUER
330, 400

- 64

Ratio i liEk i :
Li:
3.4.5.6.8.10
LE:
9.12.15.16.18.
20.24.25.30.32 .
36.40.48.64

La:

60, 64, 72, 75, BO,
90, 100, 120, 144,
150, 160. 180, 200.
240, 256, 288, 320,
384, 512

- P2 - S2

. Backlash Output
s Hi =R
Po: #¥&®  S1: shaft 3k
S2. shaft with key BIgbE
Pi: 8 S3: splined shaft L&k
i S K1: Hollow shaft ¥l
Fe: et (SRIERE )
K2: Hollow with key E2f7
K3: SWpline hollow E#E7.
T: Special require FIP4SBHER
OP 3: Case mounting
R AR R e AL
OP 4: Foot mounting J&E EE4EEC
Standard connection if no mark

FEERE SR R W NS

INCREASING[PS/WPS] 02

MOTOR

Input
EHMREIW

B A
b, RIERR
SEERES S
R~




Increasing

+ 5 BT iask sAt#

Increasing

+ & BTk At #

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

BEATE Bk

PRECISION PLANETARY, DRIVE THE FUTURE

PS/WPS precision planetary gear boxes technical data

PS/WPS RIIREEITERFHMERELY

PS/WPS precision planetary gear boxes technical data

PS/WPS RIIFHITEREMIEESH

Type Stage PS PS PS PS PS PS PS PS PS Type Stage/Bl3t B# o PSqn PS PS PS PS PS PS PS
Oata RGN RIS BH \ps 7 0 WPSQ 0 wes 119 WP5142 WPS190 WP5240 m285 WP8330 WPs400 Data SN wie D WPSB 0 wps 115 wps 142 1ps 190 0240 | 285 | .. 330 400
3:1 22 50 125 400 1,050 1,830 3,175 5,043 7,500 Mag;“é?%}}fg“e N.m 1.5times T2N  1.5{&ZEEHE
451 :? :TE 260 800 1,780 3,700 6,400 10,000 17,000 Eﬁ&ng%e&eﬁt%p flaa 2 times T2N Py
i 5: 0 230 700 1,600 3,100 5,500 8,800 16,000 Fmaxfor 10,0000
6:1 26 65 130 550 1,000 2,100 4,500 7.500 13,000 %x@mj}[l 265 450 1,240 3,700 6,500 10,500 15,000 17,000 26,500
8:1 18 55 120 450 850 1,700 3200 5000 7,500 Famaxfor 1o 230 430 1,000 3500 5000 10,000 12,000 15000 = 20,000
10:1 15 32 70 210 360 920 1,600 Torsional riRgidity _Nm
g aremin 1.8 48 11 35 70 125 215 350 550
o1 2 >0 128 400 Lo L 3,17 e Lo Mk i speed 8,000 6,000 6,000 4500 4,000 3,500 3,000 2,500 2,500
3 ¥ m
12:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 A ﬁﬂ_ﬁm%% y i ' J : : : - ’ ' '
Verage Input spe
151 a 110 230 700 1600 3100 5500 8800 16,000 e e om 4,000 3500 3,500 3,000 2,500 2,000 2000 1500 1,500
16:1 45 120 260 800 1,780 3,700 6400 10,000 17,000 ’?‘é‘g@ ‘ﬁpss dB(A) o8 <60 <65 <72 <72 <13 <18 <80 <80
=] < < <
20:1 45 120 260 800 1,780 3,700 6,400 10,000 17,000 ifeti
A""Q%’g&"’”e h 20,000 10,000
Lz 25:1 41 110 230 700 1,600 3,100 5,500 8,800 16,000 Efaincey il o8
30:1 26 65 130 500 1600 3100 5500 8800 16,000 it d 18=96% 28 =94% 38L=90%
32:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 o | E ||:1 <§ -:g «g <g <g <g
'0
36:1 26 65 130 550 1,000 2100 4500 7,500 13,000 g o == = = = = —
40:1 41 110 230 700 1,600 3,100 5,500 8,800 16,000 - E (e <5 <5 <5 <5 <5 =5 <8 <8 <8
m | P & Lz <7 <7 <7 =<7 <7 =7 =10 =10 <10
48:1 26 65 130 550 1,000 2,100 4,500 7,500 13,000 = g s -9 -9 -9 -9 -9 -9 15 15 15
50:1 25 60 120 500 o E L <7 <7 <7 <7 <7 <7 <10 =10 <10
B L 9 9 9 9 9 9 12 12 12
w 64:1 18 55 120 450 850 1,700 3,200 5,000 7,500 ‘@.u P | 8 s =13 ¥ i 1 11 5t 18 18 <18
5| 48:1 45 125 260 800 1,780 3,700 6,400 10,000 = 17,000 = £ L =5 =5 <5 =9 <5 =5
@ Po g Lz =7 <7 <7 <7 o7 =7
H 60:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 = & La <9 <9 <9 <9 <9 <9
% 64:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 @ E | § 'L-; <; <; <g <g <g <; z}g jg j}é
<. < < < < <
i 75:1 4 110 230 700 1,600 3,100 5,500 8,800 16,000 2] s Ls <11 <11 <11 <11 <11 <11 <18 <18 <18
; 1 800 - ? £ | Lt <10 <10 <10 <10 <10 <10 <14 <14 <14
z 80:1 45 25 260 1,780 3,700 6,400 10,000 17,000 e | B ) e - =10 =0 == = =7 e =
: 90:1 4 65 230 700 1,600 3,100 5,500 8,800 16,000 s Ls <14 <14 <14 <14 <14 <14 <20 <20 <20
2 Nm 100:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 31 0135 077 2.63 12.14  28.98
E La 120:1 41 120 260 800 1,780 3,700 6,400 10,000 17,000 4:1 0.093 0.52 1.79 7.78 23.67  32.85 40.2 75.1 251.6
£ 1251 41 110 230 700 1,600 3100 5,500 8.800 16,000 Li 51 0078 0.45 1.53 6.07 2329 28.71 39.9 73.4 | 243.0
2 128:1 45 125 260 800 1,780 3700 6400 10,000 17,000 61 | 0075 | 042 1.40 5.24 | 2275 | 27.03 366 70.9 | 2324
3 150:1 41 110 230 700 1,600 8100 5500 8800 16,000 18[;11 g‘gzz g‘gg : '22 :'22 ig: 2569 | 345 625 | 2068
& 160:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 : : : : : :
£ 180:1 41 110 230 700 1,600 3,100 6400 10,000 16,000 e 151 | 088 | 0.72 249 A7 | 1959
E : g ' ! ! ' g 201 0.049 0.35 1.60 6.95 9.35 1435 18.80 24.00 5530
= 200:1 41 110 230 700 1600 3100 5500 8800 17,000 & ,, 251 0039 025 1.40 6.65 000 12.44 1830 2320 52.10
240:1 4 110 230 700 1600 3100 5500 8800 16,000 = " 32:1 0038 0.18  1.40 5.81 875 1244 1675  23.20 52.10
256:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 % 51 4011 0.027 0.18 1.30 5.81 875 11.35 16.60 23.20 50.09
320:1 4 110 230 700 1,600 3,100 5,500 8,800 16,000 = R 64:1  0.027  0.16 1.30 5.28 810 11.35 16.60 23.20 50.09
384:1 26 65 130 550 1,000 2,100 4,500 7,500 13,000 2 60:1 0.039  0.28 1.57 6.85 6.92
512:1 18 55 120 450 850 1,700 3,200 5,000 7,500 % g0:1  0.038  0.25 1.38 6.10 6.92 1427 17.73 2473  40.75
500:1 45 125 280 800 1,780 3,700 6,400 10,000 17,000 = 100:1 0.0186 0.25 1.85 5.70 6.55 10.31 14.85 19.75 38.60
ey e 105 60 e 1,780 3,700 6400 | 10,000 | 17,000 200:1 0.016  0.18 1.30 5.32 6.55 8.20 1375 18.50 32.85
v o i 230 o LB e o T R 256:1  0.016  0.16 1.30 5.21 6.30 820 1375 1850 32.85
- = s = 800 T s e T | T 3201 0.016 0.16 1.25 5.15 6.30 8.10 1325  18.50  30.71
' o ) d ' : : 5121  0.016  0.16 1.20 5.15 6.30 795 10.80 15.45 ©28.85
900:1 e 110 230 7 1,600 3,100 5,500 8,800 16,000 3 i S e Bes | B 5 v o i
., 1.000:1 41 110 230 700 1,600 3,100 5,500 8,800 16,000 . . = s e — 5voy | o — o~ i =
1,200:1 41 110 230 700 1,600 3,100 5,500 8,800 17,000 - Lo ias 356 | io060. | 2580 | as0o aa 4o 3is St
1,536:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 'inj i La 99 148 219 375
1,600:1 41 110 230 700 1,600 3,100 5,500 8,800 16,000 = L1 4.0 7.5 13.5 26.5 50 95 143 185 300
@
1,920:1 41 110 230 700 1,600 3,100 5,500 8,800 16,000 2 |bas L2 a7 8.7 16 29.6 61 103 166 230 390
2,048:1 45 125 260 800 1,780 3,700 6,400 10,000 17,000 5 La 5.5 9.5 18.6 32.6 70 121 170 255 410
2,560:1 M 110 230 700 1,600 3,100 5,500 8,800 16,000 L4 124 178 259 425
3,072:1 26 65 130 550 1,000 2,100 4,500 7,500 13,000 {1)Maans:Allowing radial force and axial forca that function in output central place when autput speed is 100 rpm. (1) A B 100rpmBS, 15 B T M L I 2 SRR s
4.096:1 18 55 120 450 850 1,700 3.200 5.000 7 500 (2)The welght of reducer in this book is approximation the practical Is depend on the finished product (2= E R A M AR R A AT, WRERCIE A

INCREASING[PS/WPS] 03

(3)The moment of inartia relates to the ratio. frame., input shatt and to standard mator shaft . eto.

INCREASING[PS/WPS] 04

(LIRS . RN AR, AT RARE, TR

i




Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

PS70-PS190-0P2 motor mounting dimensions PS240-PS400-0P2 motor mounting dimensions

PS70-PS190-0P2 S BRI M RER PS240-PS400-0P2 EHEEHERIIMERER

output it input $HEIREA input SEEERIEA input SHERIEGAN input S${FMEHAN
» = tg = gsm-wmlﬁ v ERER ouput/ Kt gszw-wuﬁ& ? ERER
L3 o 21 D21, B2 D21
=2 - P s, £ .-| - -‘-J|:-‘- .
— (L2 s ! @
_8| I L\
a e == aifallal i
I H & bty
L5 e
——L51 } gle A2
ol L6 L D11 D11
Other shaft P ALEEME LSRR Other shaft F P AEF A H AR
E = S1 shaft 8 S2 shaft with key B i#ih Sz splined shaft £ & St special shaft $5kih E S1 shaft % S2 shaft with key Hléh S3  splined shaft £ téh St  special shaft ¥t
] »
5 According to customers 5 According to customers
o iz == B i i = | B . . R 2
5 ( F@ { E ( ﬁ RPERHE g ( }E { F 8 AREREE
o
E ki hollow £MFLutemes  kz  hollow with key B8 B3, ks  splined hollow M ki special hollow $%3L E ki hollow #AFLstemn® ke  hollow with key E@#MI.  k:  splined hollow FESMF. ke special hollow %L
S & S ®
=
E, = | __ = i According to customers E i |p== ] i __ y 1L According to customers
8 - m T RPRREIE g = =T = RRERSIE
a o
Type stage
RIEE ER Y PS70 PS90 PS115 PS142 PS190 Typi;aéeu PS240 PS285 PS330 PS400
SizefI% A S R 2 s = I8 LR R Size/R+ 1 |2 |3 |4 |1 |2 |3 |41 2 |8 |4 |1 s | & |4
At Ez 65 85 115 142 180 Al 0 240 85 330 400
Bi 5 6 8 12 16
B1 18 20 22 25
C1 M5X12 MeX15 M10X22 M12X25 M20X42
C1 M20X42 M24X50 M24X50 M24X50
H1 16 22.5 28 43 59 o = = o 5
E D1 @ 70 100 130 165 215 + -
E D2 4x @55 ©E.5 8.5 @11 ©13.5 éf;‘_‘ Dl 0 L3 g5 S0 sk
g D3 o h6 14 20 25 40 55 9_3 D2 g 18 o18 022 22
E o - = = = 60 == g D3 ® h6 65 70 80 80
# D5 oh7 50 70 95 130 160 % Ot “’ ‘8 58 il L
ERG | 64 87 115 140 190 S s g e = il 260
3 u 25 25 40 65 70 g u 85 95 100 125
= L2 4 4 5 75 5 § L2 7.5 7.5 10 5
8 L3 30 36 50 80 80 $ L3 100 110 120 135
L4 35 40 b5 87 90/104 2 L4 125 135 150 165
L5 3 3 4 B 6/20 LE 20 20 25 25
L6 8 10 14 20 20 L6 25 25 25 a5
L7 ® 40 60 80 55 79 103 74 104 1345 95 1345 173.5 137123 17651625 216/202 30852945 Lz 1625 | 217 315 355 192 254 3475 402 201 2685 3755 4375 2585 331 4475 5125
g™ 115 135 155 148 172 196 199 229 25905 274 313.5 3525 319 3585 Lo 348 415 473 525 400 4B6 570 630 450 545 639 695 538 640 745 805
A2 motorii iE H 4l motor#f #E Bl motorif FE R motorii HE i # motorif i L A2 motoriRE Bl motorfREEHL motoriR FE B motor i 1E 4l
?I" B2 motorR iE L #l motorif HE L motorif FEEH motori B #l motorif B4l - B2 motoriRiE B il motoriR#E B HL motoriR$E B HL motorfRiE il
@ He 5& motorfR & 4L motorfl iE motorfi #E E L motorf & i 4l motorfR#E Bl E H2 o motoriR#E motortRiE R motortRiE L motor{R HEEHL
ﬁ D11 2 ‘f‘ motorif IEF motorif 158 motorfi IEEH motorfR iE L motorif & B E  piy ‘é 7 motoriR 2 A motorig 32 B motoriB 2 d motori 2 s 4
£ D21 §‘ % motor#f & #l motorfi & Al motorff #E Rl motortR B R4 motorif 1F Bl é D21 o E motoriB 2 s motoriRiE Bl motoriR sZ B motoriRiEd
£ Z el =
5 D31 % g motoriRiE L #l motorif #E R #l motorfi FE R motorii E FE #l motorif 2 L ;;5 D31 g E motoriR BRIl motoriB B motoriB 4B AL motoriRiEdL
'; bnt = motariie m A moloriE Mot A mistorl a8 . motoriti i il £ Dst .?E B motortR i f4l motoriR IE 4L motortR FE 4L motoriR {E L
g e motorzzzz mmm:::ﬁ momr:ﬁ:i mmmzz:z mctorEE:E % L41 motor#R i E L motortR B AL motortR FE AL motorii 1B B 4L
t t t t t
Uik L Driﬁiﬁ}ﬂm L/ mmeam motormﬁ%m = Driﬁiﬁ-atﬂ, motor*ﬁzam = L51 motortR g motortR B L motortR IR HL motoriRiE Bl
motor motor motor: motor motor
Ll L61 motorif#E Bl motorif #E L motoriR &Rl motorfR#E 4l
{1)dimensions refer to the mounted motor-type ,the size can be changed (1EES MR RERNITEN SERTTEEE ) i ) o e E
(2)dimensions refer to the frame of the boxes,the size can be changed (ELSHAREEANMSHEN BER TR EE (1)dimensions refer to the mounted motor-type the size can be changed (1)SLE S MR BRAN LRGN EERTAIUG R
(2)dimensions refer to the frame of the boxes the size can be changed (2)iE L4 8 SRR M SN E B S R TRl 4

INCREASING[PS/WPS] 05 INCREASING[PS/WPS] 06



Increasing

+ BB Tisnt#

Increasing

£ BABTREHL

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

PS70-PS$190-0P1 shaft input mounting dimensions
PS70-PS190-0P1 @ AR SMERER T

PS 240-PS400-0P1shaft input mounting dimensions
PS 240-PS400-OP 1 N B! SME R ER T

output / Bt L41 L4 input / B\ output / it L9 input / B
L3 L3 L41
_L11 L61 L7 3 L1 - L31_-
c2 |Le L2 || [} ] _D_EJ,I i oL L7 ia
\ : —— c2 L2t | L3
% / R 5 I .
/ - [N me ] 0 I
= =t ol = T ! - N [P Y Tt
EIETR | — e | = 252D 1| |- | 8Es
| ' —~ 3 -
] S Ned
L ¥ 1 o
|
I 151 L5 ) A U LLet |LLs
M A LT el
| L9 — = ) B 1
Other shaft Fi PA[#{EMEHER Other shaft R PTAEEMEHER
ﬁ " S1 shaft i S2 shaft with key E#¥4 S3  splined shaft fEiH St special shaft 3%l E S1 shaft Sl S2  shaft with key Hgtéh Sa splined shaft £ St special shaft $5%8h
0] @
5 According to customers s According to customers
2 i - = =g - o --H o 0 e
g AR ER I gk = APERHE
[=]
E ki hollow ¥RILirerER kz  hollow with key B#M3. ks splined hollow #$#M7.  kt  special hollow $%7L E ki hollow ¥R FLneEss k2  hollow with key &M ks splined hollow #&MI k:  special hollow 4%
2®& ) =
5 | e According to customers 5o B According to customers
.‘5‘ 23 RAPERHME & APERGIE
3 3
Type stage
Size/ R+t 1 2 3 1 2 3 1 2 3 1 2 3 1 2 3 4 Size/Rt 1 o 3 4 ] o 3 4 1 o 3 4 ] 5 3 4
Al O 65 85 115 142 190 =
Al 0 240 285 330 400
B 5 6 8 12 16
c1 M5X12 MBX15 M10X22 M12X25 M20X42 Ef 18 e 22 2
] 16 505 o8 43 59 c1 M20X40 M24X50 M24X50 M24X50
LAY o 70 100 130 165 215 | 69 745 85 95
#® D2 ax ®5.5 6.5 ®8.5 11 ©13.5 r D1 ) 265 315 370 425
g D3 ohe 14 20 25 40 55 £ | b 4x ©18 ©18 22 22
5 D4 [] 17 25 35 60 70 g D3 o hé 65 70 80 20
W D5 o h7 50 70 95 130 160 S [os 5 == e = o
#  pe o 64 87 115 140 190 o
= : D h7 22 250 290 350
& | L1 25 25 40 65 70 # S L B
gL 3 3 S . - 3 | U 85 95 100 125
| s 30 36 50 80 80 = £ 7.5 75 10 5
é-‘a’ L4 35 40 55 87 90/104 o | is 100 110 120 135
L5 3 3 4 5 6/20 g 14 125 135 150 165
L6 8 10 14 20 20 e e 20 20 25 25
L7 40 60 80 55 79 103 74 104 134.5 95 134.5 173.5 137/12317651625 216/202 30850945 L6 25 25 25 a5
(1)
L 115 135 155 148 172 196 209.5 239.5 270 304.5 344 383 354.5 394 L7®@ 1625 217 | 315 355 192 254 347.6 402 201 2685 3755 2585 331 447.5
A 65 85 115 142 180 142 Lat 4555 510 567 607 528 590 640.5 695 581 647.5 726.5 677.5 750.5 837.5
o2 4 > b 19 7 10 A2 240 190 285 240 330 285 (240 400 330 (285)
c2 M4X10 M5X12 MBX16 M12X25 M12X25 M12X25 i i = = = = B > =5 [ i3
= == L L el i al - c2 M12X26  M12X26 M12X26  M12X26 M16X35  M12X26  M16X35  M16X35
o D11 o 70 100 130 165 215 165 = H2 53.5 43 64 53.5 745 64 | (53.5) 85 745 (64)
!..j D31 10 16 20 35 40 35 EK D21 4% M16X35 M12X25 M16X35 M16X35 M16X35 M16X35 M16X35 M16X35
& D41 17 25 35 55 55 55 E D31 ohé 50 40 60 50 70 60  (50) 80 70  (B0)
=~  Dst 50 70 95 130 160 130 & D41 ® 60 55 75 60 85 75  (60) 100 85  (75)
5 in 15 20 30 45 50 45 =~ D51 ®h7 225 160 250 225 290 250  (225) 350 290 (250)
=5 3 3 5 7 6.5 7 3 60 50 70 60 80 70 (60) 90 80  (70)
L31 21 26 40 58 63 58 £ Lo 6.5 6.5 5 6.5 5 5 | (6.5) 7.5 5 | (5)
La1 25 30 45 65 70 65 L31 73 63 80 73 90 80 (73) 105 90  (80)
L51 3 3 4 5 5 L4 83 70 a0 83 100 20 (83) 117 100 (90)
L61 23.8 28.8 35.5 57.5 57.5 57.5 L51 8 5 8 8 8 8 10 8
L61 85 57 111 85 125 111 (85) 130.5 125  (111)

(1S e YMBRERnDEEHE ELRTITUEEL
(2pELS M EBER N D EEE R, EE R A 2L

(1)dimensions refer to the mounted motor-type the size can be changed

kL2 g ST =) e e
(2)dimensions refer to the frame of the boxes,the size can be changed (1)ELLHARMRTROUMEEM BLRTATUFEL

(2NEE2NEERENNGEEMEERTATUEERL

INCREASING[PS/WPS] 08

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

INCREASING[PS/WPS] 07



Increasing

+ 85 BTk At i

Increasing

+ BB Tisnt#

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

PS[IK hollow output mounting dimensions PS series mounting dimensions

[~ 4
PSOKZ > FLEN M R T PSE& 5| EXSMER T
- - - -
PS[Jk1 hollow AR FLSMEEAREE) PS-OP3 box mounting size #HiEBEERER
L3
__‘_'-_1- | D30
. 5 & @
" I gz
I L] e L S
L - 8 8
B ; @ @ + ] <l T
v |
131 _|[Lsz !
Type stage
; Wk B PS190K1 PS240K; PS285K1 PS330K1 PS400K1
i Lypestage PS PS0 PS1 PS14 PS190
D3 OH7 50 55 65 70 80 RIS BB 70 I | s | 142 I
D4 o 70 75 85 90 100 SizeR 1 =2 1 =2 1 =2 1 =2 1 =2
L1 mm 60 80 90 90 100
L3 mm 70 100 100 100 120 D30 @ Mé M8 a ma M10
Other size is as same as PS series HERTHPSEIERRTxEE—H H3o mm 35 45 57.5 71 95
L30 mm 52 60 78 108 132
PS[ k2 hollow with kEY Eﬂl’i?ﬂ L31 mm 35 51.5 40 63.5 56 90 79 120 80 128
L L3 L32 mm 6 8 8 10 10
- B1 L L
e | i L33 mm 10 15 16 16 20
B Other size is as same as PS series HER~THEPSRIERR TR —H
; Sl %l
E — = “l_ DI QI
: il | . ‘
i PS-OP4 foot mounting size JEMR=TER
Type stage
Sare Bk BY  PST0K: PS90Kz | PS115Kz  PS142K: PS190Kz  PS240Kz  PS285Kz  PS330Kz  PS400K:
ze
B1 mm 3 5 6 10 14 14 18 20 22 o
H1 mm 11.4 17 228 38.3 53.8 58.8 69.3 74.8 85.3 '
D3 ©H7 10 15 20 35 50 55 65 70 80
D4 o 19 30 40 55 70 75 85 90 100
L1 mm 2 2 2 3 3 5 5 5 5 i
L3 mm 20 30 38 60 80 80 80 100 130
Other size is as same as PS series HERTEPSEIEER L3
PS[]k3 splined hollow L
P i3 Lok Jn Sta?.fa - PS70 PS90 PS115 PS142 PS190 PS240 PS285 PS330 PS400
o b .
i D3=INTaz X bm X 30r7H SizeR T = T = e S R =S B -l S (= el = B el = A T =
! D40 ® 6.6 9 9 9 11 13 13 18 18
D41 o 11 15 15 15 18 20 20 26 26
_ = H4 mm 47 60 72.5 86 113 150 170 200 240
L40 mm 84 110 135 165 216 265 310 360 430
H L41 mm 4655 70 49 775 575 915 82 123 97.5 145 130 180 150 200 180 230 200 260
L42 mm 8 10 10 10 12 30 35 40 40
L43 mm 6.8 10.5 10.5 10.5 11 13 13 17.5 17.5
Type stage
i R SIS B PS190Ks PS240Ka PS285Ka PS330Ka PS400Ka L44 mm 12 15 15 15 18 30 27.5 35 40
D3 INT20zX2mX30rX7H  INT25zX2mX30rX7H  INT20zX3mX30rX7H  INT252X3mX30rX7H  INT202X4mX30rX7H L45 a1 100 130 155 185 240 300 350 420 480
D4 @ 70 75 85 90 100 L46 mm 625 86 69 975 775 1115 102 143 1215 169 180 240 220 270 250 310 280 360
L1 mm 3 5 5 b 5
L3 o 60 60 65 70 80 Other size is as same as PS series HERTHEPSEFEER TR

Other size is as same as PS series HERTHEPSRIIFERTES—H Note: If no, then according to customers  i*: BEFRHHBLEEAEEXRR, AEGEN. BORRGEMEEERNRERALNRAE R EE.

INCREASING[PS/WPS] 09 INCREASING[PS/WPS] 10



Increasing

+ BB Tisnt#

Increasing

£ BABTREHL

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

WPS70~WPS400 OP2 motor mounting dimensions
WPS70~WPS400 OP2 E#EHER X IMERER

WPS70~WPS400 OP1 shaft mounting dimensions
WPS70~WPS400 OP1 S ERI X SME R ER T

output K input $#i A output i - gi} - input 8N
- 1
il . D1 N 3\5 I?E,
7 T—1
A2
] D11 (& @ ﬂl D11 —
1] N a— —J% R
N o) Sla * T T
. I & I i ] S sl _
: 1/ QL;\EP/ I RS,
7)) T 74, 4,—L ; Q{ MINSEZ
: = =+
o™
5

Other shaft [P AEFA G HER

Other shaft P e[ SEa06H HEE

E S shaft &l S2  shaft with key B S3 splined shaft £ St  special shaft 58 E - S shaft il S2  shaft with key E il Sz splined shaft £ St special shaft $57#h
@ B @

L =
5 . According to customers = B N = According to customers
a ( }@ F ( AREREE gw }E P APERSE
°
3 k1 hollow A FLormmes kz hollow with key & M3l  k: splined hollow &M ki special hollow $§%7L E ki hollow £RFLsreEgs k2  hollow with key E#HR3I. ks splined hollow #E#MIL ke  special hollow $#7L
2 2
g H
g 3

g =
» == According to customers @ 1 According to customers
APRERGIE ARERE
T‘"’e;;;gn WPS70 WPS90 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 \WPS400 Type ;‘;9;“ WPS70 WPS90 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 WPS400
Size/R~t 1lelald|2lalq 2] ala]zla|4l2a 4| 1] alalal 1| 21a]4] 1| 2341|234 Size/ Rt 1| 2| 3 1l 2|31 [ 2a 208 1 2] 3] 4] 1|28 4 1| 2|34 |2 841|282
AT 0 65 85 115 142 190 240 285 330 400 Al o 70 90 115 142 190 240 285 330 400
Bi 5 6 8 12 16 18 20 22 25 B1 5 6 8 12 16 18 20 22 25
c1 M5X12  M6X15 M10X22 M12X25  M20X42 M24X50 M24X50 M24X50 M24X50 (H” M5’;‘ 2 M::‘ 5 | M 1;’:22 M1 2:25 M2°:42 Mzgécso Mzi"m ME;XE‘” MQ;“”
1 1 5 4 5 745 5 5
H1 16 225 28 43 59 69 74.5 85 95
g ‘E D1 o 70 100 130 165 215 265 315 370 425
e | > i 1% L .o 215 i s L4 i g D2 X ©55 065 085  O1f ©135 018 18 022 ©22
¥ D2 4x 55 6.5 ©8.5 ®11 ®13.5 ®18 ©18 ®22 22 3 D3 ohB 14 20 25 40 55 65 70 80 90
% D3 ®h6 14 20 25 40 55 65 70 80 90 & D4 ] 19 30 35 60 70 75 85 20 100
i P 19 a0 55 P s g a5 P 100 g D5 oh7 50 70 a5 130 160 225 250 290 350
=
} = - . = = = =
H/ ps o h7 50 70 95 130 160 225 250 290 350 w D A i = i o L
i = L1 25 25 40 65 70 90 100 110 125
:é D6 O 64 87 115 140 190 i - = - = = = = = =
| s 25 25 40 65 70 85 95 100 125 = L3 30 36 50 80 80 100 110 120 135
S 4 4 5 5 5 75 75 10 5 L4 35 40 55 87 90/104 125 135 150 165
:53 L3 30 36 50 80 80 100 110 120 135 & L 3 3 4 5 6/20 20 20 25 25
L4 a5 40 55 87 90/104 125 135 150 165 L& 5 1 1 b o = = = o
: = - 5;20 = . - = L8 75 103.6 1255 151.2 205 205+ 205+ 205+ 205+
L = 2 2 L7e 40 60 80 55 70 103 74 104 1345 85 1345 1735WHTHHES IAL WNNS 1625 217 315 355 192 254 75 4 206 2725 T1554375 265 336 4475 5125
L6 8 10 14 20 20 25 25 25 35 Lg™ 115 135 155 148172 196 25452845 315 33323727 4117432 4715 511 6015
L8 75 103.6 125.5 151.2 205 205+ 205+ 205+ 205+ A2 70 90 115 142 190 142 240 190 285 240 330 285(240) 400 330 (285)
L7 40 60 80 55 79 103 74 104 1345 05 13451745 M My D40 46 162.5 217 315 355 192 254 3475402 206 272537554375 265 338 4755125 B2 3 5 6 10 12 10 14. | 12 | 18 | 14 | 20 [18[14| 22 |20 18
Le ¥ 115 135 155 148 172 106 25452845 315 333207274117 412 4715 51 6118 : H2 11.2 18 22,5 38 43 38 535 43 B4 535 745 64(535 B85 745 (84)
A2 MiEEH motor  HRIEEHL  motor RERN motar R — RESE 9 D11 ;; 70 100 130 165 215 165 265 215 315 265 370 315(265 425 370 (315)
_ D21 M5X12  MBX15  M8X18  M10X22 M12X25M10X22 M16X35M12X25 M16X35 M16X35M16X35 M16X35 M16X35 M16X35
= 1t 1t 3¢ # t
el L REEA | moor | GERRAL | motor migh il atadid LSl RigRL ?'5 D31 10 16 20 35 40 35 50 40 60 50 70 60 (50) 80 70 (0]
=l lre RigEH  motor  REEH  motor  WRERH ot L L mator wER & D4t 17 25 35 55 55 55 60 55 75 60 85 75 (60) 100 85 (75)
< bn g if B motor  {RIEEHL motor i til! motor HL i AL motor REEN = D51 50 70 95 130 160 130 225 160 250 225 290 250(225 350 290 (250)
£ oy 2 E WEBH motor | IREMEL  motor REE T RiEE mGtor RES g2 L 15 20 30 45 50 45 60 50 70 B0 80 70 (60) 80 8O (70
= £ £
= D31 E g RAZEHL motor  {RIEEH motor RIEBIN motor HRIBE L motor R R = L21 3 3 5 7 6.5 7 65 | 65 5 6.5 5 (585 75 5 @)
a 5 21 26 40 58 63 58 73 63 80 73 90 80 (73 105 90 (BO)
£ B f BB motor HIBE motor 2
= i MW | rokr | WERA | ety wEmi = 25 30 45 65 70 6 83 70 90 83 100 90 (83 117 100 (90)
g L41 RiBEH motor fiekidzk motor ik ki motor Lickiod ko motor HiEEH 5 3 a a 5 5 8 5 8 8 8 g 10 5
L51 miEmi motor  {RIBHH motor R 4% A motor HRLAE AL motor WIBEHN L61 238 28.8 385 46.5 57 465 B85 57 111 85 125 111 (85 1305 125 (111)
L61 RigEHN motor  ARIBAH motor REBH motor B motor BESEH L71 76 103.6 125.5 151.2 213 213+ 213+ 213+ 213+

(NELLBHAMEEHALNREN BLERTATUEEL
(2)iE RS0 B RN BAEA R IEERTALREEL

INCREASING[PS/WPS] 11

(NELSYUBAMRTRNDMESHM, BLERTTRIHEL
(2NELS R RR A EEEH S ERTATAREN

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

INCREASING[PS/WPS] 12



Increasing Increasing

SR TERRRIEN FBEATE 1Eak

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4
WPS[IK hollow output mounting dimensions WPS series mounting dimensions
WPS[IKZ > FLE S R~ WPSZ 5l EE X SMER T

WPSCk1  hollow A GMRIREE) WPS-OP3 box mountinGGEER RN

U

L M

L30

Type stage
Sibe RISE By WPS190K1 WPS240K1 WPS285K1 WPS330K1 WPS400K1 Tvp;;a%en' WPS70 WPS90 WPS115 WPS142 WPS190
D3 DH7 50 55 65 70 80 s
SizeR~t = = = = =
D4 0] 70 75 85 90 100 L ee . i L £ L = L i
L1 mm 60 80 90 90 100 D30 L] Me M8 M8 M8 M10
L3 mm 70 100 100 100 120
H30 35 45 575 71 95
Other size is as same as WPS series HERTRWPSHIMERTRE—3 mm
L30 mm 52 60 78 108 132
i L31 mm 35 51.5 40 63.5 56 a0 79 120 80 128
WPS[ k2  hollow with k
SD olio t ey gﬂm?l’ L32 mm 6 8 8 10 10
L33 mm 10 15 16 16 20

Other size is as same as WPS series HERTHRE WPSREIEERR2—H

L3
| oLk

WPS-0P4 foot mounting size KRR ZR %R T

T
Type stage
R SR WPS70K2  WPS90K: WPS115K2 WPS142K2 WPS190K2 WPS240K: WPS285K> WPS330Kz  WPS400K2
ze ] o o
|
B1 mm 3 5 6 10 14 14 18 20 22 |
Hi  mm 11.4 17 22.8 38.3 53.5 585 69 745 85 ! =
D3 ®H7 10 15 20 35 50 55 65 70 80 H—— 11— 13 &5
D4 ® 19 30 40 55 70 75 85 90 100 : |
L1 mm 2 2 2 3 3 5 5 5 5 —a] |
13 mm 20 30 38 60 80 80 80 100 130 L41 |L42
Other size is as same as WPS series HERTHEWPSEFMER tRE—5 EL
S . BEMIL T""Q;’;’a WPS70 | WPS90 | WPS115  WPS142  WPS190  WPS240  WPS285 = WPS330  WPS400
WPS[ k3 splined hollow F _ _
SizeR 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2
=INTaz X bm X 30r7H
R R I D40 ) 6.6 9 9 9 1 13 13 18 18
] D41 ® 11 15 15 15 18 20 20 26 26
: H4 mm 47 60 72.5 86 113 150 170 200 240
: N = L40 mm 84 110 135 165 216 265 310 360 430
I\ g — L4 mm 465 70 | 49 775 57.5 915 82 123 975 145 130 180 150 200 180 | 230 200 260
[=1
X 7% L42 mm 8 10 10 10 12 30 a5 40 40
L43 mm 6.8 10.5 10.5 105 1 13 13 17.5 17.5
Type stage
G 5 R WPS190Ks WPS240Ks WPS285K3 WPS330Ks WPS400K3 La4 nm 12 15 15 15 18 30 27.5 35 40
D3 INT202X2mX30iX7H  INT25:X2mX30rX7H  INT202X3mX30rX7H  INT252X3mX30rX7H  INT202X4mX30rX7H L el JR9 10 Ins 182 240 00 200 420 a50
D4 ® 70 75 85 90 100 L46 mm 625 86 | 69 975 775 1115 102 143 1215 169 180 240 220 270 250 310 280 360
L1 mm 3 5 5 5 5 e . = =
= e = - e . i Other size is as same as WPS series HERTHRWPSREIERRTRE—H
Other size is as same as WPS series HERSHEWPSHIIERR TR —8 Note: If no, then according to customers  if: ERHPOEEAREREF, FTEEER. 32 RREEEREEERENLERFL/M A E R EE

INCREASING[PS/WPS] 13 INCREASING[PS/WPS] 14



@easing
BEITE 1Eahk

PRECISION PLANETARY, DRIVE THE FUTURE -+ & & T i/ &4t 44

Notes of product ordering

O KR R T SR A

| . . PL/PF series

Precision Planetary Gear Boxes

Rotio/ig & tk i=3:1~10,000:1
Backlash/[E] 2 f# BE < 3 arcmin

Output torque/#H%E ~1,800N.m

Frame size/{#ZI5% PL40/PF40~PL200/PF215

(4)1dm/(J)1d

ordering code ] & {CH5/B SR 4251 BA

PL(F) 90 Lz |- 32 - P2 |- S2 MOTOR
MODEL SIZE STAGE Ratio i ii%kE i ¢ Backlash Qutput Input
o ! ES T Hifk ERB/ BB Li: L1 i R AR
’ 40, 60 Li: 1E/88 3.4,5,6.8.10 Po: HB#E® S1: shaft ;’ﬁ’:ﬂ]
) . Ls: o 82: shaft with key E&2iR SR A
80, 120  Le: 288k 0.12.15.16.1g. | |P1: HH S3: splined shaft 7EHs) T
0 4 140 160 L3: BB 20.24.25.30.32. [Pz g | Ki: t“;;f'&";%%g ; St o A O
174N 36.40.48.64 : R+
17aN o~ r 200 La: BRI K2: Hollow with key EE&IFL
é?'ék - 'a?f"%{, La: K3: SWopline hollow FE&EFL
o v ? @(5 60, 64, 72, 75, 80, T: Special require  FPHHER
[ =) 90, 100, 120, 144, OP 3: Case mounting
150, 160, 180, 200, R B A
240, 256, 288, 320, OP 4: Foot mounting Ji EEZEMAE
384, 512, s00, 800 Standard connection if no mark
A B SR B G B L T
Precision Planetary Gear Boxes
L]
E . . . Rotio/ig # Ltk i=3:1~10,000:1
Backlash/[2] 2 [ B < 5 arcmin
Output torque/E4E ~1,800N.m
Frame size/f§ 5% WPL/PF40~WPL200/PF215
ordering code 7] & &/ B RIFEFAA
WPL(F) 90 Ls - 64 - P2 |- S2 MOTOR
MODEL SIZE STAGE Ratioi BiEHE i Backlash Output Input
EHIREE bt BB L1 TR i PR AR
_ 40, 60 | Lz 1B 3.4.5.6.8.10 Po: ##E®  S1: shaft K& .
B ; Lo, S2: shaft with key B4l AEE AR AT
75, 80, 120 ||L2: 2078 9.12.15.16.18. | |°': W& S3: splined shaft L& S, HRAETIGE
¢ 140, 160, Ls: 3B/ 20.24.25.00.32.| [Pz i | |1 Holowshall A AT
5 Le: 45140 36.40.48.64 K2: Hollow with key Bg#7L R
La: K3: SWopline hollow FE@FL
60. 64, 72, 75, 80, T: Special require FAPYFHERK
90. 100. 120. 144, OP 3: Case mounting
b, 150, 160, 180, 200, R A B s
A 2 0 = 17 240, 256, 288. 320, OP 4: Foot mounting JE B
*%E =2 {T E 1§z:j] %;E 384, 512, s00, 800 Standard connection if no mark

TR BRSO BRI ENEE
PRECISION PLANETARY

INCREASING[PL(F)/WPL(F)] 16

DRIVE THE FUTURE




Increasing Increasing

SR TERRRIEN FBEATE 1Eak

L1 - %] L1 -
% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4
PL(F)/WPL(F) series precision planetary gear boxes torque PL(F)/WPL(F) precision planetary gear boxes technical data
- e b
PL(F)/WPL(F) R 5§ % 1T 2 ml & H10%E PL(F)/WPL(F) RIIRBTERRRIEESH
Type Stage PL 60 PL70 PL 8 PL 9 PL 120 PL 140 PL 160 PL 200 Type Stage/E/sg gy PL 60 PL 70 PL 80 PL 90 PL 120 PL 140 PL 160 PL 200
meg ey PF 60 PF 70 PF 80 PF 90 PF 115 PF 130 PF 142 PF 215 PF 60 PF70 PF 80 PF 90 PF115 PF 130 PF 142 PF 215
WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200 Data {5628 WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200
Data #AES 8 WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215 WPFB0 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
| Max. output torque :
31 18 22 40 50 125 210 400 1,050 Bk e N.m 1.5times TN 1.5z
i | aon | e SRE e | Nm 2times T-N  2fEMEREMESE
4:1 40 45 110 125 260 :
Exmm N 240 265 400 450 1,240 2,250 3,700 4800 h
5:1 36 41 90 110 230 400 700 1,600 Famax.for 10.000h -
L1 s NN 220 230 420 430 1,000 1,500 3,500 4500 q
6:1 22 26 55 65 125 260 550 1,000 T e aromin 18 195 47 485 11 22 B 55 —
8:1 15 18 50 55 120 210 450 950 N s Eoed | pm 8000 8000 6000 6000 6000 4500 4500 4000 E
Average input speed 2500
104 12 18 - 49 - 130 516 305 | BeAEE P 4,000 4,000 3500 3,500 3500 3,000 3,000 25 O
oise PF dB(A) <58 <58 <60 <60 <65 <68 <70 <70 |
91 18 20 40 50 125 210 400 1,050 ﬂiirage “}I‘;iline <61 <61 <63 <63 <B8 <70 <75 <78 q
bt & 20,000 m
12:1 40 45 110 125 260 450 800 1,780 Effe'e”%w%g“ load| | =96% 28 =94% 3E =90%
15:1 36 41 90 110 230 400 700 1,600 . £ t1 <: <: <: <: <: <:
0 = 2 < < < < < <
16:1 40 45 110 125 260 450 800 1,780 T La <7 <7 <7 <7 <7 <7
PL = |A <5 <5 <5 <5 <5 <5 <5 <5
w 20:1 40 45 110 125 260 450 800 1,000 or |[P1| B (L2 <7 < <7 = e = = <
g i 25:1 36 41 90 110 230 400 700 1,780 % : E :194 :194 :: :: :: :: {: :ag
¢ oM = <
E 30:1 36 41 90 110 230 260 700 1,600 & P2| E tz <16 <16 <10 <10 <10 <10 <10 <10
= L 3 <18 <18 <12 <12 <12 <12 <12 <12
% 32:1 40 45 110 125 260 450 800 1,600 2 s L <5 <5 <5 <5 <5 <5
-] PO E Lz <7 <7 <7 <7 <7 <7
z 36:1 22 22 55 65 125 260 550 1,780 o L. o La <0 <0 <0 <0 <0 <9
= : 400 200 1.600 £ L1 <7 <7 <7 <7 <7 <7 =¥ <7
Q 40:1 36 M 20 110 230 d wee F (| & [LE2 <9 <9 <9 <9 <9 <9 <9 <9
g | Nm 48:1 22 22 55 65 125 260 650 1,000 | <t | <l il Al <l <
E 1 <16 <16 < < < < < <
t 50:1 20 25 50 67 120 230 450 700 P2| § [Lz <18 <18 <12 <12 <12 <12 <12 <12
a o La <20 <20 <14 <14 <14 <14 <14 <14
= 64:1 15 18 50 60 120 210 | 450 | 1,000 31 0135 013 077 077 263 583 1214 2516
S 481 40 45 110 125 260 450 800 1,780 4:1 0.093 0.093 0.52 0.52 1.79 3.21 7.78 243.0
g 1780 5:1 0.078 0.078 0.45 0.45 1.53 3.10 6.07 2324
€ Bt 40 i ¥io 125 260 450 8o : L1 &1 0075 0075 042 0.42 140 285 524 2058
Zo 64:1 40 45 110 125 260 450 800 1,780 - 8:1 0.065 0.065 0.39 0.39 1.30 2.10 4,63 56.80
I8 10:1  0.063 0063  0.39 0.39 1.28 1.95 4.60
751 36 41 90 110 | 230 480 | 700, | 1,800 £ 151 0038 003 072 072 240  3.36 747 5530
80:1 40 45 110 125 260 450 800 1,780 & N 20:1 0.049 0.049 0.35 0.35 1.60 2.73 6.95 52.10
8] W 44 & 146 ast e — P & E 2511 0.039 0039  0.25 0.25 1.40 2.25 6.65 5210
i : 2 £ |, 321 003 0038 018 0.18 1.40 2.25 581  50.09
100:1 40 45 110 125 260 450 800 1,780 k] 4011 0.027 0.027 0.18 0.18 1.30 225 5.81 50.09
8 64:1 0027 0027 0.6 0.16 1.30 225 528 4075
— i 5 - Rl e bl A ik i g 60:1  0.038 0039 028 0.28 1.57 2.87 6.85
e 125:4 36 41 90 110 230 400 700 1,600 80:1 0038 0039 025 025 138 225 610
ld :
5 S ® @ w0 a0 o e LI e B AR ST IR e
2 160:1 40 45 110 125 120 450 800 1,780 Ls 5001 0016 0016 0.8 0.18 1.30 2.10 532 3285
S w1 % @m0 e a0 e R O A TR AR
=} 200:1 36 41 90 110 230 400 700 1,600 51211 0.016 0.016 0.16 0.16 1.20 2.10 515 2885
P 240:1 36 41 90 110 230 400 700 1,600 = L1 0.93 0.93 2.35 2.35 6.15 11.30 19.00 3
T PL(F) Lz 1.16 1.15 2.70 2.70 8.00 13.50 2400 42
256:1 40 45 110 125 260 450 800 1,780 Ll kg L2 1.35 1.35 3.20 3.20 10.00  15.80 29.00 50
320:1 36 41 90 110 230 400 700 1,600 §= L1 1.7 1, 4.4 4.4 12 17 26.5 50
= WPL(F) L2 1.9 1.9 5.0 5.0 14 19 29.6 61
384:1 22 22 55 65 125 260 550 1,000 i 21 21 55 55 16 21 aik 0
512:1 15 18 50 50 120 210 450 1,000 (1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm.  (1)F 7768 H S 100mpmis EATFHHG O R 2 BEHERDTEm A,
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product, (2 EREE SRR I mE e, HEERESEE,
{3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc. (W EH AR SR b . R AR, MORITRAE RGN, Hsdm
mEE L.

INCREASING[PL(F)/WPL(F)] 17 INCREASING[PL(F)/WPL(F)] 18



Increasing

+ 5 BTk At #

Increasing

£ BABTREHL

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

PL60-PL200-0P2 motor mounting dimensions

PL60-PL200-0P2 B ER XML RER T

PF60-PF215-0P2 motor mounting dimensions

PF60-PF215-0P2 Ei#BiERI X SN RER

output i input SHEIRMAN input §2IERIEHN output i input SHEIREA input SHERE N
PL40-2004§ 3 ERER PF40-1604F 4 EPRER
L3
L61 o LT _ 'L‘T_.
L2 C1
= 5
\ 7

I v
oz o5 I=El8lgs =
= I -
. / "
.AI‘I |_5_: E
DT L4 v
D11 | =
: . —_
Other shaft [ Al IE A I8 AER Other shaft HPAEEMSHER 3

E - S1 shaft il S2  shaft with key E#i4 S3  splined shaft {284 St special shaft %% E & 4 shaft XHi O WE_th key Bith 83 | splined shaft XMW St | Soacial chait WM
i~ [ = [ = E N i (] [ = [
3 .
§ ki hollow ¥MFlsesmss k2 hollow with key B#M7L ks splined hollow FE8#MFL ke special hollow $%7L é - ki hollow W merss  ka  hollow with key B##MIL ks splined hollow E8#MIL ke special hollow %%l
[=] <=
% : i - :5 ; _ ) Accnrt;;r’;g ;;g c;s{fﬁomsrs :E:.. - ( = Et = __ %_ Accor;;r;; ;;ﬁ I:;Js{;omers
3 ] ] 3
Type Stage PL60 PL70 PL80 PL90 PL120 PL140 PL160 PL200 Tvp%?éaéen PF60 PF70 PF80 PF90 PF115 PF130 PF142 PF215
Size/RF B 2] 3 R 2 [ 23 A 2B 2l 28 |28 | 2R Size/RF B 20 32 2 B 8 2 8 20 A a2 B D 2 S 2 3
B1 5 ] 6 6 8 10 12 16 Al 60 75 90 95 120 145 175 215
C1 M5X12 M5X12 MEx16 M8X19 M10X22 M12X25 M12X25 M20x42 B1 5 5 6 6 8 10 12 16
H1 16 18 225 245 28 35 43 59 C1 M5x12 M5X12 M6x16 M8X19 M10X22 M12X25 M12X25 M12x42
D1 [} 52 62 70 80 100 120 145 184 H1 16 18 225 245 28 35 43 59
D2 4x  M5X8  MSX10  MBx10  Méx12  M10X16  MI10X16 M12X20  Mi2x22 > DI | @ 70 85 100 110 130 160 185 235
= D3 h7 14 16 20 22 25 32 40 55 ¥ D2 4X ©55 ©5.5 ©B6.5 ©6.5 ©B.5 @11 11 ©13.5
§ D4 o 17 20 o5 25 35 40 60 110 § D3 @h6 14 16 20 fred 25 32 40 55
g D5 h7 40 52 60 68 80 100 130 160 g D4 e 1 « &3 = o9 xa 60 o
% D7 o 60 70 80 90 115 140 162 205 é‘ ba | oY 80 % = i) i 20 i 180
L 25 o5 o5 o8 40 85 o5 70 o D7 o] 60 70 80 a0 115 140 162 205
> - . . . . . s s L1 25 25 25 25 40 55 65 70
L2 2.5 3 5 5 5 6 7.5 7.5
L3 30 28 36 36 50 70 80 82
’u: L4 o e 5 o - - " 0 L3 30 28 36 36 50 70 80 82
] L4 35 35 40 46 55 75 87 90
-~ = 2 - = d s * =t 3 LS 3 5 3 5 4 5 5 6
G 7% 48 69 86 475 67.5 B7.5 65 B65 1105 55 77 101 74 104 1345 85 1235 162 95 13451735 137 1765 216 = = —e
E L7 48 67 86 475675 875 65 865 1105 55 77 101 74 104 1345 B5 1235 162 95 134.51735 137 1765 216
S A2 motor  RIEMHL  motor  IRIEMHL  motor  IREEEHL  motor  HRIFBA s motor | HIEEHL | motor | IRIEEAL | motor | IRIEEAL | motor | iREEML
& B2 motor  fRIBEHL  motor  FRIFEH  motor  RIEEH  motor | FRIFEM Ao motor | AREEAL  motor  AREEHL  motor | IREEHL  motor  ARIEEAL
: _1—- H2 - motor  fRIEFHL  motor  RIEAH.  motor  IRIEEBHL  motor  (RIEEHL 1_‘ H2 5@ motor MBSl motor  MIEMML  motor | IRIEEIHL  motor  IREEEEAL
pOMUBTIN ¥ et | RIGR O | e s I e || ol MRt ¥ D11 2E motor MEEHL motor MM motor AEMAL motor ARRAL
2 D21 Su | motor RERH  motor  REMH  motor REBH  motor  RIEMH % D2t Sk moor MEEHL motor MMAHL motor IMEMAL motor  iRIEmAL
£ pat g motor REMHL motor RIEMHL motor AREMHL  motor  ARIERIHL € Dat ggﬁ motor  #RIEEAHL  motor RIS motor  ARIEEHL  motor IR
2  Dst 88 motor RUERML  motor MRIEEHL motor ARMRHL motor IRHERH 5 D5t S motor  MERHL  motor ARERHL  motor  ARIERHL  motor  ARIEREHL
L31 motor  fRIBEHL  motor  RIFEH  motor  IRIFEHL  motor  RIEHEH £ 131 <% motor  fRIBEHL motor  RIEEH  motor  WRIERH  motor  IRIBEM
L51 motor  fRIEMH  motor  RIEMAH  motor  IRIEEEHL  motor  IRIESEH L51 motor  fREEEHL  motor  RIFEYL  motor  RIEMEHL  motor  IRFEM
L61 motor  #RIEEHL  motor  RIEMEH  motor  RIFEEH  motor  RIFEH L61 motor  #RIEEHL  motor  ARIEEHL  motor  IRIEEHL  motor  IRIEEE

(1)dimensions refer to the mounted motor-type the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

(1)iE&4BHRAREEHANRSEN ELRTAUEEL
(25 40y B R A A RS E R AT AR £

INCREASING[PL(F)/WPL(F)] 19

(NELSYMRMRTROIKEHN, BLRTATIA L
(2L 2 1 I A b AR S R A R

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes, the size can be changed

INCREASING[PL(F)/WPL(F)] 20



—
L
S’
—
Q.
§
(5
—
A
o.

Increasing

+ 5 BTk At #

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

WPL60-WPL200-0P2 motor mounting dimensions
WPL60-WPL200-0P2 EiEiE R AMERER T

output fEH input SHEIREA input BERIEA
WPL40-20048 3 EPER
. D51
E\ D31
sl
- =T -
IF a "
1 :

Other shaft Fi P o] AY it A58

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

Increasing

£ BABTREHL

output #it{

L31

WPF60-WPF215-0P2 motor mounting dimensions
WPF60-WPF215-0P2 EEHER R MERER T

input $HEIRIAN

PF40-1604 3

Other shaft P [iE1E 6 HE

|

E = S1 shaft 3 Sz  shaft with key 2§k S3  splined shaft FE§24 St  special shaft 4%
]
5 . According to customers
L ( }@ ( }@ ( RPER S
E ki hollow ¥MFLutemss k2  hollow with key B B3I ks  splined hollow E8#MF ki special hollow H#%FL
2® ) il .
- =B e According to customers
g' ™ E Tl APEXREE
o
Iype 5“;‘; WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200
Size/R s e e 1 N e e e (G A e S I e 6 ) (e s ) 2 e B i)
B1 ) 5 6 6 8 10 12 16
C1 M5X12 M5X12 M6Ex16 MBX19 M10x22 M12x25 M12x25  M20x42
H1 16 18 22.5 24.5 28 35 43 59
D1 (] 52 62 70 80 100 120 145 184
E D2 4x M5X8 M5X10 MBEx10 MeEx12 M10x16 M10X16 M12X20 M12Xx22
fﬁ D3 h7 14 16 20 22 25 32 40 55
g D4 17 20 25 25 a5 45 55 110
§_ D5 h7 40 52 60 68 309 100 130 160
3 D7 60 70 80 90 115 140 162 205
L1 25 25 25 25 40 55 65 70
L2 25 3 5 5 5 6 8 7.5
L3 30 28 36 36 50 70 80 82
L4 35 35 40 46 55 75 85 a0
L5 3 5 3 5 4 5 5 6
[l 48 67 BE 475675875 B5 BES 1105 55 77 10 T4 104 1345 B5 1235162 95 13451735 137 1765 216
L8 75 75 103.6 103.6 1256 140 151.2 205
A2 motor R motor bick =il motor 1RIEEH motor RiEB
B2 motor R motor RERE motor HRIEB motor RERY
E‘i—‘ He | o - motor  IRIFAEHL motor  RIFMHHL motor  IRIFEHL motor  HRIFHEHL
% D11 ‘g‘ E motor RIEEN motor RIFEN motor RIEEHL motor RIEEL
< D21 i E motor TRIEEHL motor RE AL motor HRIFAHL motor RIE AL
g D31 % @  motor RIBEM motor pick ik motor RIEEMN motor RIEE
é D51 § g motor RIER ] motor R motor HRIEB motor RERE
= L31 motor HRIERH motor RIERH motor RIEEM motor RIERH
L51 motor RERE motor R B motor 1RIFAEHL motor RiBEH
L61 motor TRIE motor RIE B motor RABEEHL motor RIE B

(1)dimensions refer to the mounted motor-type the size can be changed

(1)iE&4BARAREHMNREN ELRTAUEEL

input SEERHA
EREXR

'E A S1 shaft Jt#h Sz shaft with key B S3  splined shaft &% St  special shaft $##H
'E According to customers
=" ( F ( F ( RPERBIE
_E k1 hollow P FLitemes k2  hollow with key B@#m7. ka splined hollow 8B ke special hollow 553
s® i: : {:g _
% . ; . _ ] ww According to customers
£ i R PERGIE
(=]
T"’"’:;{,;u WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
Size/ Rt 0 2 s T P e e o Ot T ) et 2. S B ] B (A e 3 5l -2 .«
A1l 60 75 90 95 120 145 175 215
B1 5 5 ] ] 8 10 12 16
Ci M5X12 M5X12 M6x16 M8X19  Mi10x22 M12x25  M12X25 M20x42
H1 16 18 225 24.5 28 a5 43 59
Di @ 70 85 100 110 130 160 185 235
E D2 4xo 055 5.5 6.5 6.5 8.5 11 11 13.5
¥ D3 ohs 14 16 20 22 25 32 40 55
% D4 @ 17 20 25 25 35 45 60 65
g8 D5 ®h7 50 50 80 85 110 120 130 180
3 D7 60 70 80 90 115 140 162 205
L1 25 25 25 25 40 55 65 70
L2 25 3 5 5 5 6 8 7.5
I3 30 28 36 36 50 70 80 82
L4 35 35 40 46 55 75 85 90
L5 3 5 3 5 4 5 5 6
L7 48 67 B6 475675 875 65 BES 1105 55 77 101 T4 104 1345 85 1235 162 95 13451735 137 1765 216
A2 motor REERHL motor RIEEHL motor RIERHL motor RIEERHL
B2 motor REA motor BB motor Rigd motor RiEaH
-:-}:- H2 5g motor TREEEM motor Lickigz2E0)) motor TREER motor Licki===hll
é D11 %{E motor TRIEEB motor btz koI motar fRIEE motor fRiEAH
< D21 *&E motor RIEEN motor RIEEH motor RIEEH motor IR
;g D31 ég motor REEMN motor RiEE motor RiEEN motor RiEEH
é_ D51 <E motor bickigkoN motor IRIEEEHL motor TRIEERHL motor TRIEERHL
® L31 motor R motor Rigd motor Eick itk motor RiEABH
L51 motor RIERH motor REER L motor RIERHL motor RIEERHL
L61 motor IR motor R motor RAEEH motor R

(1)dimensions refer to the mounted motor-type the size can be changed

(1)iEt & B4 RATE BHN DN SLERTAF 2L

(2)dimensions refer to the frame of the boxes,the size can be changed

(25 40y B R A A RS E R AT AR £

INCREASING[PL(F)/WPL(F)] 21

(2)dimensions refer to the frame of the boxes,the size can be changed

(2EL S B EE N AR E R EER TR L

INCREASING[PL(F)/WPL(F)] 22

Rl
-
—
T
E
Ee]
=
—
-
~—




@easing
BEITE 1Eahk

PRECISION PLANETARY, DRIVE THE FUTURE -+ & & T i/ &4t 44

Notes of product ordering

R KR AT R A

PN series

Precision Planetary Gear Boxes

Rotio/ig i tb i=3:1~100:1
Backlash/[E] 2 & f& < 2 arcmin
Output torque/# 4B ~ 3,500N.m
Frame size/H£BI5E PN 070/060~240

ordering code ] & X5/ BSR4 75 AH
PN 90 Lz |- 32 - P2 - S2 MOTOR

MODEL SIZE STAGE Ratioi RUEEE i : Backlash Qutput Input
REKE | R BWUBM W iR THAMTE
il | [ I O W e - s e S W mAE
5 . shaft with key B i
090/075 | |,. 2paim &32.15\16.18. Pi: FEE $3: splined shaft £ ke, HHEEI

1151110 ) e K1: Hollow shaft 7l o 2 e e
(a4 | Lo SEUB 20.24.25.30.32. Pe: fH# ( SNERRREE ) = R 3

190/180 | Lé: AE/E 36.40.48.64 K2: Hollow with key 7L R+
La: K3: SWopline hollow FE&7L
210/220 oo 60. 64, 72, 80, 90. T: Special require FAFSSFEER
240 100, 120, 144, 150,
160, 180, 200, 240,
256, 288, 320, 384,
512, 600, 800 Standard connection if no mark
T A SO B G T T

WPN series

Precision Planetary Gear Boxes

Rotio/igi i3 Ek i=3:1~100:1
Backlash/[E] 72 5 B < 4 arcmin

Output torque/#E 45 ~ 3,500N.m

Frame size/#$25% WPN 070/060~240

ordering code FT & &/ BYSRAR LR AA

WPN 90 Lz - 64 -l P2 |- S2 MOTOR
MODEL SIZE STAGE Ratioi ke : Backlash Output Input
RORE BB BB Li: i TR O E LT
070/060  Li: 1E/4R 3.4.5.6.8.10 Po: EBIE®  S1: shaft
0BO/75 : {2 S2: shaft with key R AEAEAER
ieiin Lo: 2B/ 9.12.15.16.18. 1 ME S8: splined Shﬂfft‘t ;fﬂﬁﬁ R, B
Ls: 38/ 20.24.25.30.32. |Po: fmift K1: Hollow shaft 7L TE R
445 pa ( SMERRREE ) o
1001180 | La: 4ERER SRS K2: Hollow with key E&7FL 31
f La: K3: SWpline hollow {E&27FL
210/220 | oo 60, 64, 72, 80, 90, T: Special require FPHESHEER
. vy 240 100. 120, 144, 150,
W . ' 160, 180. 200, 240,
WBEITE EIFRE 256, 28, 320, 384,

512, 600, 80O Standard connection if no mark
T RSB B g Al A W
PRECISION PLANETARY

DRIVE THE FUTURE e INCREASING[PN/WPN] 24




Increasing

£ BABTREHL

Increasing

+ 5 BTk At #

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

WPN precision planetary gear boxes technical data

WPN R5IRZETEREMERESH

PN precision planetary gear boxes technical data

PN RIIFRITERERIERESH

Type Stage Type Stage
Data 1888 msk ey PN70  PN90 PN115 PN142 PN180 PN210 PN240 Data 1E1E S mik ey WPN70 WPNSO WPN115 WPN142 WPN180 WPN210 WPN240
3:1 45 100 230 450 1,000 1,200 1,800 3:1 45 100 230 450 1,000 1,200 1,800
4:1 60 140 300 600 1,300 2,100 3,500 41 60 140 300 600 1,300 2,100 3,500
. 5:1 65 140 260 750 1,600 2,400 3,000 L1 5:1 65 140 260 750 1,600 2,400 3,000
1
8:1 40 80 150 450 1,000 1,200 2,000 B8:1 40 80 150 450 1,000 1,200 2,000
Nominal 10:1 27 60 125 305 630 1,000 1,800 Nominal 10:1 27 60 125 305 630 1,000 1,800
output 121 68 120 250 780 1,500 2,100 3,500 output 12:1 68 120 250 780 1,500 2,100 3,500
Nm 15:1 68 120 250 780 1,500 2,400 3,000 Nm 15:1 68 120 250 780 1,500 2,400 3,000
Torque Tzn Torque Tzn
16:1 77 150 300 1,000 1,800 2,100 3,500 16:1 77 150 300 1,000 1,800 2,100 3,500
[—. =
FE 58 20:1 77 150 300 1,000 1,800 2,400 3,500 RN e - 20:1 77 150 300 1,000 1,800 2,400 3,500
i 25:1 65 140 260 900 1,800 2,400 3,000 25:1 65 140 260 900 1,800 2,400 3,000
32:1 77 150 300 1,000 1,800 2,100 3,500 32:1 77 150 300 1,000 1,800 2,100 3,500
40:1 65 140 260 900 1,800 2,400 3,000 40:1 65 140 260 900 1,800 2,400 3,000
64:1 40 80 150 450 1,000 1,200 2,000 64:1 40 80 150 450 1,000 1,200 2,000
Max output Torque - Max output Torque :
—ti = 1.6-times of Tan /1. :
B b H 346 1.6-times of Ten /1.6{Z4EEM HiA4E Bt 45 6 GlEEE s AL
Emergecy stop o_ti Emergecy stop :
—times of Ten / 2 2-times of Ton / 2f&EEE I H4E
A e IR B e H
Frmax.for 20.000n 1377 | po8s 6100 | 8460 | 13080 | 21.000 | 30.000 Pk P08 3200 6500 6,000 12,500 20,000 21,000 30,000
sxEmn" ' : : : : : ’ BX{EEH N
Famax for 20.000h Famacfos 20,0000 4,400 6,400 8,000 15000 21,000 25000 31,000
iy 630 1,300 2,400 4,000 6,200 15,000 25,000 P : : ; - - ; -
Torsional rigidity Nm L1 9 20 44 130 240 300 Torsional rigidity Nm ) 6 a 20 44 130 240 300
M AL Lz 10 22 46 140 300 350 AR R AIchn Lz 7 10 22 46 140 300 350
Max.input speed ) Max.input speed : 6,000 6,000 4,500 4,500 4,500 4,000 4,000
i min-1 6,000 6,000 4,500 4,500 4,500 4,000 4,000 il et ; ; . , . ; ,
i i Advised input speed
Advg;e;gg\uit*s;%eed s iobe | wooe | smeo | soon | mses | mese | s prandvlipity [P 4,000 4,000 3500 3,000 2,500 2,500 2,000
e
05 = L 3 = <4 <4 <4 <4 <4 <4 <4
EE_: o = 1 <2 <2 <2 <2 <2 <2 =2 % Po g L1
EE g Lz <4 <4 <4 <4 <4 <4 <4 o = Ea <6 <6 <6 <6 <6 <6 <6
=
=) E L4 <5 <5 <5 <5 <5 5 <5 &= s = L1 <7 <7 <7 <7 <7 <7 <7
% P g T o g g = e g = ':.‘é = L2 <9 <9 <9 <9 <9 <9 <9
et = =
g ” £ L1 <7 <7 <7 <7 <7 <7 <7 El i = L1 =8 = = = = =2 =2
2 Qa
m g Le e <9 <9 <9 <9 <9 <9 m 5 £ <11 <11 <11 <11 =17 <11 <11
Noise 8% dB(A) <60 <62 <65 -68 <72 <75 <78 Noise B dB(A) <68 <70 <72 <75 <78 <80 <82
L1 3.0 5.0 11 18 41 70 85
Weight E @ - L1 1.9 3.3 7.0 16 31 54 71 Weight & @ kg <
Lz 2.4 4.2 9.0 21 47 69 88 ¢ 33 S i =4 20 80 89
311 0.40 1.01 3.14 16.77  63.57 139.0  260.2 i 071 1.521 2856 28.7 156 157 22l
4:1 0.32 0.78 2.40 1216 43.79 943  198.2 i 0.654  1.331 5.924 27.6 183 1955 2185
L1 :
5 0.28 08 216 10.31 36.90 8.9 16a D L1 5:1 0.6 1.168 5.441 26.6 178 194.5 214.5
o 0.25 A oa 8.73 AR 62.0 RE 8:1 0.532 1.004 4.989 25.8 173 191.5 197.7
. 10:1 0516  0.966 4.883 18 90.4 102.5 107.2
Mormisntol 10:1 0.25 0.57 1.90 8.35 26.67 53.1 70.8 Moment of
inertia ; 12:1 0.40 1.02 3.12 16.72  26.50 47.6 66.8 inertia kgem? 12 SARe | sioe L A ) B84 £ L)
wpmE© <" 15:1 038  0.95 295 1519 2645 305 49.3 WERE © 251 0.855 0666 1443  6.136 883 99.9 103.8
16:1 0.35 0.89 2.74 1452 26.41 34.7 39.2 154 0639 0642 1366  6.082 87.2 99.4 102.1
Lz 20 033  0.82 257  13.05 2466  B31.5 34.6 i e 0591 = 0593 | 1.190  6.016 | 85.1 98.9 101.5
25:1 0.30 0.76 2.38 11.89  24.87 30.9 30.2 kil 0.5%0 0.591 1.186 5.5 29.8 97.2 99.4
32:1 0.32 0.77 2.41 11.94  23.50 28.0 26.5 52:1 J.528 4 0023 1.013 5028 7 959 950
40:1 0.29 0.70 2.23 10.79  33.23 29.7 28.2 25 D528 & 0028 il 201 cfin ] 24
64:1 026 0.3 2.03 9.39 2213 282 27.8 b4:1 0.528  0.528 1.01 5.004 | 206 92.9 95.8

{1)Means:Allowing radial force and axial force that function in output central place when output speed s 100 rpm. (1) 5758 H WLEE1 00rpmiES 46 FI T8 tr O i B 2 RSB N s .

(2)The weight of reducer in this book is approximation the practical is depend on the finished product. (YRR R E R AR RS TR e AT, WRENR LW R,

{3)The moment of inertia relates to the ratio, frame, input shaft and to standard maotor shaft . ete. (AR BT L . EIEHE AR, MRS REE N, HA W
RERE,

INCREASING[PN/WPN] 25

{1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 pm. (1) 72708 H WS 1 00rpmiliF, 46 B F 86 o i B 2 Se 4 ) s o .
{2)The waight of reducer in this book ks approximation the practical is depend on the finished product. (2EERNRTE LR R R mEAT L, BRI EE,
{3)The moment of inertia relates to the ratio, frame, input shalt and to standard motor shaft , ete.

INCREASING[PN/WPN] 26



Increasing

+ BB Tisnt#

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

PN gear boxes possible motor mounting dimensions

PN B AR EEIMNERERT
output &iH
L6t | L7 ) L2
i LT e
.: W | f |
| |/
— == ) . 1
} 5| 2 & s M — (88 8
H15]|_L3
Ls1 '
ML =
R L9
Other shaft B P AEEME LSRR
£ = s shaft 3 S2  shaftwithkey B@#  Ss  splined shaft 7E5W
w
- I
s, T = e
3 .
E ki hollow XMFlstemess ko  hollow with key B@KI ks  splined hollow £@KIL
Aol il
am [ = 1 aaal
E ; I
o
Type Stage
RISH By PN70 PN90 PN115 PN142 PN180
Size/R~t 1 2 1 2 1 2 1 2 1 2
A1 70 80 110 142 180
B1 5 6 10 12 16
C1 M5EX12.5 M8X19 M12X28 M16X36 M20X42
H1 18 24.5 35 43 59
D1 © 68-75 85 120 165 215
+ D2 4% 5.5 6.8 9 11 13
;KE D3 h7 16 22 32 40 55
B D4 35 40 45 70 80
g D5 h7 60 70 a0 130 160
g D7 70 90 115 146 207
L1 25 30 50 70 70
| 2 2 4 5 6
L3 30 38.5 61 85 85
L4 48 56 88 112 112
125 18.5 18 28 27 27
L7 54.5 655 86.5 93.5 89.5 100.5 110 1255 150 157.5
Lo 122 159 159.5 207.5 197 236 244.5 298 291 340
A2 motoriREE AL motorfRIEFEAL motorfRIEE YL motorfR#EFEYL motorfRiE AL
= D11 5 motoriR AL motoriRiE AL motorfRiEEHL motoriR RN motoriRiE B
o
E D21 E T motoriR4EREAHL motoriRIEREAL motorfRIEEHL motorfRFEEYL motoriRiErEiL
?5 D31 ° E motoriR B HL motort@#EFEHL motorfR#ERYL motortl@#EFEHL motorif & 4L
& D51 g E motoril#EEHL motoriRfE AL motorfRIEEHL motorfR#EEHL motorfi #E Bl
= L34 2w motorR#EMEH motorfREEHL motorfRIBEHL motorfRIERHL motorfRiEEHL
o
;—‘-} L51 < E motorifiFEHL motoriRfE AL motorfRiEE 41 motoriR#E ANl motoriRiEEHL
L&1 motoriR Bl motoriRiE AL motoriRHEEE AL motoriR R ML motoriRiE B4

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes, the size can be changed

St  special shaft $5%kih

According to customers

APREREE
ki special hollow %7l

According to customers

APEXREE
PN210 PN240
1 2 = 2
220 240
20 22
M20X42 M20x42
79.5 90
250 290
17 17
75 85
115 125
180 200
215 245
90 125
7 3
108.5 130
143 170
30 a7
163.5 178.5 211 240.5
364.5 415 443 467.5
motorfZ#ERHL motoriRiE B
motortR B HL motoriR iE 41
motorfR#ERLHL motoriRiE L
motoriR Rl motoriRiE L
motortRfEFEHL motorif #EEHL
motorfZ#EEHL motorii #E B
motort@#EHHL motoriR iE 4L
motort@#EHHL motoriR iE B4

(NELSHMRFTRERMBMFMN ELRTATUAFEY
(2hEL ey ER N ASEEMEERTITNEEE

INCREASING[PN/WPN] 27

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

Increasing

£ BABTREHL

WPN motor mounting dimensions

WPN EHEABXIMERERT

input B

M

Other shaft P a2 R HHT

] S shaft i Sz
-8
8 < ﬁ
-
o
3 k1 hollow ¥R ILisnEmER k2
S E
= =
5
(=]
Type Stage
I 8y WPN70
Size/R~ T 1 2
Al 70
B1 ]
C1 M5X12.5
H1 18
D1 [} 68-75
E D2 4x 5.5
€ D3 h7 16
= D4 35
% D5 h7 60
5 D7 70
o
L1 25
L2 2
L3 30
L4 48
L5 18.5
Le® 92.5 70
L7 101.5 120
A2 motorfRHE AL
= D11 2 motorR FEE 4L
. s E
(i D21 g E motorfR#E L
i'j D31 i) Eé: motorfR#E L
& D51 £ E motorfRFEF
=" =
‘5 L31 '6 Ha motorf@ #E B4
a g =
= L51 motor*EFEEE*Jl
L61 motortR#E B4

L61

L]

L6

output i

L]

(oot <

shaft with key B 28

e

hollow with key B K,

WPNS0

1 2
80
6
M8X19
245
85
6.8
22
40
70
90
30
2
38.5
56
18
135.5 107.5
163 166.5

motorfR B 4L
motor#R 4L
motorfR FE L
motorfR E L
motorifi & R HL
motorii iz AL
motor#f i A
motor#R 7 AL

WPN115

1 2
110
10
M12X28
35
120
9
32
45
90
115
50
4
61
88
28
172 148
181.5 |207.5

motoriR#E L
motortR #E A1
motorfR #E
motorfZHE Rl
motoriR 5 Bl
motorfi #EEHL
motorfR #EFLHL
motor#R #E fL41

(1)dimensions refer to the mounted motor-type the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

==

[Ts]
Fas

Lyl L3 |
L4

S3 splined shaft 3£ ik

(e

ks splined hollow &AL

St  special shaft %

According to customers

APERGHE
ke  special hollow $¥#%7IL

According to customers

WPN142

1 2
142
12
M16X36

43

165

1"

40

70

130

146

70

5

85

112

27
233 1855
226.5 258.5
motorif i Bl
motoriR i B4l
motorif i Bl
motorif i Bl
motoriR i FE L
motor#R #FEE 4L
motorif iE B4
motorif i B4

APEREHE
WPN180 WPN210 WPN240
1 1 2 | 4| e
180 220 240
16 20 22
M20x42 M20X42 M20X42
59 79.5 90
215 250 290
13 17 17
55 75 85
80 115 125
160 180 200
207 215 245
70 a0 125
6 7 3
85 108.5 130
112 143 170
27 30 37
2745 232 | 315.5 |204.5 355.5 3105
285 322 346 383 443 467.5
motorfRIEEEHL motoriRFEFEHL motoriR HEFEHL
motorfR IEHEHL motoriR#EBHL motoriRiE
motorfR#EE YL motorfiEEHL motoriRE
motorfR#EE YL motorf@IEEHL motoriR HE B
motorfR#EEEHL motoriR G motoriR IR EEHIL
motorfR#FEH motorfRHREEH motoriR HREE HL
motorfR IFE 4L motorfR#EMHL motoriRiE
motorfR IEE YL motoriR#EM AL motoriRiEEH1

(1)ELeyAmEAREERMNDMAN EERIATLUEEN
(ELSHHEREENPEEAMELRTAMEEE

INCREASING[PN/WPN] 28



Increasing

FEEATE &Rk

PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

RIER A EIE
PV 5 51 3, M )

065
| L FWOSSC PWO75C |PWOSOC |PW110C | PW140C | PW170C |PW210C |PW240C |PW280C
065LM PWO7S LM [PWO20 LM [PW110LM |PW140LM |PW170LM [PW 210 LM[PW240 LM [PW280LM
45
FAE I 18 Ten

T KRB Tes
Ekiﬁ)\ﬁ?@nm

ﬁ-#‘?gr—lj'.'l:sa
L opNL: ]

BEFEE N Fo?
éptin

FRAME SF

L
-

1,350 | 2,400 | 3,300 | 5,750 | 8,500 | 9,000

20,000*
98%
-30°C ~ +100°C
Aﬁiii'z‘ina.Elm's-;'lsc:t VG 150

1IEEEE ( i=Nin/Now ) 2 fEATHi N B O E @nis 3ERTHHEPOIE@ns
RS REREG -z — 5 B E B TE 2% E 1 48 Teni A 1 T BTl 48 *PW-LM/RM/ANMAEIRHE . 1EEEL

bEREL 1oL

HEREN

L o . LY Fa R
BEITE EoIERXE L;;i;j
---m- 1| 424 | 814 |
PRECISION PLANETARY 4M;~:§J; | 1 | 1 | 35 | 56 | 91 | 154 | 248 | 426 | 825 [ 1235 [1933 |

DRIVE THE FUTURE ' INCREASING[PW] 30




Increasing

£ BABTREHL

Increasing

+ 5 BTk At #

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

IR IME R E R~ IR IME R R~

PW-L L1=1E% A& tki=1~5R~t PW-L1 L1=15% BiELki=1~5R~ PW-R1
L3 oL L3 Bl 6, LS A8 2L L3 c9 o s _Is
(44 Gt 4 i i i, #EOINGSESEEL LIt L1 o1 7T :;EDIN&@&'! L4 L2
VT | —— = fF - 0 e
! / - @ B b / & =1 1
o) -G T o G | o ©
o "~ o | | 2 i = E«L i
e I TS smsst ol lems gnes 203 Lo — ! Y Ch o il [ S
: G B0 i #EES wmEss2 |
= -4 e} a W So et et o L2 mr==mmn=a=s ==h b
bor] ) i(:' 5 . B2 e L6 LIS ; .(2, t) s B2 Lig. _Lis (' c\y
- @- qe-- -nrf' -@- | | | T # oIS D i ! T .| | e © \E' R o | |
= : s« 7 = z 1 o = i i
EI ' I| Bis Lig 51’ H T|_ D16 gl | ;
L ] e T
Nﬁ'ts1 B013 mﬁifSE @013 20 [ | @013 A3 L20
’ WS WHHS2
aL
o] /kﬂ E L1t L1
08 b ;
| P & 7 \ = ]
HEE 5l gl 4 2 8 s iy e (EOPH 2 ¢ s 2
R 2
N_F o
L2 L4 L4 L2 L1z L4 L2 L4 L4 L2 L1d
L7 Ly L21 L7 L7 T L2t
LB LB L2z LB L2z
[unit: mm] [unit: mm]
R~f PWOB5L | PWO75L | PWO90L PW110L | PW140L | PW1i70L | PW210L PW240L | PW280L Rt PWOB5L1/R1 | PWO75L1/R1 | PWO9OL1/R1 | PW110L1/RT | PW140L1/R1 | PW170L1/R1 | PW210L1/R1 | PW240L1/R1 | PW280L1/R1
D1 M4 M6 MB M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
13 16 18 22 32 40 50 55 60 D3 s 13 16 18 22 32 40 50 55 60
63 73 88 108 135 165 205 235 275 D4 ny 63 73 88 108 135 165 205 235 275
31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
21 22 28 33 47 EE 75 85 110 D7 21 22 28 33 47 55 75 85 110
53 62 76 g5 g2 114 142 160 176 D8 53 62 76 95 92 114 142 160 176
AxMAxL7 4xM5xL8 4xM5xL8 GxMBxL10 | BxMExL10 | 6xMBxL12.5 | 6xM8xL12.5 | 6xMBxL12.5 | 6xM10xL15 D9 4AxMAxL7 4xM5xL8 4xM5xL8 6xMBxL10 6xMExL10 | 6xM8xL12.5 | 6xM8xL12.5 | 6xMBxL12.5 | 6xM10xL15
15.4 20.4 258 35.8 498 503 79.3 92 3 102.3 D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
62.9 72.9 87 107 103 127 158 178 198 D11gs 62.9 72.9 87 107 103 127 158 178 198
62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
13 16 18 22 32 40 50 55 60 D13 ks 13 16 18 22 32 40 50 55 60
63 73 88 108 135 165 205 235 275 D14 hr 63 73 88 108 135 165 205 235 275
M4 M5 M5 M8 M12 M16 M16 M16 M20 D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
65 75 90 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
19.5 30 35 40 50 60 75 85 110 L2 19.5 30 35 40 50 60 75 85 110
13 14.5 15 15 15 15 20 25 55 L3 13 14.5 15 15 15 15 20 25 25
3 2 5 2 2 2 2 ] 2 L4 2 2 2 2 2 2 2 2 2
16 25 28 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 o 2.5 3.5 4 2.5 5 2.5 2.5 5 L6 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L7 47.5 54 62 72 87 102 127 147 167 L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15 L9 4.5 4.8 4.8 g 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42 L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 a0 316 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110 L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 5 2 L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100 L15 16 25 28 32 45 50 70 80 100
L16 2 2.5 3.5 4 2.5 5 25 2.5 5 L16 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L17 6 8 8 8 10 10 10 10 10 L17 [ ) 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120 L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 2 10 12 12 12 15 L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 F) L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260 L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370 L22 95 120 135 155 180 215 270 310 370
B1ns 5 5 6 6 10 12 14 16 18 B1 ns 5 5 6 6 10 12 14 16 18
B2 ha 5 5 3 6 10 12 14 16 18 B2 hs 5 5 6 6 10 10 14 16 18
H1 15 18 20.5 24.5 a5 43 53.5 5g 64 H1 15 18 20.5 24.5 35 43 53.5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64 H2 15 18 20.5 24.5 35 43 53.5 59 64

INCREASING[PW] 31 INCREASING[PW] 32



Increasing

+ 5 BTk At #

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

IR SN RS R <t

PW-H L1=18 iz bhi=1~5R~F
L3 oL 13
L1 Li1 D1
L
e gl e g
s 1 [ g T R mDNsastE
B f0% = i =
= & - L u
I 5 . D16 bl |
o = s i HEST R gmsts2 — L
g ; ; ke
e, —
—
19\ 208 :
R RN
x " A\ Bih o o o =
gl & %E 1 1 3 8| & gl 8
%, &
L4 L4 L2 L4 \
= *_L:' LT_-‘— L2t Key acc. 1o DINBESS/
L22
[unit: mm]
R=f PWO0B5H PWO75H PWO090H PW110H PW140H PW170H PW210H PW240H PW280H
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 wr 13 14 18 22 32 40 50 55 60
D4 7 63 73 88 108 135 165 205 235 27D
D5 31 35 43 53 68 83 104 124 144
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176
D9 4xM4xL7 4xM5xL8 4xM5xL8 | 6xM6xL10 | 6xM6ExL10 | 6xM8BxL12.5 | 6xM8xL12.5 | 6xM8xL12.5 | 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 gs 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 k6 13 16 18 22 32 40 50 55 60
D14 n7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 47.5 54 62 72 87 102 127 147 167
L4 27 30 36 44 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
113 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 2.5 35 4 25 5 2.5 2.5 .7
L17 6 8 8 8 10 10 10 10 10
L18 43 52:5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 125 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 165 195 225 260
L22 95 120 135 155 180 215 270 310 370
L23 40 47 52 53 70 80 95 15 115
L24 30 32 a5 35 50 55 65 80 80
B2 ha 5 5 6 6 10 12 14 16 18
B3 rs B 5 6 6 10 12 14 16 18
H2 15 18 20.5 24.5 a5 43 53.5 59 64
H3 15.3 16.3 20.8 24.8 35.3 43.3 53.8 59.3 64.4

INCREASING[PW] 33

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

Increasing

£ BABTREHL

IR SN 3 R~

L1=1E Bk tki=1~5R

| _H2m L1 Li5

= B ERDINGEAS S

I =Tk % B

I3 % o6 L1a

! SRS e018n  wistgp D013 L2p
: LN ]
e ;
; -
oL
L2 || La La |f L2 Ltz f L
L7 L7 L
LB L8 L2z
o IRREHEMERGRE [unit: mm]
Rt PWO065C PWO0O75C PWo90C PW110C PW140C PW170C Pw210C PW240C Pw280oC

D1 M4 ME M6 Ma M10 M12 M16 M16 M16
D2 Hs 13 14 18 22 32 40 50 55 60
D3 ns 16 16 22 25 44 50 62 68 75
D4 n7 63 73 88 108 135 165 205 235 275
D8 53 62 76 95 92 114 142 160 176
D9 4xM4AxL7 4xM5xL8 4xM5xL8 BxMBxL10 | 6xM6ExL10 | 6xM8xL12.5 | 6xMBxL12.5 | 6xM8xL12.5 | 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 gs 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 B6 106 104 128 160 180 200
D13 ks 13 16 18 22 32 40 50 55 60
D14 w7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 80 110 115 138
L1 65 75 80 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 30.5
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 47.5 54 62 s 87 102 127 147 167
L8 66 72.5 85 95 116.5 133.5 161.5 181.5 205
L11 27 30 36 44 55 67 85 a5 110
L12 18:5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 Z 2 7 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L17 6 8 8 8 10 10 10 10 10
L18 43 825 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 0 10 12 12 12 15
L20 10 12.5 12,5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
L23 15 15 20 20 26 28 31 31 32.5
L24 15 15 20 20 26 28 31 31 32.5
L25 15 15 19.5 19.5 25.5 27.5 30.5 30.5 32.5
L26 18.5 18.5 23 23 29.5 31.5 34.5 34.5 38
B2 hs 2 a 6 5] 10 12 14 16 18
H2 15 18 20.5 24.5 35 43 53.5 59 64

INCREASING[PW] 34




Increasing

+ 5 BTk At #

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

RSN 2 R~F

PW-LM L1=15 B Ebi=1 R~} PW-RM
L3 oL L3
Li1 L11
(91¢] '“ﬁnay. 6, L5
: : L ‘/_- ﬁ;ﬂnl”ﬁﬁﬂﬁ'l
IEEERYE ] ) =k
o 4 5 i
: . e il T
b o0 00a.0 i
@ P HERS M S2
= ‘lc,"(:: i u,\:ﬁ L, _Li5
. = e i 4 1l L Shonssssn
= - - ¢ - =)
= i i I—"' i
| L Noe off
T
| | | eomw o014 L20
! WA maEstS2
au
Dﬁ_\ 208 ,
7 \ o o £ I -
3l 8 % 1 p SR E 5l & = 8la| —t &
R 4 =
L2 La La L12 L14 L4 L12
L7 L7 i L21 L21
L& L22 L22
[unit: mm]
Rt PWOG5LM/RM | PWO75LM/RM | PWOSOLM/BM | PW110LM/RM | PW140LM/RM | PW170LM/RBM | PW210LM/RM | PW240LM/RM | PW2B0LM/RM
D1 M4 M& M6 Ma M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 114 142 160 176
D9 AxMAxL7 4xM5xL8 4xM5xL8 B6xMBExL10 | 6xM6xL10 | 6xM8xL12.5 | 6xM8xL12.5 | 6xM8xL12.5 | 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 gs 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ke 13 16 18 22 32 40 50 55 60
D14 n7 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
{2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 26
L4 2 2 2 2 2 2 2 2 2
LS 16 25 28 32 45 50 70 80 100
L6 2 i 2 4 2.5 5 2.5 2.8 5
| 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 Tl 10 12 T2 12 158
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 19.6 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 Z
5 16 25 28 32 45 50 70 80 100
L16 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L17 <] 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 185 225 260
L22 95 120 135 155 180 215 270 310 370
B1 na 5 5 6 6 10 12 14 16 18
B2 ha 5 ] 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53:5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64

INCREASING[PW] 35

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

Increasing

£ BABTREHL

PW-4M

L3 oLt

L3

B SME 228 R~
L1=1E% iR Lki=1~5R~F

Bl

L, EROINEaES R
L =

s ;]T D) T=5)
7o D& La) |
= i 203w RIS idec Lo
= B Li6, LIS
- 1 ] f_- @, HHDINGIES 1 iRin
2 5 %I_" B E 2
i = T e
4[1' . 016 s |
mﬂ:‘:’fs‘l @013 mﬂ?-tSZ @013 L20
oL
:‘ L
s |
=g
_&Qﬁé
L2 L4 L4 L2 L12 L14 ‘L'[ll* L14 L1z
L7 L7 21
LB L8 L2z
[unit: mm]
R~ PWOB5 4M| PWO75 4M | PW0OS0 4M| PW110 4M | PW140 4M | PW170 4M | PW210 4M | PW240 4M | PW280 4M
D1 M4 ME M& M8 M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60
D4 wr 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D& M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 a5 92 114 142 160 176
D9 AxM4xL7 4xM5xL8 4xM5xL8 | 6xMExL10 | BxMExL10 | 6xMBxL12.5 | BxMBxL12.5 | 6xMBxL12.5 | BxM10xL15
D10 15.4 20.4 25.8 35.8 49.8 59.3 79.3 92.3 102.3
D11 g6 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 ks 13 16 18 22 32 40 50 55 60
D14 n7 63 73 88 108 135 165 205 295 275
D16 4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 a0 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
LS 16 25 28 32 45 50 70 80 100
L6 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 4.8 2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 a5 110
L12 19.5 30 35 40 50 60 75 85 110
13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L17 5] 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 4.5 4.8 4.8 7.2 10 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
B1ng 5 5 6 6 10 12 14 16 18
B2 he 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64
H2 15 18 20.5 24.5 35 43 53.5 59 64

INCREASING[PW] 36




Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

B REL S SRS B AT RS

PWik BRI R 3R R AR B L PWik BB R 5 BE M M AE B 1L
PWOB5FL [PW 075FL |PWOSOFL |PW110FL [PW14OFL [PW 170FL FW 210FL [PW 240FL [PW280F P 0BSFL [PW 075FL | PWOSOFL | PW110FL | PW140FL | PW 170FL [PW 210FL [PW240FL| PW280FL
PUVOBSFL1 |PW O75FL1 |PWOBOFL1 |PW110FL |PW140FL1 [PW170FL1 PW210FL1 [PW240FL1 [P280FL . |PHOGSFL1 [P O7SFL1 | POSOFL1|P110FL1|PW140FL1| P 170FL1 PW 210FL1[PY240FL 1 PI2BOFL1
ik g | EiEE B PWOBSFH PW 075FH [PWO90FH [Pw110FH |PW140FH [P 170FH Pw 210FH [PW240FH [PW280F & E | WL |Pw0B5FH|PW 075FH| PWOSOFH| PW110FH|PW140FH| PW 170FH|PW 210FH| PW240FH| PW28OFH
PIOBSFC [PWO75FC POSOFC [PW1 10FC [PW140FC [PW170FC PW210FC [PW240FC PW280F PINOBSFC|PW075FC| PWOGOFC| PUi110FC| PW140FC | PW 170FC |PW 210FC| P 240FC PW28BOFC
PYIOBSFR1 [PWO7SFR1 PWOSOFR1 [PW110FRT [PW140FR1 |PW170FR1 [PW210FR1 [PW240FR1 [Pw280FR1 PWOSSFR1|PWO75FR1|PWOSOFR1|PW110FR1 | PW140FR1|PW170FR1 PW210FR1|PW240FR1 PW280FR1
1 25 45 78 | 150 | 360 | 585 | 1,300 2,150 | 3,200 1 051 | 1.30 | 3.14 | 7.62 | 23.54 | 59.09 |195.96 | 365.38| 787.63
15 | 25 45 78 | 150 | 360 | 585 | 1,300 2,150 | 3,200 15 | 0.46 | 1.15 | 2.80 | 6.65 | 19.34 | 49.38 |156.02|279.62| 584.28
2 24 42 68 | 150 | 330 | 544 | 1,220 2,010 | 3,050 2 0.44 | 1.10 | 2.68 | 6.23 | 17.72 | 45.44 |140.80|245.78| 500.26
1 1
3 18 33 54 | 120 | 270 | 450 | 1,020 1,650 | 2,850 3 043 | 1.00 | 264 | 6.08 | 17.16 | 44.11 | 135.51|233.75| 471.56
4 13 28 | 48 | 100 | 224 | 376 | 860 | 1,410 2,300 4 043 | 1.08 | 263 | 6.05 | 17.03 | 43.79 |134.14|230.77| 464.76
5 12 25 40 85 | 196 | 320 | 740 | 1,210 2,000 5 043 | 1.08 | 263 | 6.04 | 16.99 | 43.69 |133.71|229.71| 462.08
7 25 45 78 | 150 | 360 | 585 | 1,300 | 2,150 | 3,200 7 015 | 015 | 050 | 279 | 279 | 279 | 9.91 | 29.26 | 29.26
10 | 24 | 42 | 68 [ 150 | 330 | 544 | 1,220 2,010 3,050 10 | 015 | 015 | 050 | 280 | 2.80 | 2.80 | 9.96 |29.43 | 29.43
5 16 | 18 | 33 | &4 | 120 | 270 | 450 | 1,020 1,650 2,850 15 | 015 | 015 | 050 | 280 | 280 | 280 | 996 | 2943 | 2043
20 | 13 | 28 | 48 | 100 | 224 | 376 | 860 | 1,4102,300 R kg-omt| 2 20 | 015 | 015 | 050 | 280 | 2.80 | 280 | 9.96 |29.43 | 2043
HEHIH TN L 24 12 25 | 3 85 | 1968 | 320 | 70 | 1210 | 2000 25 | 015 | 015 | 050 | 280 | 2.80 | 2.80 | 9.96 | 29.43 | 29.43
1,210 | 2,000
45 12 28 40 45 | 138 | a0 | 7A0 35 | 015 | 015 | 050 | 279 | 279 | 279 | 991 | 20.26 | 29.26
50 12 25 | 40 85 | 196 | 320 | 740 |1,210( 2,000
50 | 0.15 | 015 | 050 | 279 | 279 | 279 | 9.89 | 29.20 | 29.20
75 - - - 120 | 270 | 450 | 1,020 1,650 | 2,850
75 - : - | 280 | 280 | 280 | 9.96 |29.43 | 29.43
100 - - - 100 | 224 | 376 | 860 | 1,410 2,300
100 - 2 - | 280 | 280 | 2.80 | 9.96 | 29.43 | 29.43
125 - - - 85 | 196 | 320 | 740 | 1,210 2,000
125 z > - | 280 | 280 | 280 | 9.96 | 29.43 | 29.43
150 - - - 120 | 270 | 450 | 1,020 1,650 | 2,850
3 150 5 - - | 279 | 279 | 279 | 9.89 | 29.20 | 29.20
200 - - - 100 | 224 | 376 | 860 | 1,410 2,300 3
200 2 = - | 279 | 279 | 279 | 989 | 29.20 | 29.20
250 - - - 85 | 196 | 320 | 740 | 1,210 2,000
250 . S - | 279 | 279 | 279 | 989 | 29.20 | 29.20
350 - - - 85 | 196 | 320 | 740 | 1,210 2,000
350 . - - o , 7 : . _
s 3 ; - = | 396 | 328 | 70 |15%0 | 2000 279 | 279 | 2.79 | 9.89 |29.20 | 29.20
el Lo Nm | 1,2,3 | 1~500 1 5IEFEE S H S14E 500 5 : - | 279 | 279 | 279 | 989 | 20.20 | 20.20
1 1~5 | 7,500 | 6,500 | 5,500 | 4,500 | 3,500 | 3,000 | 2,200 | 2,000 | 1,700
15 K A0SR E N BN - rpm 2 7~50 | 8,000 | 8,000 | 6,000 | 6,000 | 6,000 | 6,000 | 4,800 | 3,600 | 3,600 55
3 |75-500] - - |60 | G | U Dol SRl | 40 AR % | WiELL' | PWOB5 | PWO75 | PW0SO | PW110 | PW140| PW170 | PW210 | PW240 | PW280
1 1-5 | <6 | <=6 | <6 | <6 | <6 | <6 | <6 | =6 | <6 1 1~5 | 28 | 44 | 71 | 121 | 209 | 361 | 69.4 | 101.2 | 158.3
L arcmin 2 7~50 | =8 | =8 | =8 =8 | =8 =8 =8 =8 | =8 FLE7I 2 7~50 | 3.2 | 4.8 81 | 143 | 242 | 385 | 741 | 1124 | 171.0
3 |75-500 - ; = <10 | =10 | <10 | <10 | <10 | <10 3 |75~s500] - : = 13.9 | 237 | 388 | 734 | 110.2 | 168.7
N 1 1~5 | 27 | 43 | 71 | 119 | 203 | 355 | 68.3 | 99.6 | 156.0
BARFER AP N 1,2,3 | 1~500| 900 | 1,100 | 1,700 | 2,700 | 4,800 | 6,600 | 11,500 | 16,000 18,000
NS d1 2,3 |1~ ; : ; : ; ; ; ; FL1E5] 2 | 7-50| 32 | 48 | 80 | 142 | 239 | 379 | 730 | 1108 | 1686
i 3 |75~500| - : Z 13.8 | 234 | 382 | 72.3 | 108.6 | 166.4
BERFEE A Fee®
i N 1,2,3 | 1~500| 450 | 550 | 850 | 1,350 | 2,400 | 3,300 | 5,750 | 8,500 | 9,000 ) 1 1=5 | 26 | 41 | 67 | 114 | 189 | 329 | 632 | 92.5 | 146.0
g
: FHZ3I 2 | 7-50| 31 | 46 | 7.7 | 136 | 224 | 353 | 67.9 | 103.7 | 158.7
h 1,2,3 | 1~500 20,000*
EAR® ; 3 |75~500| - . - 133 | 219 | 356 | 67.2 | 101.5 | 156.5
o 9% ! i 98 % 1 1~5 | 29 | 44 | 72 | 118 | 204 | 350 | 665 | 96.0 | 151.7
2,3 | 7~500 94 % FCZ5! 2 | 7~50| 33 | 49 | 82 | 141 | 241 | 374 | 712 | 1072 | 164.4
EREE °c | 1,23 | 1-~500 -30°C ~ +100°C 3 |75~s500| - . - 13.7 | 235 | 375 | 70.5 | 105.0 | 162.2
R 1,2,3 | 1~500 & EAEEISO VG 150 1 1~5 | 27 | 43 | 71 | 119 | 203 | 355 | 68.3 | 99.6 | 156.0
K& (n=3000pm) | 9b(A) | 12,3 [1~500] <71 [ <72 [ <76 [<77 [ <78 [ <79 [<81 | <83 [<&4 FR1%3 2 [7-50| 32 | 48 | 80 | 142 [ 239 [ 379 | 730 | 1108 [ 1686
R EE | i=NivNoat) 2 BT NS 75~500( - : : 13.8 | 234 | 382 | 72.3 | 108.6 | 166.4

* PR (B £ 2% 88 E 7158 Tenitg A 1 BTl 45

INCREASING[PW] 37 INCREASING[PW] 38

HEEERSS "oz



Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

BRI R E R~ RSN 5 R~F

PW-FL L1=18 BEtbi=1~5 R~ PW-FL L2=2E% i Lki=7~50R ~F
L3 oL L3 L3 oLt L3
Li1 L1t /m L1t L11 /E
o - g . - J 1 E . - .
= \} B, EEDINGESS ER = 3 ---15 e e @, WERDINGSES/ T
= = N7 3 o i 3;, . = 2 =t T Z‘%:‘,
T Lo el .l . T el
0 ~[? — ‘QI— HEHS1 B gmstsp -t aae i ' BUHST e gmsy —l-te L
it lapss
‘r % o015
o . gi—r—t# ]
Y= R - ocy dE
é act c2 hel: o
% 1 & ~
.. | I 1R ‘ =it - ;
i i@l EE=11C = EL e
o =] - B B g ]
| i — & % =
L2 L4 L4 L2 [=:] L21 E L2 Ls L4 L2 fol L2t
L7 L7 L22 L7 L7 L22
La La ca L8 LA ca
[unit: mm] [unit: mm]
Rt PWOB5FL PWO75FL PWOQ0FL| PW110FL| PW140FL| PWA170FL| PW210FL| PW240FL| PW280FL R~ PWO6B5FL | PWO75FL | PWOS0FL | PW110FL | PW140FL | PW170FL | PW210FL | PW240FL | PW280FL
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 ks 13 16 18 22 32 40 50 55 60 D3 s 13 16 18 22 32 40 50 55 60
D4 nr 63 73 88 108 135 165 205 235 275 D4 n7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D14 n7 63 73 88 108 135 165 205 235 275 D14 w7 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 127 158 178 198 D15 62.9 72.9 87 107 106 127 158 178 198
L1 65 75 a0 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110 L2 19.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25 L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100 LS 16 25 28 32 45 50 70 80 100
L6 2 25 3.5 4 25 5 55 25 5 L6 2 2.5 3.5 4 2.5 5 2.5 2.5 5
L7 47.5 54 62 72 87 102 127 147 167 L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
L9 4.5 4.8 48 7.2 10 12 12 12 15 L9 45 48 4.8 7.2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42 L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 855 95 130 1445 135 L21 75 84.5 99 122 144.5 157.5 206.5 239 248
s 81.5 98 108 124.5 155.5 180 235 264.5 275 L22 107.5 122 144 177 214.5 2425 311.5 359 388
g1t 46 70 100 100 130 165 215 215 235 c1’ 46 46 70 100 100 100 130 165 165
ca? M4 M5 M6 M6 M8 M10 M12 M12 M12 c2 M4 M4 M5 M6 M6 M6 M8 M10 M10
cat *=11/=12 ['=14/=15.875/=16| =19 =24 =32 = 38 =42 =48 <55 cs? 12 12 16 24 24 24 32 38 38
c4’ 30 34 40 40 50 60 85 85 116 c4* 30 30 34 40 40 40 50 60 60
C5%cs 30 50 80 80 110 130 180 180 200 C5%cs 30 30 50 80 80 80 110 130 130
ce* 3.5 8 4 4 5 6 6 6 6 ce’ 3.5 3.5 8 4 4 4 5 6 6
c7? 42 60 90 90 115 142 190 190 220 crt 42 42 60 92 92 92 115 142 142
cs? 19.5 19 17 17 19.5 22.5 29 29 63 cs* 21.5 21.5 21.5 20 20 20 24 31 31
co? 133.5 154.5 170 196.5 245 287.5 369 4135 478 ce’ 161.5 181 210.5 252 304.5 347.5 440.5 510 559
c10° 13.25 13.5 10.75 10.75 13 15 20.75 20.75 53.5 c10’ 14.5 14.5 15.5 13 13 13 16 21 21
B1 ha 5 5 6 [} 10 12 14 16 18 B1ng 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64 H1 18 20.5 24.5 35 43 53.5 59 64
3.C1-C10E 2l ZRt 4.C1-C10RR R
*PWOBSFLM1RHEC! "PWOTSFLM1IEHHCI = 16:81% ‘PWO75FLM23RLC3 = 15.8751

INCREASING[PW] 39 INCREASING[PW] 40



Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

BIEEIME R R~ BIEEIME R E R~

PW-FL L3=3E% ik tki=75~500R 5+ PW-FLA L1=1E% Biiktki=1~5R~F PW-FR1
L3 oLt L3 La oLt L3
| L1 L1 | /_D_l L1 L /m - =
. '0,\ : Hiie i I ] 5T i = - B
3 I [ . smonemns s 5 e S WiV o1, wHONsses TR
3= 16 st = B 1=1al P -
< 5 T " 5 i i e
1 e @ | e a5 ; Lo - g i . 5] | L
G L MBS 203 RIS 203 =2 21 | | 203w o03w Lo
Wit i
RS HEsts2
S 2015 : :
gl—f‘E—E_E;‘]_: = — |

= oLt f
oc? c4 2o
act c2 les 2
A g | =
° 2 . Sl
| - s = = 8 .
HHE = EEE I 8 :
e al [ A
& ik il Lz e La | o1
2z fua wf e cel L21 | o L7 L7 T
L7 L7 L22 L8
LB La [+:] g
[t ] [unit: mm]
R~t  |PWOBSFLIFRI|  PWO7SFLUFR1  |PWOSOFLUFRT [PWIOFLIFRT |PWI4OFLI/FR1 |PWITOFLIFR1 | PW210FLYFR1 [PW240FLI/FR1 [PW2BOFLY/FRY
R~ PWh‘:“tOFL PW140FL vanf; 720FL Pv:;21 OFL Pv:n240FL PW280FL — — — = — b —— —— s o
g; 2; “"3120 410 5106 5’55 “‘;}5 D3 o 13 16 18 22 32 40 50 55 60
e — = = = = — D4 7 63 73 88 108 135 165 205 235 275
Ds“’ — = = o e == D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M2 M16 M16 M16 M20
i i Mz M M MG M=0 D7 21 22 28 33 47 55 75 85 110
nr a3 '”4 155 1?5 99 ;10 D12 62 72 36 106 104 128 160 180 200
312 10: 125 128 230 ;2” 220 D147 63 73 88 108 135 165 205 235 275
L 107 1 > = : 2 2 D15 62.9 72.9 87 107 105 127 158 178 198
i) ik 104 e ko 5 L L1 65 75 90 110 140 170 210 240 280
k1 ‘4100 1400 15?0 2;50 2340 f?g L2 195 30 35 40 50 60 75 85 110
tg = f5 2 = 2: o L3 13 145 15 15 15 15 20 25 25
- 5 > 12 : . s L4 2 2 2 2 2 2 2 2 2
= = = = = = = L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
s 4 e = .5 5 > L7 475 54 62 72 87 102 127 147 167
Ly 1?12 13? 102 127 7 167 L8 67 84 97 112 137 162 202 232 277
L3 : 137 4 s i 217 Lo 4.5 4.8 4.8 72 10 12 12 12 15
t?o 715 22 12 ;z ;é 12 L10 10 125 12.6 19 28 36 36 36 42
-~ - = :7 = = 1“10 L11 27 30 36 44 55 67 85 95 110
. s = = = - = (13 13 15 15 15 15 15 20 25 25
= o E T — = — = 21 49 0.5 63 69.5 85.5 95 130 144 5 135
: : ' L22 815 98 108 124 5 155.5 180 235 264.5 275
L2 131‘5 2";9‘5 22,8'5 3?31 fsg il c1® 46 70 100 100 130 165 215 215 235
C;S M‘Z Mi Mi M°5 $§ 1’;’: c2° M4 M5 M6 M6 M8 M10 M12 M12 M12
gaﬁ = = = = e = Cc3° Z11/=12 | '=14/=15875/<16] <19 =24 =32 =38 =42 =48 =55
= = = = = = = ca® 30 34 40 40 50 60 85 85 116
= = = = = = = C5°0s 30 50 80 80 110 130 180 180 200
- 65‘“ = T S S 5 : Cce° 3.5 8 4 4 5 6 6 6 6
— . . = . . . c7° 42 60 90 90 115 142 190 190 220
cgﬁ = e - .y > " Cc8t 195 19 17 17 195 225 29 29 63
- 2 = S 22 = = Cco® 133.5 154 5 170 196.5 245 287.5 369 4135 478
Oo ‘ C10° 13.25 13.5 10.75 10.75 13 15 20.75 20.75 53.5
c10 14.5 1;1.5 155 15.5 13 13 o - . . - . - - - -
:T hy 2«?5 30 12 51345 ;g ;i H1 20.5 24.5 35 43 53.5 59 64
L s > : 6.C1-C10RAHISHERE
5C 1 B i R > Rt ‘PWOESFL1/FR1IM1IRELC i ‘PWO7SFL1/FRIM1IBEC3I=16:%1% "PWO75FL1/FR1IM2iE#tC3=15.8

INCREASING[PW] 41 INCREASING[PW] 42



Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

BIEHIME R R~ BIEIME R R~

PW-FL1 L2=2% i LLi=7~50 R~} PW-FR1 PW-FL1 L3=35% i ki=75~500R <} PW-FR1
L3 oLt L3
i L1 = L 2 o1 L4 L2 L11 Lt /31 L4 L2
£ _— | o &[] LE e
- Qr‘\ ¥ o TN l ,f,e 5 " ___1:'\ i Bl L, L5
B i -i ‘J_ . E--_ 3 E F ghp"ﬁﬁ&"
@ : HMDINERRS : — . —] - i - o L3
= ’ : — == e —_ 3 5 L ; =) nEEy e
: ! & i P AN | P, I - I 3 i s ] | | &
"1 1 D03 w5 L10 | ] | | 203 | @03 |.L1o]
MEH S m|asis2 BmRAS mARS2
2015
i 2015 r ! m i
1 — ol 2! =
g i L3 S s:i , @
ocr out i il
e = e ; L1 L1t
cel _ <o) c2 /\ ‘Ei é
9. T i R .
2 : = :I o) y \5“ e & |—

212

Lt
|

L
@02

[+:]
2]
=]

- I = ala -3 g a| = ef wl £ .; =
R o & & gl8l ' EID 2|8 8 : 8 8| 3 8 Ja
D (=] W | —1 b o | A i ;
Lz e cs L2t B ol I o i | o1
L7 L7 L2 L7 LT L22
La ca La o]
[unit: mm] [unit: mm]
R~ PWOB5FL1/FR1 | PWO75FL1/FR1 | PWO9OFL1/FR1 | PW110FL1/FR1| PW140FL1/FR1| PW170FL1/FR1| PW210FL1/FR1 | PW240FL1/FR1 | PW2BOFL1/FR1 R~ PW110FL1/FR1 | PW140FL1/FR1 | PW170FL1/FR1 | PW210FL1/FR1 PW240FL1/FR1 PW280FL1/FR1

D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M8 M10 M12 M16 M16 M16
D3 xs 13 16 18 22 32 40 50 55 60 D3 ks 22 32 40 50 55 60
D4 n7 63 73 88 108 135 165 205 235 275 D4 7 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 D5 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110 D7 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200 D12 106 104 128 160 180 200
D14 n7 63 73 88 108 135 165 205 235 275 D14 w7 108 135 165 205 235 275
D15 62.9 72.9 87 107 106 127 158 178 198 D15 107 106 127 158 178 198
L1 65 75 90 110 140 170 210 240 280 [i] 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110 L2 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25 L3 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 2 2 2

L5 16 25 28 32 45 50 70 80 100 L5 32 45 50 70 80 100
L6 2 2.5 3.5 4 2.5 5 2.5 25 5 L6 4 2.5 5 2.5 2.5 5

L7 47.5 54 62 72 87 102 127 147 167 L7 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277 L8 112 137 162 202 232 277
L9 4.5 4.8 4.8 7.2 10 12 12 12 15 L9 7.2 10 12 12 12 15
L10 10 12.5 12:5 i 28 36 36 36 42 L10 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 S Bb 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 15 15 15 20 25 25
L21 75 84.5 99 122 144.5 157.5 206.5 239 248 L21 136.5 159.5 183.5 226 269 278
L22 107.5 122 144 177 214.5 242.5 311.5 359 388 L22 191.5 229.5 268.5 331 389 418
ci’ 46 46 70 100 100 100 130 165 165 c1° 46 46 70 70 100 100
c2’ M4 M4 M5 Me Me M& M8 M10 M10 c2°8 M4 M4 M5 M5 M6 M6
;3" 12 12 16 24 24 24 32 38 38 =3r 12 12 16 16 24 24
c4’ 30 30 34 40 40 40 50 60 60 Cc4° 30 30 34 34 40 40
C5' s 30 30 50 80 80 80 110 130 130 C5%s 30 30 50 50 80 80
ce’ 3.8 3.5 8 4 4 4 5 6 6 Cce° 3.5 3.5 8 8 4 4

(247l 42 42 60 92 92 92 115 142 142 c7° 42 42 60 60 92 92
ca8’ 21.5 21.5 21.5 20 20 20 24 31 31 ca® 21.5 21.5 21.5 21.5 20 20
co’ 161.5 181 210.5 252 304.5 347.5 440.5 510 559 Ccot 268 321 375 457.5 529 578
c10’ 14.55 14.5 15.5 13 13 13 16 21 21 c10® 14.5 14.5 15.6 15.5 13 13
B1 ng 5 5 6 6 10 12 14 16 18 B1ha 6 10 12 14 16 18
H1 15 18 20.5 24.5 35 43 53.5 59 64 H1 24.5 Ak 43 53.5 59 64

7.C1-C10R 2 HI#E

B.C1-ClO2 4%l

EEEER Y R

INCREASING[PW] 43 INCREASING[PW] 44



Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

RSN e R~F RSN R R~

PW-FH L1=18 BiiELki=1~5R~F PW-FH L2=2§% @i Li=7~50 R <t
L3 oLt L3 L3 oLt L3
Li1 Lit D1 L1 L11 o
L L
H == { 1) . H 23 f34—
: e b 8 -\ v s |
5| ST 5 4
o te] | T o
:% :l
@S

3 : :
&

L i oms
t T et
ocry 2 1 HLH |
ou
oc1 c2 oot c4
_\ ’Tr_ \ ac1 ez ce | é
o \{,\; -n . N, ]
o @, -
4 & ¥, . 3 . \f‘- - i
és%[ @} 582 5|8 i EER EEE 38l
| =%/
. L (T Q @ J i — q
= = HFOINGSES R o EL (N co L21 \
» W L7 | L7 =L | | Kay ace. tn DINGBSS/1
ca
[unit: mm]
[unit: mm]
R+t PWOB5FH PWO75FH | PWOSOFH | PW110FH | PW140FH | PW170FH | PW210FH | PW240FH | PW280FH
i Ma g i iE N0 N1 T K16 16 Rt PWOB5FH | PWO75FH | PWO9OFH | PW110FH | PW140FH | PW170FH | PW210FH | PW240FH | PW280FH
- = a e = = = = = o D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D4 nr 63 73 88 108 135 165 205 235 275 D2wr 13 14 18 22 32 40 50 55 60
= v = 5 = = = 0 4 Py D nr 63 73 88 108 135 165 205 235 275
o T = % = = = e = == D5 31 35 43 53 68 83 104 124 144
D12 62 72 86 106 104 128 160 180 200 o7 21 22 28 33 a7 55 5 85 110
D14 n7 63 73 88 108 135 165 205 235 275 D12 = 72 86 106 104 128 160 180 200
D15 62.9 72.9 87 107 105 127 158 178 198 D14 n7 63 73 88 108 135 165 205 235 275
T = = =5 oo s s o 5 " D15 62.9 72.9 87 107 106 127 158 178 198
= o v TS rre i i i o 5 L1 65 75 90 110 140 170 210 240 280
= = - = > 5 S = = = L3 13 14.5 15 15 15 15 20 25 25
L7 475 54 62 72 87 102 127 147 167 Ld 2 2 2 2 2 2 2 2 2
— = - — e — = = = < L7 47.5 54 62 72 87 102 127 147 167
o = = = = T = % s e L1 27 30 36 44 55 67 85 95 110
L21 49 60.5 63 69.5 85.5 95 130 144 5 135 ki 13 13 15 15 15 i 20 25 25
L22 815 98 108 124 5 155.5 180 235 264.5 275 L21 75 84.5 99 122 144.5 157.5 208.5 239 248
3 = = = == = T — — ¥ L22 107.5 122 144 177 2145 2425 3115 359 388
Te =~ = = = - = o - - L23 40 47 52 53 70 80 95 15 115
c1® 46 70 100 100 130 165 215 215 235 L24 30 32 35 35 50 55 65 80 80
r = = I e = = T o = c1% 46 46 70 100 100 100 130 165 165
c3’ *<11/<12 | *<14/<15875/<16] <19 <24 <32 <38 <42 <48 <55 = i 4 fa i Jint e e e i
ca® 30 34 40 40 50 60 85 85 116 e 12 L L 24 et 24 i 38 38
C5°%cs 30 50 80 80 110 130 180 180 200 Sl 30 30 s il il 44 50 B 50
o6 T E 5 . . 5 B = 5 % C5%¢6 30 30 50 80 80 80 110 130 130
10
cr 42 60 90 90 115 142 190 190 220 . 2.8 8.5 8 3 3 4 - B 5
ce® 19.5 19 17 17 195 225 29 29 63 7 42 i e 92 L 92 15 1% 16
co’ 133.5 154.5 170 196.5 245 287.5 369 4135 478 o b el i Ll = L i il = A
T T e e T o E S R g co® 161.5 181 2105 252 3045 347.5 4405 510 559
e 2 - 5 = T 2 = = = c10™® 14.5 145 155 13 13 13 16 21 21
H3 15.3 16.3 20.8 24.8 353 433 53.8 59.3 64.4 B3 ro 2 5 6 6 10 12 14 16 18
T H3 15.3 16.3 20.8 24.8 35.3 433 53.8 59.3 64.4

APWOSSFHM1: \PWO7SFHM 1388603 < 1 10.C1~C1OR A S HE B2 I R 2 R~

‘PWO75FHM2EHLC3 = 1¢

INCREASING[PW] 45 INCREASING[PW] 46




Increasing

+ 5 BT iask sAt#

Increasing

£ BABTREHL

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

RSN g R~F RSN R R~

PW-FH L3=38 iRii# ti=75~500R ~F PW-FC L1=18 mi#Ebki=1~5R~t
L3 aLt L3 Dt
L3 oLt L3 o i /f—
L11 L11 D1 .I;z_ﬁ._ L2
= ILI-‘.‘i -LZ_S.T]
m S & - —t o 4
L33 ted | o = {
7 B (1 RS 8 = | L i e I g
E rfn [~ -,j‘“ ---------- i E K_ i ‘) L
s L P "9
[ hd & =
=]
i
1 " : : 2015
T —
gcr
ne? e oc #cz
at 2 2 i
_\ 'TI"_ ol b " =
. ! \6‘“ f M —
) : = zl gl é @ £l gl 3 3| 8
H . 1" ol = 3l . 5 =| B} = L sl gy ® 21 =
gl 5| & u 5| 8| 2 g 3[ o
| L2 L4 L4 L2
_.__.E [E I L7 LF
= ) = ), HEDINGEIS R LB L5
ca .
o HEHEAE RS TR R AR [unit: mm]
[unit: mm] [ Rv PWOB5FC PWO75FC PWO90FC | PW110FC | PW140FC | PW170FC | PW210FC | PW240FC | PW280FC
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
R~ PW110FH PW140FH PW170FH PW210FH PW240FH PW280FH D2 e 13 12 18 22 32 20 50 55 60
D1 M8 M10 M12 M16 M16 M16 D3ne 16 16 22 25 44 50 62 68 75 |
D2 wr 22 32 40 50 55 60 D4 v 63 73 88 108 135 165 205 235 275 |
D4 n7 108 135 165 205 235 275 D12 62 72 86 106 104 128 160 180 200 |
D5 53 68 83 104 124 144 D147 63 73 88 108 135 165 205 235 275 |
D7 33 47 55 75 85 110 D15 62.9 72.9 87 107 105 130 158 178 198 [
D12 106 104 128 160 180 200 D17 26 26 36 38 61 70 86 86 100 |
- - S T B T
D15 107 106 127 158 178 198
L2 14 14 18 18 24 26 29 29 30.5 |
& o 140 170 416 i 25 L3 13 14.5 15 15 15 15 20 25 25 |
L3 15 15 15 20 25 25 L4 2 2 2 2 2 2 2 2 2 |
L4 2 2 2 2 2 2 L7 47.5 54 62 72 87 102 127 147 167 |
L7 72 87 102 127 147 167 L8 66 72.5 85 a5 116.5 113.5 161.5 181.5 205 |
L11 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110 |
L13 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25 [
L21 136.5 159.5 183.5 296 269 278 L21 49 60.5 63 69.5 85.5 95 130 144.5 135 l
L22 191.5 229 5 268.5 331 389 418 |22 81.5 98 108 124 5 155.5 180 235 264.5 275 I
T 5 70 30 95 15 115 L23 15 :5 20 20 26 28 31 31 325 |
o % = = e =5 o0 L24 15 5 20 20 26 28 31 31 325 |
= e s = == rrors s L25 15 15 19.5 19.5 25.5 27.5 30.5 30.5 325
= L26 18.5 18.5 23 23 29.5 31.5 34.5 34.5 38
2 M4 M4 M5 M5 M6 Mé ci® 46 70 100 100 130 165 215 215 235
1"
c3 12 12 16 16 24 24 c2* Ma M5 M6 M6 M8 M10 M12 M12 M12
c4" 30 30 34 34 40 40 cai 11/ 12 14/ 15875/ 16 19 24 32 38 42 48 55
C5"gs 30 30 50 50 80 80 c4% 30 34 40 40 50 60 85 85 116
ce' 3.5 3.5 8 8 4 4 C5%¢e 50 80 80 110 130 180 180 200
ol 42 42 60 60 92 92 ce” 8 4 4 5 6 6 6 6
can 21.5 21.5 21.5 215 20 20 o7 60 a0 a0 115 142 190 190 220
12
co 268 321 275 4575 529 578 C.$12 19 17 17 19.5 22.5 29 29 63
cio" e i ox e 5 13 13 co 154.5 170 196.5 245 287.5 369 413.5 478
c10™ 13.5 10.75 10.75 13 15 20.75 20.75 53.5
B3 ra 6 10 12 14 16 18
H3 24.8 35.3 43.3 53.8 59.3 64.4 12.C1-C10R2 2% iz R

11.C1~C 1052 2 FI 2 15 15

R T

INCREASING[PW] 47

*PWOBSFCM

HE LIS 121R

"PWO7SFCM1IZHEC3 < 161812

‘PWO75FCM2i2C3=15.875i%

INCREASING[PW] 48




Increasing

£ BABTREHL

Increasing

+ 5 BT iask sAt#

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

RSN e R~F IR IME R R~

PW-FC L2=2F% % tki=7~50R~F PW-FC L3=3F% i LLi=75~500R 5F
L3 au L2y
L3 oLt L3 o - L
Lz |
1 2 n
] r =k
HE | 3 Sy
= 8y ® 5 ﬁv’:
7] =
~
ams
e ) | oD = pr
1
‘-2—- aLt EE__-.
C6 L SR o1
N 1B s . -
% - o g - i q 7
. i 8 5| A xf 2 3 3
g HE - - e HE sl 8
| q
- @ o
L2 L4 L4 L2 8 [ 53] = 5 =
L? L? La2 = = =
La La co L8 L&
[unit: mm] o HitEHFEMERRE [unit: mm)]
R~ PWOB5FC | PWO75FC | PWO90FC | PW110FC | PW140FC | PW170FC | PW210FC | PW240FC | PW280FC R+ PW110FC PW140FC PW170FC PW210FC PW240FC PW280FC
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M8 M10 M12 M16 m16 M16
D2 e 13 14 18 22 32 40 50 55 60 D2 s 22 32 40 50 55 60
D3 ne 16 16 22 25 44 50 62 68 75 D3 na 25 44 50 62 68 75
D4 n7 63 73 88 108 135 165 205 235 275 D4 n7 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200 D12 106 104 128 160 180 200
D14 nr 63 73 88 108 135 165 205 235 275 D14 7 108 135 165 205 235 275
D15 62.9 72.9 87 107 106 127 158 178 198 D15 107 106 127 158 178 138
D17 26 26 36 38 61 70 86 86 100 o1r 38 61 70 46 4o 100
D18 41 41 50 50 80 90 110 115 138 e = e L g i =
L1 65 75 90 110 140 170 210 240 280 b L) 140 LA 10 £40 £80
L2 14 14 18 18 24 26 29 29 305 e 18 i £9 = = aldl,
L3 13 14.5 15 15 15 15 20 25 25 L3 Lisd 13 13 2 £ =
L4 2 2 2 2 2 2 2 2 2 L < = = - 2 2
L7 475 54 62 72 87 102 127 147 167 Ei 2 as L 124 L34 it
L8 66 72.5 85 95 116.5 133.5 161.5 181.5 205 LB 95 e 185 1915 181.5 243
L11 27 30 36 44 55 67 85 95 110 L1 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 15 15 15 20 25 25
L21 75 84.5 99 122 144.5 157.5 206.5 239 248 L21 136.5 159.5 183.5 226 269 278
L22 107.5 122 144 177 214.5 242.5 311.5 359 388 L22 191.5 229.5 268.5 331 389 418
L23 15 15 20 20 26 28 31 31 32.5 L23 20 26 28 31 31 32.5
L24 15 15 20 20 26 28 31 31 32.5 L24 20 26 28 31 31 32.5
L25 15 15 19.5 19.5 255 27.5 30.5 30.5 325 L25 19.5 25.5 27.5 30.5 30.5 32.5
L26 18.5 18.5 23 23 295 315 34.5 34.5 38 L26 23 29.5 315 34.5 34.5 38
ci1° 46 46 70 100 100 100 130 165 165 c1 46 46 70 70 100 100
c2" M4 M4 M5 M6 M6 M6 M8 M10 M10 c2* M4 M4 M5 M5 M6 M6
c3” 12 12 16 24 24 24 32 38 38 ca™ 12 12 16 16 24 24
c4" 30 30 34 40 40 40 50 60 60 c4a™ 30 30 34 34 40 40
C5%s 30 30 50 80 80 80 110 130 130 C5"as 30 30 50 50 80 80
c6" 3.5 3.5 8 4 4 4 5 6 6 ce™ 35 3.5 8 8 4 4
c7e 42 42 60 92 92 92 115 142 142 cr! 42 42 60 60 92 92
cs8™ 21.5 21.5 21.5 20 20 20 24 31 31 ca" 21.5 21.5 21.5 21.5 20 20
co® 161.5 181 210.5 252 304.5 347.5 440.5 510 559 co™ 268 321 375 457.5 529 578
c10” 14.5 14.5 15.5 13 13 13 16 21 21 c10™ 14.5 14.5 15.5 15.5 13 13

13.C1~C10R ol 40 1 i i 424 2> Rt

INCREASING[PW] 49

14.C1-C10R %

INCREASING[PW] 50



@easing
BEITE 1Eahk

PRECISION PLANETARY, DRIVE THE FUTURE -+ & & T i/ &4t 44

Notes of product ordering

WO R A AT B R PR

AD series

Precision Planetary Gear Boxes

Rotio/iEi#E kb i=3:1~100:1
Backlash/[3] 72 5 P& < 2 arcmin
Output torque/EE4E ~ 2,000N.m
Frame size/#E1%% AD 064~AD 255
ordering code 7] & RH/BLSRIF TR A
AD 90 L2 |- 32 - P2 |- S2 - MOTOR
MODEL SIZE STAGE Ratio i WEiiEE i Backlash Output Input
RILE e B Li: W il ) F2 AR T R A
064 | Li: 1B/ 3.4.5.6.8.10 S2: Stand #2itae .
090 Lo: 280/ La: g ST: Special require WS A
A ; 9.12.15,16.18. 4 RPHHRER R, iR
o La: 35/ 20.24.25.30.32. P2; #E# B TR B i
202 s AR 36.40.48.64 R~
255

ADR series

Precision Planetary Gear Boxes

Rotio/igi& tb i=3:1~100:1
Backlash/[E] 2 51 B& < 4 arcmin
Output torque/E4E ~ 2,000N.m
Frame size/f &5 ADR 064~ADR 255
ordering code §] & %/ BUSRIFEF A
ADR 90 L2 - 32 - P2 - S2 - MOTOR
MODEL SIZE STAGE Ratioi @ik i: Backlash Output Input
R bk R Ly: e i e gAY T R A
064 | Li: 1B/ 3.4.5.6.8.10 S2: Stand fEi#tfiEst .
090 Lo: 268/ L2: B, ST: Special require HEEMEAER
" : 9.12.15.16.18. 1 RREHRER S, IRAERISE
440 La: 3ER/ER 20.24.25.30.32. P2 EH s EEHE iR
200 La: AER/AE 36.40.48.64 Rt
255

BEITE EaiRK

PRECISION PLANETARY

DRIVE THE FUTURE INCREASING[AD/ADR] 52




Increasing ‘ Increasing
SR TE IR BEITE 1Eahk

4 BB Tia4 #%# 4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE & & & <T ji4£ s #H 4

BRI AR E BRI e R~T
L1=1E% iBiiEki=4~10 R~

IR M R R
Hig ﬁiﬁ | ﬁﬁl:b' ADOG4 ADOSO AD100 AD140 AD200 AD255
4 48 130 270 560 1,100 | 1,700 | co
| 5 60 160 330 650 1,200 | 2,000 L4 L6 g cs
1 7 50 140 300 550 1,100 | 1,800 | L3 15| L7 =
10 40 100 230 | 450 900 | 1500 | woxase || [ [ 0 ez
20 48 130 270 560 1,100 1,700 i i
25 60 160 330 | 650 1,200 | 2,000 | |
5 35 50 140 300 550 1,100 | 1,800 | = 245 |
RN 72480 e 40 48 130 270 560 | 1,100 | 1,700 | 8% ==
50 60 160 330 650 1,200 | 2,000 — J@A
70 | 50 140 | 300 | 550 | 1,100 | 1,800 | L ol
2 100 | 40 100 | 230 | 450 | 900 | 1500 | sz glsls =
16 48 130 270 560 1,100 | 1,700 | ele|e|alele|e 1 e e O
21 60 160 330 650 1,200 2,000 o | I I
31 50 140 300 550 1,100 | 1,800 | [T ;
61 50 140 300 | 550 1,100 | 1,800 | == :
91 40 100 230 450 900 1,500 | /s L_ ==
AEHE M Nm 1,2 4~-100 MEEEEHAE 1 '—II‘—— =— |l
EEGNEENN rpm 1,2 4-100 | 5,000 4,000 | 4,000 | 3,000 3,000 2,000 = i
BAHNEENS m | 1,2 | 4-100 | 10,000 | 8,000 | 8000 | 6,000 | 6,000 | 4,000 ol 2 |22 | los
- 1 4-10 | <3 <3 <3 <3 <3 <3 | ARERET o ca
HEEBRP1 arcmin | AD 064-AD 255
2 | 20-100 | =5 =5 =5 =5 =5 <5
; , 1 4-10 =5 =5 =5 =5 =5 <5
mEHEP2 S0 2 | poeiob | =7 <7 <7 <7 <7 <7
SR Nm/arcmin| 12 | 4-100 | 13 31 82 151 440 | 1,006 | Bfr: mm
BAE i 1) 4EMeke’ N 1,2 | 4-100 | 125 235 430 1,300 | 3,064 | 5900 | [ R+ AD064 ADO090 AD100 AD140 AD200 AD255
ARG ) For’ N 1.2 | 4-100 | 1,050 | 2,850 2,990 | 10,590 | 16,660 | 29,430 | D1 4y 20 31.5 40 50 80 100
fE RS hr 1.2 | 4-100 30,000" . D2 315 50 63 80 125 140
2 1 " 1 | 4-10 =97% . D3z 40 60 80 100 160 180
2 | 20~100 =94% | D4 64 90 110 140 200 255
1 4-10 1.2 3.0 5.6 31.6 56.1 D5 79 109 135 168 233 280
BE kg » | 20-~100| 16 | 87 | 73 369 | 704 | D6 7xM5x0.8P | 7xM6x1P | 11xMB6x 1P [11xM8x1.25P |11 x M10x 1.5P| 12 x M16 x 2P
' 14 | 85 | 65 | 159 | 342 | 672 | D7 86 118 145 179 247 300
ERR o) 1,2 -10C~+90C _ D8 5 6 6 8 10 12
ke 1,2 | 4-100 A RuMiRAE ( NYOGEL 792G ) _ D9 55 77 90 113 138 175
| BrRESEAR 1,2 | 4-~100 IP65 : D10 8x4.5 8x55 8x5.5 12x 6.6 12x9 16x13.5
FETE 12 | 4~100 EEHE D11 70 95 120 152 212 255
WREE (n1=3000mm SR )| dBA) | 12 | 4-100 | <58 | =60 | =63 | =65 | =67 | =70 | D12 63.2 89.2 109.2 139.2 199.2 254.2
L1 8 12 12 12 16 20
BIEBEEIES L2 8 135 135 17 225 30.5
' s 5% | muEbt' | Apos4 | Aposo | AD100 | AD140 | AD200 | AD25s o 2 2 g i p 1e
4 0.14 0.51 2.87 754 | 2503 58.31 tg 1%5 ?g fg 1?2 ?g gg
1 5 0.13 0.47 2.71 742 | 23.29 53.27 T 1 = 5 - o B
6 0.13 045 = 262 714 | 2248 50.97 = == 5 0 s 5 5
10 0.13 044 257 703 | 2251 50.56 v e = = G5 s r
20 0.03 013 | 047 | 271 | 742 23.29 T Y I 7 I 7 ' 7 2 10
25 0.03 0.13 0.47 2.71 7.42 23.29 7 7 - : - - :
= ke e[ el en P T T ———C——
EEIEEN kg - cm? =5 S T o s | — gad M5 x 0.8P M6 x 1P M8 x 1.25P M10x1.5P | M12x1.75P | M12x1.75P
- . : : - : c3* *=14/=<16 =19/=24 =32 =38 =48 =55
5 70 0.03 013 | 044 257 7.03 22,51 =T = = = = — E
=9 D et L LE 3 C5 ‘a6 50 80 110 130 180 200
16 0.03 0.13 0.47 2.71 7.03 23.29 o6 " 8 2 = 5 6 5
21 0.03 0.13 0.47 2.71 7.03 23.29 e 50 a0 118 142 190 290
R A e ce* 19 7 195 225 20 6
£l 008 L 033 L U4 | 27 EREE co* 82.5 99.5 1215 151 199.5 256.5
o1 0.03 0.13 0.44 257 7.03 22.51 e s o 7E 5 s S =
1REEE (i=Nin/Nout | 2 #8 k I 5B Tes=60% of TanoT 3. 100rpmEs, (ERITFHIL B O E oD . 66x2 90x3 110x3 145x 3 200x5 238x5
4.C1-C10R4 IR Y R, # R SRR R R ERT Rt
*ADOB4MT 5,10 E FEFREC3 =16, *ADOS0OMT FRIECI =24 7%,

INCREASING[AD/ADR] 53 INCREASING[AD/ADR] 54



Increasing ‘ Increasing
SR TE IR BEITE 1Eahk

4 B B T4+ %#t4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & T il 4% s At #

IR IME R R~ BIEEIME R E R~

L2=2E% iEiE Eki=20~100R ~F L2=2E% iRk ELi=16,21,31,61,91 R~

_ C9 ! i C9 3
| L4 L6 L8 cs L4 L8 L8 c8,
L3 | L5 |7 ci0 L3 15| |7 et
L10x45° | | acr L10 x 45° ez
Ot — |1 ul o= — |
o [[] . i Elg [
—_--\1. P ]j_ : _Sgh_\\ rie——
: | L R .
el || : e""’;‘m—f%: o lelslolol e'ﬂg@tm—%:
ST I | e e e N [ G FH R s | B R
5 I I L = I c-HR -
[N ! [
[ T i D_/— [T §
Sl IN3l5e s
F —— | U .'l — 1 ||]
/ 7_t|_ c6 =1 ce
. oD f = | op 0
SRR — E L2 | iR . Cc4 N e § L2 || ke c4 _l|oc2
AD 064-AD 255 e .RDISO‘E:ODg)SS e
Rt AD064 AD090 AD100 AD140 AD200 AD255 R AD064 AD090 AD100 AD140 AD200 AD255
D1 v 20 315 40 50 80 100 Diw 20 | 815 40 50 | 80 100
D2 31.5 50 63 80 125 140 D2 815 | 50 63 80 | 125 140
D31 40 60 80 100 160 180 D37 40 . 60 80 100 . 160 180
D4 1 64 90 110 140 200 255 | D4w 64 90 110 140 200 255
D5 79 109 135 168 233 280 D5 79 109 135 168 233 280
e <G | Tkt | TiateiP i tibxi 285 I x Mi0 5P 1B N6 5P D6 7xM5x0.8P  7xMBx1P | 11xM6x1P |11xM8x1.25P 11xM10x 1.5P| 12x M16 x 2P
D7 86 118 145 179 247 300 07 86 118 145 179 247 300
D8+ 5 6 6 8 10 12 D8 5 6 6 8 10 12
Do R = = — e e D9 45.5 55 77 90 113 138
D10 8x4.5 8x5.5 8x5.5 12 % 6.6 12x9 16x13.5 D10 | 8x45 | 8x55 8x55 | 12x66 | 12x9 16x13.5
D11 70 95 120 152 212 255 D11t 70 . 95 120 152 . 212 255
) e T e e e = D12 632 | 892 109.2 1392 | 1992 2542
L1 8 12 12 12 16 20 ! 8 | 12 12 12 . 16 20
L2 8 135 135 17 225 305 L2 . 8 135 135 17 225 30.5
L3 3 6 6 6 8 12 Lo 3 6 6 6 8 12
L4 19.5 30 29 38 50 66 Lt 19.5 30 29 38 0 66
L5 7 10 10 14.6 15 20 Lo 7 10 10 14.6 5 20
L6 4 7 8 10 12 18 =2 4 7 8 10 L 18
L7 7.7 8 10 12 15 20 it 7.7 8 10 12 15 20
L8 — e S o 1305 —— L8 28.5 32 37 122 795 82
L9 6 7 7 7 10 10 L9 & 7 7 7 19 10
L10 0.5 1 1 1 1 1 L1l th 1 1 1 L 1
cis 46 70 100 130 165 200 c1°® 46 70 100 130 165 215
c2*s M4 x0.7P M5 x 0.8P M6 x 1P M8x1.25P | M10x1.5P | M12x1.75P c2° M4 x 0.7P M5 x 0.8P M6 x 1P M8x1.25P | M10x1.5P | M12x1.75P
£at *<11/=12  |*si4/<15875/s16| =19=<24 =32 =38 =48 cs *=11/=12 |'s14/<15875/<16| =<19<24 =32 =38 =48
c4°® 34 34 40 50 60 85 c4 34 34 40 50 60 85
C5 ®cs 50 50 80 110 130 180 C5 es 50 50 80 110 130 180
67 48 60 90 115 142 190 G 46 60 90 115 242 180
ca* 19.5 19 17 195 225 29 c8° 19.5 19 17 195 = 29
co® 108 134 160 204 248 3115 o 106 1305 148 =5 S =23
c10° 13.25 135 10.75 13 15 20.75 Sk 13.25 135 10.75 13 13 20.75
oD 66x2 90x3 110x3 1453 200 x5 238x5 o0 66x2 90x3 110x3 1453 20045 238x5
5.C1~C10BAGIES EEmiEti> R, B HEsGE “SimsRE" HHERs R 6.C1~-C102 4 Hi GEEER > R, s LAREe MEERRE" RHERMZ R
*ADOBOM1 16~31id: [EI2HC3 = 1271, *ADOZOM2 16~3 18 th 32 fC3=15.875/< 167

*ADOBAMT 20-50iEE tEIZHEC3= 1278, *ADDIOM2/M1 20-~50iFRELIZHEC3=15.87/< 1671k,

INCREASING[AD/ADR] 55 INCREASING[AD/ADR] 56



Increasing ‘ Increasing
SR TE IR BEITE 1Eahk

4 BB Tia4 #%# 4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE & & & <T ji4£ s #H 4

RIEB BT EIR RSN 2% R~F

L1=1E¢ il tki=4~20 R <F

IR MR R
mis fi# | Wi’ | ADRO64 l ADRO90 | ADR100 | ADR140 | ADR200 | ADR255 |
4 | 48 | 130 270 560 1,000 | 1,700 L8
5 | 60 | 160 330 650 1,200 | 2,000 L4 L6
1 7 | 50 | 140 300 550 1100 | 1,800 i %ﬁ_ L5
10 | 40 | 100 230 450 900 | 1,500
1“ | 4 | 140 | 300 550 | 1,100 | 1,800 —_—
20 40 | 100 230 450 900 1,500
20 | - | - = =
L S T2n i 25 | 60 | 160 330 650 1,200 | 2,000
35 | 50 | 140 300 550 1,100 1,800 5B 1
40 | 48 | 130 270 560 1100 | 1700 ePels
2 50 | 80 | 160 330 650 1,200 2,000
70 50 140 300 550 1,100 1,800
100 I 40 | 100 230 450 900 1,500
140 — | 140 300 550 1,100 1,800 .I =}
200 - | 100 230 450 900 1,500 P ——— 22 | o2
afFmETNoT Nm 12 | 4-200 | 3 (ST S5 . e = o
EEBANEEMN pm 1.2 4-200 | 5000 | 4,000 4,000 3,000 3,000 2,000 3 o O
BABAFENS mm 12 | 4-200 | 10000 | 8000 | 8000 | 6000 | 6000 | 4000 ELH ....... @ 4!—,7] [
ﬁ@ﬁlﬁlﬁ arcmin 1 = 4':20_ =5 | s._..s_ “{“_5 =5 "‘{"5_ $_5_ t ®C3 ] 8‘
2 25-200 | <7 | =7 <7 <7 <7 <7 |
: _ 1 420 | <1 | <7 <7 <7 <7 <7 ®C5
s aemit 2 | esp00 | <11 | <11 | =11 | =11 | <11 | <11 |
g Nm/arcmin | 1,2 4-200 | 13 | 31 82 151 440 1,006
A1 i F 55 Meks® N | 12 | 4200 | 125 | 235 430 1,300 3,064 | 5900 Bhr: mm
FEernE S Fe’ N 1.2 4-200 | 2,110 2,310 4,800 6.200 5.450 10,600 R ADRO64 ADRO90 ADR110 ADR140 ADR200 ADR255
ERASE hr 1,2 4-200 | 30,000* D1 w7 20 315 40 50 80 100
. o 12 | 420 | =95% D2 315 50 63 80 125 140
1 25-200 =92% D317 40 60 80 100 160 180
g kg 2 4-20 21 59 10.5 219 50.9 85.4 D4 w7 64 [ a0 110 140 [ 200 255
1 25-200 1.9 | 45 9.8 20.1 45.4 85.9 D5 79 109 135 168 233 280
EREE ko) 2 4-200 -10T~+90T D6 7xM5%08P | 7xM6x1P | 11xM6x1P [11xM8x1.25P |11 x M10x1.5P| 12 x M16 x 2P
fck 1.2 4-200 SHRGHRRAE ( NYOGEL 792D ) D7 86 118 145 179 247 300
Py el S5 40 1,2 4-200 | IPB5 | D8 Hy 5 6 6 8 10 12
*ffﬁ 12 | 4-200 | EEAR D9 8x45 8x55 8x55 12x6.6 12x9 16x13.5
BE(E (n1-3000mm &) | dB(A) | 12 | 4-200 | =63 <65 | <68 | =70 <72 | <7 =0 Zrs - - == = —
i L1 8 12 12 12 16 20
BRI EE)EE L2 8 13.5 13.5 17 225 30.5
a4 | #% | WLk’ ADRO64 | ADR090 | ADR100 | ADR140 | ADR200 | ADR255 L3 3 6 6 6 8 12
4-10 | 03s 2.25 6.84 23.4 68.9 135.4 L4 8 ! =0 29 ) ! o0 L
L5 7 10 10 14.6 15 20
L6 4 7 8 10 12 18
. 14 0.07 1.87 6.25 21.8 65.6 119.8 L8 126 1725 201 263.5 3345 392
L9 6 7 7 7 10 10
20 0.07 1.87 6.25 21.8 65.6 119.8 L10 0.5 1 1 1 1 1
HEEE e ! | G1 70 100 130 165 215 235
c2* M5x0.8P | M6x1P M8 x 1.25P M10x15P | M12x1.75P | M12x1.75P
=0 = % s = = = ca’ =14/<16 <19/=24 <32 <38 <48 <55
3 ' c4* 34 40 50 60 85 116
25-100 | 0.09 0.35 225 6.84 23.4 68.9 C5 ‘ss 50 _ 80 110 130 _ 180 200
# Ce ¢ 8 | 4 5 6 6 6
140-200, - 0.31 1.87 6.25 21.8 65.6 Gl D 2 i Ui 1 220
cs* 16 17 19.5 225 29 63
1 ke ( i=Ni/Now ) 2.8 K W H 4B T28=60% of Tanor 385 S 100rpmis, (R T shh o a1 Uing 1 L R 14 i
ERENRREREG 2 — C10 135 10.75 13 15 20.75 53.5
ci1* 815 107.5 134 164.5 213.5 268.5

4.C1-CIO2AMERENEEEE > R, W LHEiE HEER" R ERZ R,

INCREASING[AD/ADR] 57 INCREASING[AD/ADR] 58



Increasin
© mmemmmREn

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER

IR IMEL R EER <

L2=2E% iRiE Eki=25~200R <

L8
L4 L6
e
L10 x 45°
s I
6 o |
[
= [ o oz | = 8
G | S e S R :
{2 |
|II l T
fI’BE =
;1 o
AMERTHER | & o
ADORA-ADISS  © 2
Enmlll
! [+e]
L]
BfL: mm
Rt ADR0O64 | ADRO090 ADR110 ADR140 ADR200 ADR255
D1+ 20 315 40 50 80 100
D2 315 _ 50 63 80 _ 125 140
D3"7 40 60 80 100 160 180
D4 " 64 90 110 140 200 255
D5 79 109 135 168 233 280
D6 | 7xM5x0.8P | 7xMEx1P | 11xMEx1P [11xM8x1.25P |11 xM10x1.5P| 12xM16x2P
D7 86 118 145 179 247 300
D8wr | 5 | 6 I 6 i 8 1 10 ! 12
D10 8x4.5 8x5.5 8x5.5 12x 6.6 12x9 16x 13.5
D12 63.2 89.2 109.2 139.2 199.2 254.2
L1 8 12 12 12 16 20
L2 8 13.5 13.5 17 225 30.5
L3 3 6 6 6 8 12
L4 19.5 : 30 29 38 50 66
L5 7 10 . 10 . 14.6 { 15 . 20
L6 4 _ 7 8 10 12 18
L8 1325 _ 163 217.5 269.5 3335 403
L9 6 _ 7 7 7 10 10
L10 05 : 1 1 1 _ 1 1
ol 46 70 100 130 - 165 200
c2s M4x0.7P = M4x0.7P M6 x 1P M8x1.25P | M10x1.5P | M12x1.75P
c3° =11/=12 | <14/<N5875<16 | =19/=24 =32 ' =38 =48
C4% 30 ' 34 40 50 ' 60 85
C5 °as 30 50 80 110 : 130 180
Cc6® 35 ' 8 4 5 ' 6 6
G7° 48 60 90 115 | 142 190
c8s 19.5 ' 16 17 19.5 225 29
co’ 108.25 128.5 166.5 209 269.5 340 B .
c10°® 1325 13.5 10.75 13 15 20.75 BEITE EIRE
Git° 74 f 81.5 107.5 134 . 1645 213.5
5.C1-CI0RARERSEEEEY R+, . LE%R “FoERf" R ER: R, PRECISION PLANETARY

INCREASING[AD/ADR] 59

DRIVE THE FUTURE




Increasing _ . _ _ Increasing
EEITER IR BRTE ek
H B A T4 %4 PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & T 4% s #t £

IR AT TE IR

Notes of product ordering

W R IR AT R 0 BRI
Rk ## | @Bk’ | AEO70 | AE090 | AE 120 | AE 155 | AE 205 | AE 235
3 55 130 | 208 342 588 | 1,140
4 50 140 290 542 | 1,050 | 1,700
5 60 160 330 650 | 1,200 | 2,000
- 1 6 55 150 310 600 | 1,100 | 1,900
AE serles 7 50 140 300 550 | 1,100 | 1,800
8 45 120 260 500 | 1,000 | 1,600
.;e o 9 40 100 230 450 900 | 1,500
Precision Planetary Gear Boxes | [0 40 | 100 | 230 | 450 | 900 | 1.500
15 55 130 208 342 588 | 1,140
R , 20 50 140 290 542 | 1,050 | 1,700
Rotio/igii& L i=3:1~100:1 BRI A1 T2n Nm 25 60 160 330 | 650 | 1,200 | 2,000
Backlash/[a] 12 [ & 0 < 2 arcmin 30 55 150 310 600 1,100 | 1,900
35 50 140 300 550 | 1,100 | 1,800
Output torque/#§ 4 ~ 2,000N.m 0 | 45 120 | 260 | 500 | 1,000 | 1.600
Frame size/H#§Z45% AE 070~AE 235 2 45 40 100 230 450 900 1,500
50 60 160 330 650 | 1,200 | 2,000
ordering code 7] &R 1E/BISRIE T 3H A 60 55 150 310 600 | 1,100 | 1,900
70 | 50 140 | 300 550 | 1,100 | 1,800
Lz |- 32 -l - S2 ~ MOTOR 80 45 120 260 500 | 1,000 | 1,600
Ak L 90 40 100 230 450 900 | 1,500
MODEL SIZE STAGE Ratio | i#EE i Backlash Output Input | 100 40 100 230 450 a00 1,500
RARM| | RE RRUAR Li: Ll W At TR ABHET" Nm 12 | 3-100 MEEEE I hiE
070 | Li: 1Ak 3.4.5.6.8.10 Po: @i | S1: shaft i FESNBENN mm | 12 | 3-100 | 5000 | 4000 | 4,000 | 3,000 | 3,000 | 2,000
090 |, opusg s tpqp | P s el e o fg‘fﬁzzg BAHAEENS M | 12 | 3-100 | 10,000 | 8000 | 8000 | 6,000 _ 6,000 | 4,000
120 ‘ 112,15, 16.18, e K1: Hollow shaft 7L bl EE e , 1 | 310 <6 <6 <6 <6 | <6 <6
oy | [ AR Bt R (SMRIREE ) zﬁtﬁmﬁmﬂﬁﬁ ik aremn ™2 [35-100 | <10 | <10 | <10 | =10 | <10 | <10
205 | |Le: AR R Re: Hamu g oy ig;{ HE R Nm/arcmin| 12 | 3~100 7 14 25 50 145 | 225
235 T: ‘Special require. i AHBER B EENF N 12 | 3-100 | 1377 | 2985 | 6100 | 8460 | 13,050 | 8700
BEFSRE N1 Fos’ N | 12 [ 3-100 630 | 1,300 | 2400 | 4000 | 6,200 | 4,800
BT ) Frs’ N 12 | 3-100 765 | 1625 | 3350 | 4700 | 7,250 | 18,000
N ERES hr 12 | 3-100 20,000"
Standard co _nnectlon if no m.ark ﬁ'ﬁ o 1 3-10 =097%
T AR SoR B A n Q 2 15-100 =04% .
- g 1 3-10 1.4 33 6.9 13 | 31 53
= 2 | 15-100 | 1.6 47 | 87 | 17 | 35 66
o ERAR © 12 | 3-100 -10T~+90C
Series AR 12 | 3100 &R (NYOGEL 792D )
LG 12 | 3-100 IP65
ici ZEFHE 1,2 | 3~100 FEHE
Precision PIaHEtary Gear Boxes BEME (n=3000pm ER# )| dB(A) | 12 [ 3-100 | <58 <60 | =63 | <65 | <67 | =70
Rotio/ii i b i=3:1~200:1 . =
: . BIEEEEIEE
Backlash/[El 72 1B <4 arcmin e B8 | ARt |
L AE 070 | AE 090 | AE 120 | AE 155 | AE 205 | AE 235
Output torque/#4& ~ 2,000N.m 3 016 | 061 | 325 | 921 | 2898 | 69.61
Frame size/E RIS AER 070~AER 235 4 0.14 0.48 274 | 754 | 2367 | 5437
4 5 0.13 0.47 271 | 752 | 2329 | 53.27
; 5 o Eopcass U iy 1 6 0.13 0.45 2.65 7.25 22.75 G172
ordering code F] & fUik/BL SRR ERL A 7 013 | 045 262 | 7.4 | 2048 | 5097 |
8 0.13 044 | 258 7.07 2259 | 50.84 |
AER 90 L2 |- 32 - P2 |- S2 -~ MOTOR 9 0.13 0.44 257 | 7.04 | 2253 | 50.63
10 0.13 0.44 T 7.03 22.51 50.56
MODEL SIZE STAGE Ratioi %k i: Backlash Output Input
R 0 i BT 2= i e
070  Li: 1B/ Po: S1: shaft 6l ; ' : - : -
i 1: TRIAR 3.4.5.6.8.10 S | ey e M WEEE kg - cm? 25 0.03 0.13 047 | 271 7.42 | 23.29
L2: 2E/ER Pi: *ﬁﬁ 53. S{inﬂed shaft Egm :lll}ﬁ— ﬁ*ﬁﬁﬁ 30 0.03 0.13 0.47 2.71 7.42 23.29
B Lwmm mamem.  eme Ki: Holwsa il b i ® 0w [ | oar | g | 74 | o
155 ’ el : (S EIREE ) 40 0.03 0.13 | 0.47 2.71 7.42 23.29
205 Lz AR B oAl B 00 Ez: gﬂrmlw w':h”key Eg;} R+ » 45 0.03 0.13 047 | 271 742 | 2329
3: SWpline hollow 50 0.03 0.13 044 | 257 703 | 2251
235 I :
T: Special require P ZRER 60 0.03 0.13 044 | 257 7.03 | 2251
70 0.03 0.13 | 0.44 2o 7.03 22.51
80 0.03 0.13 044 | 257 703 | 2251
Standard connection if no mark 920 0.03 013 0.44 2.57 7.03 22,51
R RS N RN M 100 | 0.03 0.13 044 | 257 7.03 | 2251

1.8 EE ( i=Nin/Naut ) 3.0 KN iE 71 ¥E T2s=60% of TanoT

“EGER, (ERHaM10,000hrs

2.8 B 100rpmits, (ERFHHEROAE

INCREASING[AE/AER] 61 INCREASING[AE/AER] 62



Increasing

FHATREHHK

Increasing

+ 5 BT iask sAt#

FEEATE &Rk

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

RSN R R~ BUIEHE RN TSR

L2=2E% Bi# tki=15~100R <

R AR B
&5 Hig %, | WL ' | AER 070] AER 090] AER 120|AER 155 |AER 205 | AER 235
e T 3 36 90 195 342 588 1,140
4 | 48 120 260 520 1,040 | 1,680
L3 | 4 5 60 150 325 650 1,200 | 2,000
L7 6 55 150 310 600 1,100 | 1,900
& 1 % 50 140 300 550 | 1,100 | 1,800
I 8 45 120 260 500 1,000 | 1,600
; 9 40 100 230 450 900 1,500
5 8818 10 40 100 230 450 900 1,500
b i [ 14 42 140 300 550 | 1,100 | 1,800
20 40 100 230 450 900 1,500
I 15 - - - - - -
iV 20 % Bk 75 A — [
L4 | AR A% Tan Nm 25 60 150 325 650 1,200 | 2,000
30 55 150 310 600 1,100 | 1,900
35 50 140 300 550 1,100 | 1,800
L6 40 45 120 260 500 1,000 | 1,600
45 40 100 230 450 900 1,500
2 50 60 100 230 650 1,200 | 2,000
60 55 150 310 600 1,100 | 1,900
.70 50 140 300 550 1,100 | 1,800
L9 [ 80 45 120 260 500 1,000 | 1,600
| g 90 40 100 230 450 900 1,500
' 100 40 100 230 450 900 1,500
Bfi: mm 120 E 150 310 600 1,100 | 1,900
R~ AE 070 AE 090 AE 120 AE 155 AE 205 AE 235 140 - 140 300 550 1,100 | 1,800
D1 62 80 108 140 184 210 JEsies - SO S L e
D2 M5 x 0.8P M6 x 1P M8x1.25P | M10x15P | M12x1.75P | M16x25P 180 = 100 230 450 900 | 1,500
D3 % = = 2E = — = 200 = 100 230 450 900 1,500
D5 2 20 40 75 95 115 EEH AT rpm 12 | 3-200 | 5,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
D6 M5 x 0.8P M8x1.25P | M12x1.75P | M16x2P M20x2.5P | M20x2.5P BABAWET2 B 12 | 3~200 |10,000 | 8,000 | 8,000 | 6000 | 6,000 | 4,000
D7 70 104 130 162 205 260 B L | e I =R ) =8 | =R ) =8 | =B ] =F |
= = = o i — fuE _ 2 [25-200 | <12 <12 <12 <12 <12 <12
D9 455 53.4 77 102 125 160 L Nm/arcmin| 1.2 | 3~20 7 14 25 50 145 225 |
— U g = & T = | BHFEEANFS N 1,2 |25-200 | 1,377 | 2,985 | 6,100 | 8460 |13,050 | 8,700
L2 36 46 70 97 100 126 BRTEHE S e’ N 1,2 | 3-20 630 1,300 | 3,000 | 4,000 | 6,200 | 4,800
i a5 Ak AT 15 v B BRI ) ) Foses® N 1,2 | 25-200 | 765 1,625 | 3,350 | 4700 | 7,250 | 8,000
Tl y ; ¥ - B = ERES hr 1.2 | 3-200 20,000"
1 | 3~200 =95%
L5 25 32 40 63 70 90 e % > 1 3-200 =92%
::S 1?0 1:-‘:? 156 :;} :-2 273 - ; 1| 3200 | 21 5.8 1.2 22.4 46.8 78.0
g 2 [ 3200 | 20 46 111 21.8 437 81.0
e e . 7 e w SRR N E—
= = - s 5 " - S 1,2 | 25-200 A HiEEmAE (NYOGEL 792D )
cts 46 70 100 130 165 215 il el e
REF 6 1,2 | 25-200 FEAE
e Mgxoie L e e | MI0x15P | Mi2x1.75P BE{E (n=3000pm EAH)| dB(A) | 1,2 | 3-200 | <63 | <65 | <68 | <70 | <72 | <74
o *=11/<12 |*=14/<15.875=16 | =19/=24 =32 =38 =48 ' ' ' '
G2 30 34 40 50 60 85 peRnd L Lioh-
C5 Sae 30 50 80 110 130 180
C6 5 35 8 4 5 6 6 s ## | itk ' | AER 070/ AER 090| AER 120 AER 155 |AER 205 | AER 235
C7° 48 60 90 115 142 190 3-10 0.35 25 6.84 234 68.9 135.4
c8 >’ 195 19 17 195 555 59 1 14 0.07 1.87 6.25 218 65.6 119.8
cos 1438 178.5 205 5 2025 237 415 20 0.07 1.87 6.25 21.8 65.6 119.8
c108 13.25 13.5 10.75 13 15 20.75 WEEgE kg - cm? 15 . = = = = =
c11® 19.5 37 355 46 535 79.5 20 - - - - - ~
B1 e 5 6 10 12 16 20 2 [25-100 | 0.09 035 2.25 6.84 234 68.9
H1 18 245 35 43 59 79.5 120-200 - 0.31 1.87 6.25 218 65.6
5CI-CURAHBESERZEES R, HEEMR "RERRA" HHERS R TR EE ( i=Nin/Nou ) 2.4 L 100mmiss, EFA TR O E B.FR KN F1 56 T28=60% of TanoT

*AEOTOMI 15-50i8 R kS

HC3=12. *AE090M1 15-50iH LR ELC3=15.875=16R] 3.

INCREASING[AE/AER] 63

“EEER, EFEGE10,000hrs

INCREASING[AE/AER] 64




Increasing ‘ Increasing
SR TE IR BEITE 1Eahk

4 B B T4+ %#t4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & T il 4% s At #

BRI R R~ R IME R R~

L1=1E iBiEki=3~20 R ~F L2=2EF iRk tki=25~200 R ~F
L8 )
L2 L8
DE .. L3, | L1 [ L2
op1 L L L7 | N E- T
- i Ll L7
e I~ @
\ (mQm] LIS | ! N =
' - 6696
9, u 3
_E i L4 ||
o L4
| E— %8|
:
L6 L5
L6, L5 ‘z};
! == |
i | Lo ||
= ‘©D3)| ﬁ
Lo T \@D3]
L10
Bfi: mm BfL: mm
R+ AER070 | AER 090 AER120 | AER155 AER 205 AER 235 R~ AER 070 | AER090 AER 120 AER 155 AER 205 AER 235
D1 62 80 108 ' 140 184 210 D1 62 80 108 140 184 210
D2 M5 x 0.8P M6x 1P M8x1.25P | M10x1.5P M12 % 1.75P M16 x 25P D2 M5 x 0.8P M6 x 1P M8 x 1.25P M10x 1.5P M12 x1.75P M16 x 25P
D3 16 22 32 40 55 75 D3 16 22 32 40 55 75
D4 s 52 68 90 [ 120 160 180 D4 g5 52 68 90 120 160 180
D5 22 30 40 f 75 95 115 D5 22 30 40 75 95 115
D6 M5x08P | MBx125P | M12x1.75P | M16x2P | M20x25P | M20x25P Of MERTAE | MECLARFC | MIER ETER | MG KBTI V0.2 60T | W XZ6E
D7 70 104 130 | 162 205 260 L7 7 10 180 162 £35 £e0
D8 70 90 120 _ 155 205 235 D8 70 90 120 155 205 235
L1 - 33.5 38 50 N 70 ]34 - 335 38 50 - 70
L2 36 46 70 97 100 126 L2 36 46 70 97 100 126
L3 6.5 | 85 [ 17.5 15 _ 15 18 L3 6.5 8.5 17.5 15 15 18
L4 1 1 15 [ 3 3 3 L4 1 1 1.5 3 3 3
50 I 25 32 40 [ 83 70 90 L5 25 32 40 63 70 90
L6 2 3 5 f 5 6 7 L6 2 3 5 5 6 7
L7 10 12 16 ‘ 20 20 28 L7 10 12 16 20 22 28
L8 146 201 252 3245 379.5 4615 L8 167.5 207.5 283 358 4225 506.5
L9 48 7.0 10 12 15 15 L9 4.8 i 10 12 15 15
L10 12.5 19 o8 f 36 42 42 L10 12.5 19 28 36 42 42
G114 70 100 130 165 215 235 c1 : 46 70 100 130 165 215
c2+ M5 % 0.8P MEx 1P M8 x 1.25P M10 % 1.5P M12x1.75P | M12x 1.75P c2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 x 1.5P M12 x 1.75P
c3? v<14/<16 <19/<24 =32 <38 =48 <55 ca’ <11/<12 | <14/<15875/<16| =<19<24 <32 <38 =48
c4¢ 34 40 50 60 85 16 C45 30 34 40 50 60 85
C5 “cs 50 80 110 130 180 200 C5°5 30 50 80 110 130 180
C6 ¢ ' 8 4 e 6 6 6 C6 Sas 35 8 4 5 6 6
el 60 90 115 142 190 200 Cr 48 60 90 115 142 190
et 19 17 19.5 22 5 29 63 cs® 19.5 19 17 19.5 22.5 29
ca 4 116.5 159.5 199 2455 318 3985 cos 109 1335 172.5 215 267 343.5
ci104 13.5 10.75 13 15 20.75 53.5 c10® 13.25 13.5 10.75 13 15 20.75
c114 815 1075 134 164.5 2135 268.5 C11s 74 81.5 107.5 134 164.5 2135
B1ne 5 6 10 12 16 50 B1 ne 5 6 10 12 16 20
H 1 18 24,5 35 43 59 79.5 H1 18 . 24.5 35 43 59 795

- ) ) 5.C1-CHRAREEREEREIE> R+, S AT "SiEiER" HHiERs R+,
4.C1-CHELFIRESEEEE 2 R, @R “EEsER" R EMZR,

INCREASING[AE/AER] 65 INCREASING[AE/AER] 66



Increasin
C © pmsEmmmE

4 B BTia4t %A 4  PRECISION PLANETARY GRAR REDUCER

JE B B AR B 4

L H J LB, |
D3 S
L T
|
|
|
|
a !
a8 |
III
gty
L2
P SO
R~k D1 D2 D3 D4 LA L2 L3 L4
AE070(AERO70)-Metric 90 5.6 106 50 80 3 11 28
AE070(AERO70)-NEMA34 98.425 5.6 115 73.08 86 25 8 30.5
AE070(AERO70)-DT90/PX90 100 6.6 120 80 90 3 8 31
AEO90(AER090)-IEC 63D5 B5S 115 9 140 95 105 3 10.5 385
AE090-NEMA34 98.425 5.5 122 73.025 92 25 12,5 36
AE090-DT90/PX90 100 6.5 122 80 92 25 12.5 36
AE090(AER090)-NEMA42 125.73 7 144 55.58 107 4 145 355
AE120-NEMA42 125.73 7. 170 55.499 127 1.5 215 50
AE120(AER120)-NEMA56 149.225 6.6 170 114.3 127 3 17.5 55.5
AE155(AER155)-B5 175 11 196 130 160 5 20 82
AE205(AER205)-B5 230 13 277 180 210 5 23 82
AE235(AER235)-B5 275 17 317 235 240 5 23 108

BEIE EIRkK

PRECISION PLANETARY

INCREASING[AE/AER] 67 DRIVE THE EUTURE




Increasing

FHATREHHK

Increasing

+ 5 BT iask sAt#

FBEATE 1Eak

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

Notes of product ordering BRI AT IS E
W% B = A T BB A BA —

bk Hi% ' | JEiiELE | Boso | 1BosbA | 1BOSD | 1BOSOA | 1B115 | IB142 | 1B180 | 1B 220
3 55 = 130 E 208 | 342 | 588 | 1,140
4 50 = 140 = 290 | 542 | 1,050 1,700
5 60 = 160 = 330 | 650 | 1,200 @ 2,000
. ; 6 55 = 150 = 310 | 600 | 1,100 1,900
series 7 | 50 | - | 140 | - | 300 | 550 | 1,100 | 1,800
8 45 = 120 = 260 500 | 1,000 | 1,600
. e 9 40 = 100 = 230 | 450 | 900 @ 1,500
Precision Planetary Gear Boxes 0 Ta0 T = T T - S Il
15 55 55 130 | 130 | 208 | 342 | 588 | 1,140
o ) 20 50 50 140 | 140 | 290 | 542 | 1,050 1,700
Rotio/i# & Lk i=3:1~100:1 FEMH /146 Ten Nm 25 60 60 160 | 160 | 330 | 650 | 1,200 2,000
il i 30 55 55 150 | 150 | 310 | 600 | 1,100 | 1,900
Backlash/[E] 2 [E] & < 4 arcmin 35 50 50 140 | 140 | 300 | 550 | 1,100 | 1,800
Output torque/E44E ~ 2,000N.m 40 45 45 120 | 120 | 260 | 500 | 1,000 | 1,600
; 2 45 40 40 100 | 100 | 230 | 450 | 900 | 1,500
Frame size/#HI55 IB 060~1B 220 50 60 60 160 | 160 | 330 | 650 | 1,200 | 2,000
60 55 55 150 | 150 | 310 | 600 | 1,100 | 1,900
ordering code 7] & Xi/B SRR 5 FA 70 50 | 50 | 140 [ 140 [ 300 | 550 [ 1,100 | 1,800
= 80 45 45 120 | 120 | 260 | 500 | 1,000 | 1,600
- 2 - - S2 I MOTOR 100 40 40 100 | 100 | 230 | 450 | 900 | 1,500
L | 3 BT Nm | 12 | 3-100 SEERE T
MODEL SIZE STAGE Ratioi EHEE i : Backlash Output Input FEESNTIEN pm 1,2 | 3-100 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
RIS B BREEH Li: i R B PR BAENTEN. rpm 12 | 3-100 |10,000]10,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 4,000
060 Li: 180/ 3.4.5.6.8.10 Pi: HE S1: shaft k&h 4 : aremin L1 3~10 =5 =5 =5 =5 =5 =5 =h ||l =5
090 Lo: Py, s | S2: shaft with key g AEMIEAER fRE H P : 2 | 15~100 | =7 | =7 =7 | =7 =7 | = =7 || <F
115 o 9.12.15.16.18. : 83: splined shaft 7E§E# hE, e T — Srarin 1 3-10 =7 | =7 =7 =7 =7 =7 £7 =7
g | Lot OB 20.24.25.30.32, Ki: {Hﬁg%ﬁg]*ﬂ SE TR » . 2 [15-100 | =9 | =9 | =9 | =9 | =9 | =9 | =9 | =9
Les SR 36.40.48.64.100 K2: Hollow with key FREFL R+t A Nm/arcmin| 1,2 | 3~100 7 7 14 14 25 50 145 | 225
- S K3. SWpline hollow 7E@7L BRI /1P’ N 1,2 | 3-100 | 1,530 |1, 530 3,250 | 3,250 | 6,700 | 9,400 | 14,500 50,000
220 T. Special require FIPSHER Bl 1Fend’ N 12 | 3~100 | 630 | 630 | 1,300 | 1,300 | 3,000 | 4,000 | 6,200 | 35,000
EEL thii N 12 | 3-100 | 765 | 765 | 1,625 | 1,625 | 3,350 | 4,700 | 7,250 | 25,000
EEET hr 1,2 | 3-100 20,000
1 3-10 =97%
Standard connection if no mark s n * 2 15~100 =094%
T A SO B R - g 1 3-10 | 1.3 = 8.7 - 78 | 145 | 29 48
_ “e 2 |15-100 | 15 | 1.9 4.1 5.3 9 175 | 33 60
EREE e 1,2 | 3~100 -10C~+90C
= B 1,2 | 3-100 & AiEEhAE ( NYOGEL 792D )
IBR series e
s 90 ~ 1,2 | 3~100 EEAE .
P 5 o Pl t G B BEME (n=3000rpm EE#H ) | dB(A) 1,2 | 3-100 | <58 | <60 | <60 | <63 | <63 | <65 | <67 | <70
recision anetlar ear boxes A =
y SRS
Rotio/igi# Ltk i=3:1~100:1 R ey | EELL'| Boso | iBosoA | B0 | IBOSOA | IB115 | IB142 8180 | IB220
. 3 0.16 = 0.61 = 325 | 9.21 | 28.98  69.61
Backlash/[E]F2 &1 & < 6 arcmin 4 0.14 - 0.48 = 274 | 754 | 23.67 | 54.37
Output torque/#§4E ~ 2,000N.m 5 (013 | - | 047 | - | 271 | 752 | 23.29 | 5327
_ ! 1 6 0.13 = 0.45 = 265 | 7.25 | 22.75 51.72
Frame size/t&9% IBR 060~IBR 220 7 0.13 - | 045 = 262 | 7.14 | 22.48 | 50.97
8 0.13 = 0.44 = 258 | 7.07 | 22.59 @ 50.84
: =74 L1 E (1) B 4EE 342 9 013 = 0.44 = 2_.57 7.04 22.53 '50.63
ordering code FT 5 fUH/ZL $RAR £ 5L A 10 (043 | — | 044 | - | 257 | 7.03 | 2251 |50.56
15 | 0.03 | 0.13 | 0.13 | 047 | 047 | 271 | 7.42 |23.29
IBR 90 L2 32 P2 |- S2 = MOTOR 20 | 0.03 | 013 | 0.13 | 047 | 047 | 271 | 7.42 | 2329
MODEL  SIZE = STAGE Ratio] kb i : Backlash Output Input HEIERN kg - cm? 25 003 | 013 | 013 | 047 | 047 | 271 | 7.42 |23.29
RRIRE B8R RGN e s BT 30 |003 | 013 | 013 | 047 | 047 | 271 | 7.42 | 23.29
b = 2 35 | 003 | 013 | 013 | 047 | 047 | 271 | 7.42 | 23.29
060 L1: 168148 53.4.5.6.8.10 Pi: HE S1: shaft 8 40 0.03 0.13 0.13 0.47 047 | 271 742 |23.29
090 La: S52: shaft with key B g EEMEATES 2 - z - . : - - z
Lo: 288/4% e Po: ## 53, gplined shaft 7LiRE B BREE 45 | 0.03 | 013 | 0.13 | 0.47 | 047 | 2.71 | 7.42 | 23.29
NS Liomm  20.24.25.30.32 Ki: Hollow shaft 37l S 50 |003 | 0.13 [ 013 | 044 | 0.44 | 257 | 7.08 2251
142 F e ( SMERAEEEZE ) Fin 60 | 003 | 013 | 013 | 0.44 | 0.44 | 257 | 7.03 | 22.51
180 | Le: 4B s ég: gﬂlolw w':h”kay ig;li i 70 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 | 2251
: SWpline hollow 80 | 003 | 013 | 0.13 | 0.44 | 044 | 257 | 7.03 | 2251
220 : %
T: Special require HP4SFHRER 90 0.03 | 013 | 0.13 0.44 044 | 257 | 7.03 | 22.51
100 | 0.03 | 0.13 | 0.13 | 044 | 044 | 257 | 7.03 |2251
Bt i=Nin/Meut ) 2.8 e 100rpmEF, {ERATMHEROHE 3.5 A hni® A1 4E T2e=60% of TanoT

Standard connection if no mark

FEEREESOR B Rl

INCREASING[IB/IBR] 69

“EAEIEE, {EREA510,000hrs

INCREASING[IB/IBR] 70




Increasing ‘ Increasing
SR TE IR BEITE 1Eahk

4 BB Tia4 #%# 4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE & & & <T ji4£ s #H 4

RSN T g R~F RSN 2R R~

L1=1E mi#Eki=3~10R ~F L2=2E% RiELLi=15~100R ~F
c9
co (R R L8 __|cs
= L3 | C10
B2 . A 0e7 i =
L3 ____ﬂ —EZA
i 1] 35
15 e AT T e
2 I _:L:_'f.;_)[__a ; 17
° o N % =
_i | v ilem > |
L4 C6 1l
L7 |l . G4 i 6 L5 200 _cg 8 c8 ocr
ol e ) B i
I K N B [Te)
@_/ ﬁ é g |
D6 L9
oD3 LL10, 4 |
A S BRI S2 | ©D3 #hAIK S1 A 52 L7
BfE: mm
R | I1B060 1B 090 1B 115 1B 142 1B 180 1B 220 R 1B060 | 1B 060A B 090 | 1BO%A | 1B115 | 1B142 | B180 | 18220 |
D1 70 100 130 165 215 250 D1 70 100 130 165 215 250
D2 5.5 6.6 9 11 13 17 D2 5.5 6.6 9 11 13 17
D3 i 16 22 32 40 55 75 D3 s 16 22 32 40 55 75 |
D4 g 50 80 110 130 160 180 ] D4 g 50 80 110 | 130 | 160 | 180 |
D5 45 60 80 75 95 115 D5 45 65 95 75 95 115
D6 M5 x 0.8P M8x1.25P | M12x1.75P | M16x2P M20 x 2.5P M20 x 2.5P D6 M5 x 0.8P M8 x 1.25P M12x1.75P | M16x 2P | M20x2.5P | M20x 2.5P |
D7 80 116 152 185 240 292 D7 80 116 152 185 240 292
L1 60 90 115 142 180 220 L1 60 90 115 142 | 180 220
L2 37 48 ' 65 97 ' 105 138 L2 37 48 65 97 105 138
L3 7 10 12 15 20 30 L3 7 10 12 15 20 30
L4 15 15 2 3 3 3 - s 15 ' 15 | 2 | 3 | a3 | s
L5 25 32 40 63 70 90 L5 25 32 40 63 70 90
L6 2 3 5 5 6 7 L6 2 3 5 5 6 7
L7 6 8 _ 10 i 12 _ 15 _ 20 L7 6 8 10 12 15 20
L8 61 78.5 102 119.5 154 163.5 [ L8 ' 72 | o8 1115 [ 1265 | 1435 176 | 2095 248
Ls | 48 =N, 7.2 10 12 15 15 L9 4.8 7.2 10 12 15 15
L10 12.5 19 28 36 42 42 L10 12.5 19 28 36 42 42
c1° 70 100 130 165 215 285 & 46 | 70 70 100 10 130 165 215
c2* M5 x 0.8P M6 x 1P M8x1.25P | M10x15P | M12x175P | M12x1.75P ' C2°  |M4x07P M5x08P| M5x08P | MBx1P | M6x1P | MBx1.25P | MIOx15P Mi2x175P
cs’ "s/4<16 =19/=24 =32 =38 =48 =55 c3’ *<11/<12| <14/<16 [*<14/<15.875/<16 | <19/<24 |=<19/=24| =32 =38 <48
c4” 34 40 50 60 85 116 c4® 25 | 34 34 .40 40 50 60 85
C5 *ee 50 50 10 Ui 180 20 C5 " o6 30 | 50 50 . 80 80 110 130 180
- 8 4 5 6 g G cs° 35 8 8 4 4 5 6 6
c7 60 20 15 142 190 20 Gt 42 | 60 60 .90 90 115 142 190
c8 : L L it == = =t cs*® 295 | 19 19 | 17 17 19.5 225 29
o . LiLLj 4 Ll = <f3 Sl ce® 138.5 154 178.5 | 1915 225.5 292.5 337 415
40 i L ic. 5. £0:75 B c10° 8.75 135 135 1075 10.75 13 15 20.75
Bl 2 6 10 12 16 <0 B1 ne 5 6 10 12 16 20
H1 18 245 35 43 59 79.5 7 % 1 e % o= =5 o
4C1-CIORAHMERBERBRT, HLAME “BERERA" REER2 RS 5.C1-C1OSAMEESEERES R, W LEKR “HuEEm" fHER: R
*IBOBOM15, 10RURLIRHCI=<16.  *IBO9OM1 $REC3=247MH,, IBOBOM1 15~50miii LEHRECI= 12738,  *IBO9OM2 15~50i = Lh IR C3=15.87/= 167,

INCREASING[IB/IBR] 71 INCREASING[IB/IBR] 72



Increasing

+ 5 BT iask sAt#

Increasing

FHATREHHK

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

FEEATE &Rk

PRECISION PLANETARY, DRIVE THE FUTURE

R AT TEE RSN e R~F

L1=15 B LLi=3~20 R ~F

R E
B &# | JgiEEE' [ 1BRO60 | IBR090 | IBR115 | IBR142 | IBR180 | IBR220 - L8
3 36 90 195 342 588 1,140 — Lz
4 48 | 120 | 260 520 | 1,040 | 1,680 oDz y 18
5 60 150 325 650 1,200 2,000 e
6 55 | 150 | 310 600 1,100 | 1,900 ;f},/ ' ! @ ":
7 50 140 300 550 1,100 | 1,800 { . b T
8 45 120 260 500 | 1,000 | 1,600 fomt DO [ N ——
1 9 40 100 230 450 900 1,500 '\ ! e|®
10 40 100 230 450 900 1,500 g \ . /2/\ o
14 42 140 300 550 1,100 | 1,800 \ i 0,
20 40 100 230 450 900 1, 500 T L4
15 = = = = = = i L7 ;
WM AET N £ = 2 = = 2 = i 3lg |
£ AL 25 60 150 325 650 1,200 | 2,000 | . | ole
30 55 150 310 600 | 1,100 | 1,900 ' == [
35 50 140 300 550 1,100 | 1,800
40 45 120 260 500 1,000 | 1,600
45 40 100 230 450 900 1,500
> 50 60 100 230 650 1,200 | 2,000
60 55 150 310 600 1,100 | 1,900 Sy
70 50 140 300 550 1,100 | 1,800
80 45 120 260 500 1,000 | 1,600 - T
 REHETw Nm 1,2 | 3-200 StEERRM L N :
 EEWANEETN | mm | 12 [ 3-200 | 5000 | 4,000 | 4,000 | 3,000 | 3,000 [ 2000 |
RN rpm 12 | 3-200 | 10,000 8,000 @ 8,000 | 6000 @ 6,000 | 4,000 .y ®D3 £
: . 1 3-20 =6 =6 =6 =6 =6 =6 I\ S T
REHEP aremin 2 | 25-200 | =9 | =9 | =9 =9 @ =9 =9 BfL: mm
IR EP2 arcmin |1 | 8~20 =8| <8 | =8 =8 | =8 =8 R IBR 060 IBR 090 IBR115 | IBR142 IBR180 |  1BR220 |
2 [25~200 | =11 | =n1 | =11 =1 | =1 =11 D1 20 100 130 165 015 250
PR Nm/arcmin| 1,2 3~200 | 7780 14 25 50 145 225 ' f |
FHER Nt N 12 | 3-200 | 1,580 3,250 @ 6,700 | 9,400 | 14,500 | 50,000 b2 55 6.6 o R 8| 7
BEHBH 8 7 Foare? N 12 | 3-200 | 630 1,300 = 3,000 | 4000 & 6200 | 35000 D3 is 16 22 _ 32 | 40 55 | 75 .
BHFE 5 1 Fouos® N 12 | 3-200 | 765 1,625 | 3,350 | 4,700 | 7,250 | 25,000 D4 g 50 80 110 ‘ 130 160 180 '
ERE® o 12 | 3-200 20,000 D5 45 60 80 : 75 95 115
HE % ; 22:380 zgg;: D6 M5 x 0.8P M8x1.25P | Mi2x1.75P | M16x2P M20x25P | M20x25P |
- 1 | 3-20 21 | 64 13 245 | 51 83 o7 80 116 152 = 185 240 | 292
HE kg 2 |25-200 | 15 7.8 14.2 275 54 95 [ 60 90 115 142 180 220
e © 1,2 | 3~200 -10TC~+90TC [T 37 48 65 | 97 105 138
iR 12 | 3-200 A HEEmAE (NYOGEL 792D ) L3 7 10 12 ' 15 20 30
R e 12 | 3-200 IP65 ;
BEFE 1,2 | 3-200 AEFM L4 1.5 1.5 2 | 3 3 _ 3
&8 (n=3000rpm E&4 )| dB(A) 1,2 | 3-200 =63 =65 =68 | =70 =72 | =74 L5 25 32 40 | 63 70 : 90
L6 2 3 5 5 6 7
RERE R IR R L7 6 8 10 ’ 12 15 ' 20
R #% | WLk | 1BRo60 | 1BR0S0 | IBR115 | 1BR142 | IBR180 | IBR220 L8 145 203 259 ; 333 349 ' 484
| 3-10 0.35 2.25 6.84 23.4 68.9 135.4 Ta %8 >a % : = o - T
1 14 0.07 1.87 6.25 21.8 65.6 119.8 ! !
T 20 007 | 187 | 625 21.8 656 | 119.8 L10 12.5 19 28 | 36 42 42
HEERN kg - cm?2 15 . = & - Z A C14 70 100 130 165 215 235
| 20 = = = = = = cz2 4 M5 x 0.8P M6 x 1P M8x1.25P | M10x1.5P M12x1.75P | M12x1.75P |
2 125-100 | 0.09 0.35 2.25 6.84 23.4 68.9 ca® <14<16 <19/<04 <30 <38 e <55 |
120-200 | - 0.31 1.87 6.25 21.8 65.6 et % e 5 0 = e
1R {i:N.n.-'NzZ] 2.8 HEH 100rpmEs, ERFEHEF LS 3.8 A hn e 3B T2e=60% of TenoT C5 “as 80 110 130 180 200
miEEE, {EFEAS10,000hrs ce* 8 4 5 6 6 6
crt 60 90 115 142 190 220 |
ca 19 17 19.5 225 29 63 |
co’ 1115 152.5 191.5 2355 303.5 378.5
cio* 13.5 10.75 13 15 20.75 53 |
B1ne 5 6 10 12 16 20
HA 18 245 35 43 59 79.5

INCREASING[IB/IBR] 73

ACI-CIORABIRERFEERER R+, S LENE "RiEER" HHER2 R+,

INCREASING[IB/IBR] 74




Increasing

4, HB Tt mMH

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

IR IME R EER T

L2=2F% ji#E Lki=25~200 R~

B |
= b
A% |
A S1 BRI 2 L10
ﬁﬂ: mm
R~ IBR 060 IBR 090 IBR 115 IBR 142 IBR 180 IBR 220
D1 70 100 130 165 215 250
D2 5.5 6.6 9 11 13 17
D3 16 22 32 40 55 75
D4 g 50 80 110 130 160 180
D5 45 65 95 75 95 115
D6 M5 x 0.8P M8 x 1.25P M12x1.75P | M16x2P M20 x 2.5P M20 x 2.5P
D7 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 1.5 1.5 2 3 3 3
L5 25 32 40 63 70 90
L6 2 3 5 5 6 7
L7 6 8 10 12 15 20
L8 163.5 206.5 285 365 431 521
L9 4.8 7.2 10 12 15 15
L10 12,5 19 28 36 42 42
i 46 70 100 130 165 215
c2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10 % 1.5P M12 x 1.75P
ca’ =11/=12 | <14/=15.875/=16 | =19/<=24 =32 =38 =48
c4° 25 34 40 20 60 82
C5 ®as 30 50 80 110 130 180
C6 35 8 4 5 6 6
C75 42 60 90 115 142 190
C8s 29.5 19 17 19.5 225 29
C9s 99.5 126.5 165 205 254.5 3235
C10s 8.75 135 10.75 13 15 20.75
Bi e 5 6 10 12 16 20
H1 18 24.5 35 43 59 79.5

5C1~-C1ORAKIRERZEERZ R, W LM "Empbea” Rl Emz R,

INCREASING[IB/IBR] 75

BETE EIREK

PRECISION PLANETARY

DRIVE THE FUTURE




Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

Notes of product ordering i i i igiE
WL E R A T B B BB AR

R MR E
bk e’ | JEELEE | aBoso | ABosoa | ABoso | ABosoa | AB11s | AB142 | AB180 | AB220
3 55 = 130 = 208 | 342 | 588 | 1,140
4 50 = 140 = 290 | 542 | 1,050 | 1,700
5 60 = 160 = 330 | 650 | 1,200 | 2,000
& » 6 55 = 150 = 310 | 600 | 1,100 | 1,900
series 7 | 50 | - | 140 | - | 300 | 550 | 1,100 | 1,800
8 45 = 120 = 260 500 | 1,000 | 1,600
= s 9 40 = 100 = 230 | 450 | 900 | 1,500
Precision Planetary Gear Boxes 0 Ta0 T = T T - S Il
15 55 55 130 | 130 | 208 | 342 | 588 | 1,140
o ) 20 50 50 140 | 140 | 290 | 542 | 1,050 | 1,700
Rotio/iF i Lk i=3:1~100:1 FEMH /146 Ten Nm 25 60 60 160 | 160 | 330 | 650 | 1,200 2,000
oRE s . 30 55 55 150 | 150 | 310 | 600 | 1,100 | 1,900
Backlash/El#2H % il 35 50 | 50 | 140 | 140 | 300 | 550 | 1,100 | 1,800
Output torque/E4 48 ~ 2,000N.m 40 45 45 120 | 120 | 260 | 500 | 1,000 | 1,600
. 2 45 40 40 100 | 100 | 230 | 450 | 900 | 1,500
Frame size/#¢A%E AB 060~AB 220 50 60 60 160 | 160 | 330 | 650 | 1,200 | 2,000
. -, - 60 55 55 150 | 150 | 310 | 600 | 1,100 | 1,900
ordering code 7] & X%/ B SRAT £ 5 A 70 [ 50 [ 50 [ 140 | 140 [ 300 | 550 | 1,100 | 1,800
80 45 45 120 | 120 | 260 | 500 | 1,000 | 1,600
Lz |- 2 L L. S2 L MOTOR 100 40 40 100 | 100 | 230 | 450 | 900 | 1,500
AT S0 2 i BT Nm | 12 | 3-100 SEERE T
MODEL SIZE STAGE Ratioi ELEEEL i : Backlash Output Input FEESNTIEN pm 1,2 | 3-100 | 5,000 | 5,000 | 4,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
RARE R BRHUmE i i 8 HH 2RI ol T EE BABAEENS pm 1,2 | 3~100 |10,000 10,000 | 8,000 | 8,000 | 8,000 | 6,000 | 6,000 4,000
060 | Li: 15/ 3.4.5.6.8.10 Pi: % S1: shaft e o Sl 0Ll = =1 | =1 =1L =1 =1
o e by g | S2 Shaftwith key g BT ik G O ) S - )
L2: 288 9.12.15.16.18. % S3: splined shaft £ FATRE L p— : 1 3-10 | =3 | =3 | =3 | =8 | =3 | =3 | =3 | =3
115 K1: Hollow shaft 7. o EERP1 HICIRIE
fis La: 3ER/R 20.24.25.30.32, ChREEE) = E E R 2 1g~:go sg sg =5 sg sg sg =5 sg
) 36.40.48.64.100 : - R+t ; o [ ~ = = =5 | = = = £5 [
180 | [Le: 4RV Eg 2&';’#,;;‘",:&:23\5 %g;t i arcmm‘ 2 15~100 | =7 | =7 =7 =7 = =7 = =7
220 |lowe T: Special require F P HER HERE Nm/arcmin| 1.2 | 3-100 7 7 14 14 25 50 | 145 | 225
FEEm HFee? N 1,2 | 3-100 | 1,530 |1, 530 | 3,250 | 3,250 | 6,700 | 9,400 | 14,500 50,000
ERFIRE) ) Foue? N | 12 | 3-100 | 630 | 630 | 1,300 | 1,300 | 3,000 | 4,000 | 6,200 | 35,000
EEH 5 H) Foce? N 12 | 3~100 | 765 | 765 | 1,625 | 1,625 | 3,350 | 4,700 | 7,250 25,000
Standard connection if no mark {# S hr 1.2 3~100 20,000*
A A ST B W A WA 5 o % 1 3-10 =97%
" 2 [15-100 | =%
1 S0l = 3.7 = 7.8 | 145 | 29 48
= di kg 2 |[15-100| 15 | 1.9 4.1 5.3 9 175 | 33 60
AB R series AR TEETEE 6T 0T
bl 1,2 | 3~100 & AR AR ( NYOGEL 792D )
_— | itz 1,2 | 3-100 IP65
Precision Planetary Gear Boxes 12 | 3-100 EE5A
12 | 3-100 | <58 | <60 | <60 | <63 | <63 | <65 | <67 | <70
Rotio/igi®E Ek i=3:1~100:1
Backlash/[El 2[R <4 arcmin f B T W | WEEL"| Asoso | Asoeoa | Asoso | Asosoa | ABi1s | AB1e2 | ABtso | AB2x0 |
Output torque/&H4E ~ 2.000N.m 3 0.16 = 0.61 = 325 | 9.21 | 2898 69.61
_ 4 0.14 - | 048 = 274 | 754 | 2367 |54.37
Frame size/## 81595 ABR 060~ABR 220 5 0.13 - | o047 = 271 | 752 | 2329 |5327
1 8 0.13 = 0.45 = 265 | 7.25 | 22.75 | 51.72
: AT LT /R S 4 2 7 0.13 = 0.45 = 262 | 7.14 | 22.48  50.97
orde ring code nTE 'IJCE%;;*: JE ST r-f?. Hﬂ 8 0.13 _ 0.44 _ 558 | 7.07 | 2250 | 50.84
9 0.13 - | 044 = 257 | 7.04 | 22.53 | 50.63
ABR 90 L2 |- 32 -l P2 |- S2 - MOTOR 10 | 043 | - | 0.44 — | 257 | 7.03 | 22.51 | 50.56
MODEL  SIZE  STAGE Ratio] M- Baklssh Output Irput 15 [0.03 | 013 | 013 | 047 | 047 | 271 | 742 |23.29
RRRE 9K BNEN B i : o 20 | 003 | 013 | 013 | 047 | 047 | 271 | 742 | 23.29
Li: & H = dE RIS E MR
SEEE) kg - cm2 25 | 003 | 013 | 013 | 047 | 047 | 2.71 | 7.42 | 23.29
060 | Li: 18UM 3.4.5.6.8.10 R R | | ST, shal K = 30 | 003 | 013 | 013 | 047 | 047 | 271 | 7.42 | 23.29
§ . S2: shaft with key B S 0% TR A : : ' - : : : :
090 = P2; 12 : . 35 | 003 | 013 | 0.13 | 047 | 047 | 271 | 7.42 | 23.29
Lo: 2808 9.12.15.16.18 it S3: splined shaft 1Eal#h i, AL ' : : ‘ ‘ ' : :
16| Ll K1: Hollow shaft 7L & i i o 40 | 003 | 013 | 013 | 0.47 | 047 | 2.71 | 7.42 | 23.29
142 : 6 1045 4 ian [ SMRERREE ) o 45 | 003 | 013 | 013 | 047 | 047 | 271 | 7.42 | 23.29
180 | Le: 4EMER e ﬁ: gﬂlol\gv w::hlrev %%;ﬁ : 50 | 003 | 0.13 | 0.13 | 0.44 | 044 | 257 | 7.03 | 22.51
: SWpline hollow 60 | 0.03 | 013 | 0.13 | 0.44 | 044 | 257 | 7.03 | 22.51
T: Special require FAP$#HRER | 70 0.03 0.13 | 0.13 0.44 | 044 | 257 | 7.08 | 22.51
80 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 2251
90 | 003 | 013 | 013 | 044 | 044 | 257 | 7.03 2251
S 100 | 0.03 | 0.13 | 0.13 | 0.44 | 044 | 257 | 7.03 | 22.51

ELE (| i=Min/Nout ) 2.8 HiES 100rpmBs, {ERTFEHEh OIS 3.5 iz h 48 Ter=60% of TanoT

FEE RS2 B g WAl A T 1.8
- iEE, {E A R10,000hrs

INCREASING[AB/ABR] 77 INCREASING[AB/ABR] 78



Increasing

FHATREHHK

Increasing

+ 5 BT iask sAt#

FEEATE &Rk

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

BRI L2 R~

L2=2E% iBiE tki=15~100R ~t

IR IMEREER T
L1=1E wiEki=3~10R

Cc9
co oL L L8 cs
L3 C10
oL & N -_.L?:m oc7 Tie AN
L | =
i _+ 8
1 F=3 (=} e . o
-+ uwn .'_ ___:@;7— i
=1k I i b *::_‘_:‘.;”JQ L H ‘y
' | m % e
| H e ul]
L4 | c6 |
Lz || c4 & L6 L5 ez _cg L8 ca oc7
. | _ = _’_Lg
2 =
SN ﬁ g8l = -
D6 L9
D3 L8, s H
FHAE S1 A S1 A 52 L7l
BfE: mm
Rt AB 060 AB 090 AB 115 AB 142 AB 180 AB 220 RS | AB060 | ABOGOA ABO% | ABOYA | AB115 | AB142 | AB180 | AB220 |
B} 70 100 130 165 215 250 D1 70 100 130 165 215 250
D2 55 6.6 9 11 13 17 D2 5.5 6.6 9 11 13 17
D3 s 16 22 32 40 55 75 D3 s 16 22 32 40 55 75 |
D4 g 50 80 110 130 160 180 D4 g 50 80 110 | 13 | 160 | 180 |
D5 45 60 80 75 95 115 D5 45 65 95 75 95 115
D6 M5 x 0.8P M8x1.25P | Mi12x1.75P | M16x2P M20 x 2.5P M20 x 2.5P D6 M5 x 0.8P M8 x 1.25P M12x1.75P | M16x 2P | M20x2.5P | M20x 2.5P |
D7 80 116 152 185 240 292 D7 80 116 152 185 240 292
L1 60 90 115 142 180 220 L1 60 90 115 142 180 220
L2 37 48 65 97 105 138 L2 37 48 65 97 105 138
L3 7 10 12 15 20 30 L3 7 10 12 15 20 30
L4 15 15 2 3 3 3 L4 15 15 2 3 3 3
L5 25 32 40 63 70 90 L5 25 32 40 63 70 90
L6 2 3 5 5 6 T L6 2 3 5 5 6 7
[ 6 - 8 10 12 15 20 L7 6 8 10 12 15 20
L8 61 78.5 102 119.5 154 163.5 L8 72 | o8 1115 [ 126.5 143.5 176 209.5 248
L 4.8 7.2 10 12 15 15 L9 4.8 7.2 10 12 15 15
L10 12.5 19 28 36 42 42 L10 125 19 28 36 42 42
c1t 70 100 130 165 215 285 & 46 70 70 100 10 130 165 215
c2* M5 x 0.8P M6 x 1P M8x1.25P | M10x15P | M12x175P | M12x1.75P C2°  |M4xO07P M5x08P| M5x08P | M6x1P | M6x1P | M8x125P |M10x15P M12x175P |
cs’ 's/14<16 <19/<24 =32 =38 =48 =55 c3’ *<11/<12| <14/<16 [*<14/<15.875/<16 | <19/<24 |=19/=24| =32 =38 <48
ca’ 34 40 50 60 85 116 c4°® 25 | 34 34 | 40 40 50 60 85
&< o & 110 129 180 200 C5°6e 30 50 50 . 80 80 110 130 180
i 8 4 5 o 5 : cs° 35 8 8 4 4 5 6 6
c7 0 90 LiE] 142 190 220 Gt 42 60 60 L 90 90 115 142 190
c8 : i L = e = - cs*® 295 19 19 | 17 17 19.5 225 29
& . L. i 1562 e i 645 ca’ 138.5 154 178.5 | 1915 225.5 292.5 337 415
g 125 2052 13 112 AU 2 c10° 8.75 13.5 13.5 1075 10.75 13 15 20.75
Bi e 2 & 19 L 18 =0 B1 ne 5 6 10 12 16 20
H1 18 245 35 43 59 79.5 7 % e % o= =5 o

4.C1-C1ORAFMERFERE L R+T, FLERE "HSiERER" HHERZ R,

*ABOBOM15 10RIREFEHC3=16.

*ABDIOMT FRHLCE =24 W[,

INCREASING[AB/ABR] 79

5.C1~C102 A Hl#E

*ABOBOM1 15~-508E BELEFRHCI= 12718,

=0

HiEEENRZ R,

I ERIR AR M2 R
*ABO90M2 15~50i LR C3=15.87/= 167,

INCREASING[AB/ABR] 80




Increasing

FHATREHHK

Increasing

+ 5 BT iask sAt#

FEEATE &Rk

PRECISION PLANETARY, DRIVE THE FUTURE

SR TERRRIEN

PRECISION PLANETARY GRAR REDUCER

ROEBE B AT TE IR RSN e R~F

L1=15 B LLi=3~20 R ~F

LR i A
i #i%f | wiELL' | ABRO60 | ABRO0%0 | ABR115 | ABR142 | ABR180 | ABR220 | I La
3 36 90 195 342 588 1,140 . L2
4 48 120 260 520 1,040 | 1,680 b2 y |
5 60 150 325 650 1,200 2,000 / e )
6 55 150 310 600 1,100 | 1,900 & ' ! ® ,|:
7 50 140 300 550 1,100 1,800 (. j ¥
8 45 120 260 500 1,000 1,600 ;' il b B S flafoeaad
1 9 40 100 230 450 900 1,500 '\ T e|©
10 40 100 230 450 900 1,500 ) \ A
G : ! /GJ/ @
14 42 140 300 550 1,100 1,800 s 0,
20 40 100 230 450 900 | 1, 500 i L4 L
15 = = - = = = | i L7 :
SR 146 Ton Nm 2 1= : = = = m : ]
25 60 150 325 650 1,200 | 2,000 [ i | Qla [
30 55 150 310 600 1,100 1,900 S
35 50 140 300 550 1,100 1,800
40 45 120 260 500 1,000 1,600
45 40 100 230 450 900 1,500
5 50 60 100 230 650 1,200 | 2,000 B1 L6
60 55 150 310 600 1,100 1,900
70 50 140 300 550 1,100 1,800
80 45 120 260 500 1,000 1,600 -} T
BT’ Nm 12 | 3-200 SfEEEEHANE '
FEEW NE 5 Ton rpm 12 | 3-200 | 5,000 4,000 | 4,000 3,000 3,000 2,000 o Lo
RPN EE Ton rpm 12 | 3-200 | 10,000 @ 8,000 | 8,000 6,000 6,000 4,000 ©D3
A i 1 3-20 =4 =4 =4 =4 =4 =4 WAL S A S2
REWHP1 aromin 2 |25-200 | =7 =T =7 =7 =7 &7 Bfi: mm
A P2 arcmin 1 3~20 =6 =6 =6 =6 =6 =6 Rt ABR 060 ABR 090 ABR115 | ABR142 ABR220 |
‘ 2 |25-200 | =9 =9 =9 =9 =9 =9 D1 20 100 130 165 250
HiEmE Nm/arcmin| 1,2 | 3-200 | 7780 14 25 50 145 225 | i
BRER Pt N 12 | 3200 | 1,530 | 3250 | 6,700 | 9,400 | 14,500 | 50,000 D2 55 6.6 9 1 13 17
BRI E 1o N 1,2 | 3-200 630 1,300 3,000 4,000 6,200 = 35,000 D3 i 16 22 32 40 55 75
B[R T Fouc? N 1,2 | 3-200 765 1,625 | 3,350 | 4,700 | 7,250 | 25,000 | D4 g 50 80 110 130 160 180 '
RS L 1i2 33"22053 20’::3' D5 45 60 80 75 95 15 |
= = ‘o B -+
HE %o 5 55900 =029 D6 M5 x 0.8P M8 x 1.25P M12x1.75P | M16x2P M20 x 2.5P M20x 2.5P |
1 3-20 2.1 6.4 13 24.5 51 83 D7 80 116 152 185 240 292
n kg 2 25200 | 15 78 | 142 | 275 | 54 95 L1 60 90 115 142 180 220
ERBE T 1.2 | 3-200 -10C~+90CT L2 37 48 5 97 105 138
EE 1,2 | 3~-200 ERMAHAE ( NYOGEL 792D )
: L3 7 10 12 15 20 30
B i % 4 1,2 | 3~200 IP65
REFB 12 | 3-200 EEAm B i o - - - :
IREE (n=3000pmRAE ) dB(A) 1,2 3~200 =63 =65 | =68 =70 =72 =74 L5 25 32 40 63 70 90
L6 2 3 5 5 6 7
R 1R L7 6 8 10 12 15 20
| bi2ic} fiid | iSiEEE' | ABRO60 | ABROS0 | ABR115 | ABR142 | ABR180 | ABR220 L8 145 203 259 333 349 484
3-10 0.35 2.25 6.84 23.4 68.9 135.4
- L9 48 7.2 10 12 15 15
1 14 0.07 1.87 6.25 21.8 65.6 119.8
20 0.07 187 6.25 218 656 | 1198 L10 125 19 28 36 42 42
WEREN kg - cm2 15 = = - - . - Ci ¢ 70 100 130 165 215 235
5 20 = = = = - = ca24 M5 x 0.8P M6 x 1P M8x1.25P | M10x1.5P M12x1.75P | M12x1.75P |
122%"‘2%% =00 g-g? ?:g g-g: ﬁf"; gg-g £34 <14/<16 <19/<24 =32 <38 <48 <55
== -l . : L : : (67 30 40 50 60 85 116
j.ﬁkiﬁtt ( |—NEI 1_ 2. S 100rpmBE, (ERFIGH G OGS 3.5 K niE 7 # T28=60% of TanoT C5 “as 50 80 110 130 180 200
HAEEY, {E ARG F10,0000rs c6* s 4 5 6 6 6
crt 60 90 115 142 190 220
ca 19 17 19.5 225 29 63 |
co’ 111.5 1525 | 191.5 235.5 303.5 378.5
c1o* 135 10.75 13 15 20.75 53 |
B1me 5 6 | 10 12 16 20
H1 18 245 35 43 59 79.5

INCREASING[AB/ABR] 81

ACI-CIORABIRERFEERER R+, S LENE "RiEER" HHER2 R+,

INCREASING[AB/ABR] 82




Increasing Increasing

SR TERRRIEN FBEATE 1Eak

4 B B T4+ %#t4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & T il 4% s At #
IR MR I R~ Notice for ordering {72 BiRz%1#E
L2=2F% 1B i# tki=25~200 R ~F

EETEAESEEREREREFEAESNER, RERTERERNERIEHES, RERERENERNEBHME. “B" £ "FTR" SEWEAE
R, BRTERAERHANENIERR, B FMEATERRRIEREE,

| T k8 MAREEEE AR, R, A, WHEE, BEh. Efah. HEEE. TESAELEEE, tERstERERS. TREE. IES
- is RENIEE. BAFER, HeXUTHR, RREMRERLY,
IF Stepl: MiEEHBARE.
I 55 " e PYRE
T Loading Running per hour Using fs gg:ﬁ;ﬁ T
-« |8 || 19— o) classification Running per day(h) AT h
2|8 J: aggn | SOREBRNZ het 4<h<8 | B<h<12 | 12<h<16 | 16<h<24
‘ : — Z<10 085 | 095 | 100 120 | 160
| —] Hade 10<Z<30 0.90 1.10 115 1.40 1.80
L4 [ 1 SEGEERY fi 30<Z<100 1.00 1.20 1.30 1.60 2.00
e Modum chodi|—==i8 | 1000 | el 130 | 1.60 | 200
S oo <o) 10<Z<30 1.10 1.35 1.45 1.80 2.20
FEFRER | 30.z<100 1.20 1.45 1.60 2.00 2.40
Ty S S
<L< = u 3 % H
EERAH 30<Z<100 1.40 1.65 1.90 2.40 2.80
L6 L5 2 HEMREE Tn Tn>Te2 FHZEERNETHETMEATFHERET2, Te2=Tr2xfs (- HiEs To-REFEEE - EREN
| 3 FATE N n n1=6000 (1601 T) m=4000 (1608LE)
4 RRHEL i =0 L1:3-10, L2 9-64, L3:60-512
T . 5 RERRE n L1=06%, L2=04%, L3=01%
1 A 4 M B o o T 22 4L B - Texm & =P
g ? E, HEREENEANE P Pi=gggoxiny % PrePer
_-_L;) 7 R EEB TR AEROEE | Tov, P Tonz=Texfixfe Pinz=Pixfixfe
AR S1 W S2 8 WHNERD. BAEE F F. | B (ERTH) HEE, HLENTREREABRS, Bh7. REES EIERTARERNED
9 HRARAE AR BEE. TIERE, {H2EEE
B{if: mm 10 i SRRREET FElEissE, o0 EFRE
11 TERL R RS RERERZ. GA, SHAAERTREFS, 2R, WERHEF
- ABR 180 ABR 220
Rf il o aHR s slRtee Tl : B N, PRESESIRHAMISHEINE; P ToREEER R R EMME; Piv, T BRI ERATR I ENHE,
D1 70 100 130 165 215 250
D2 55 6.6 9 11 13 17 Step2: R, EHLEMR. AEDME. HEEERIMERTRE Notice for ordering #T & %8 &0
D3 e 16 22 32 40 55 75 BERG Motor Model: MITSUBISHI HC-DFS53 Motor's type & measurement:
D4 g6 50 80 110 130 160 180 B R M S BB ST Rt
: Planetary gearbox's type:
L e & = = = L BENE natodTorse 159 M i S TR R R AR
D6 M5 x 0.8P M8x125P | M12x1.75P | M16x2P M20x25P | M20x2.5P BANE MaxTorue 477 NM T BT o
HEWE Rated Speed 3000 APM Servo motor |11+ ; | o 4.
D7 80 116 152 185 240 292 S4W#E MaxSpeed 6000 RPM 1 — — A J i ~t| :
HEER Inertia 6.6 kgicme H ! ) Ratio: Backlash:
L1 60 90 115 142 180 220 #/iE Shaft Dia @19 mm ) - |3 WL RS,
SE  Diameter 80 mm S i ; - )
L2 37 48 65 97 105 138 O @70 mm |4 | Mounting position&others requir:
D 90 NET : :
= 5 T 5 7 5 %5 Pl AERELFRSEERER
= L L & 2 2 g Step3: BIBATATIT MRS IR T R4 H (ICADSPOFEE, EHBELE Biin: ABIOL1-5-P2-S2/MSME082L1 , fTRERTEE
i 7 (=N i 1 5 —I-F£- M a
L5 25 32 40 63 70 90 ! !
L6 2 3 5 5 6 7 S ) e
L7 6 8 10 12 15 20 i : R WF 2
L8 163.5 206.5 285 365 431 521 ¥ »J v 3l I
Lo ’ i
L9 4.8 7.2 10 12 15 15 5| & | __E=s4s
L10 125 19 28 36 42 42 % 3
: : t 47:!—
C1 46 70 100 130 165 215 - T
c2° M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10x1.5P | M12x1.75P . i i
G3: =11/=12 =14/=15.875/<16 =19/=24 =32 =38 =48
c4° 25 34 40 20 60 82 ELRURES,
C5 Sas 30 50 80 110 130 180 R
SRASBEE. 200
C6 5 35 8 4 5 6 6 FRAARE, o«
C75 42 60 90 115 142 190 SEABAEL 00
BEHEAA, 25 :
c8s 29.5 19 17 19.5 225 29 il es : T e G
ot 15-40-70-8 | A
C9s 99.5 126.5 165 205 254.5 3235 }igﬁzﬁjwm' el ot veve [ o e
C10s 8.75 135 10.75 13 15 20.75 10 RS >9% . - L] Jw
B1 n 5 6 10 12 16 20 o i T
H1 18 24.5 35 43 59 79.5

5C1-CI0ZAREEREERE L R, W.LMIEe “"EmiEse A" R EMRZ R,

INCREASING[AB/ABR] 83 INCREASING 84



Increasing ‘ Increasing
SR TE IR BEITE &k

% B BT A4 #%#4  PRECISION PLANETARY GRAR REDUCER PRECISION PLANETARY, DRIVE THE FUTURE 4 & & <T i 4% &4t 4

Base concepts of precision planetary gear boxes SR FMMNELT S

Base concepts of precision planetary gear boxes SLiEFERNELS

_— i ; MEWHAE ToNmEREEREE (EAIEW ) TUMBONE (FEEE) , S4EEREERNS, E£R7HUS=1,
REoWEL: Inputspeed / Outout speed MIIPREEL ERANE TnINm]  PL160/PS14211 FHE, BABA 20000/ : PS1905! FH R824 510000/ : TNEFISO DP 63368515
WEMAWE  RERNEDEE, FAERRTREREE, UNREREANRER, ASEORTHARERERERER00H WERECEETENN.
n TG, REER B 1
M RN s TR F 1000/ 8 MRS OB A N K8, TR T1000KE , AXAHREL.
8 R N . Tee 2 B HA TAEGIRAGM —ESAE, WIEERAPAIMENE(Teo) B H0FT28, HHEiREREENEG.
Ne{rpm] HHEERPETHAXNBASAEENF EEBEFEEHAE:  ne=ny/i
Poles The number of set of planetary gear.Oweing to one set planetary gear can't satisfy bigger transimission ratio, two or three sets EasEaEe FEEESEmHEREMENSERANE, EENEVERSEBEEGHANE 1000k, EHAEEBB 1000k, (HiE:
BB 8 can meet users' requirements of bigger transimission ratio. Since inscreasing the gear quantity .the length of two or three poles [Nm] PL160/PS142 L FTHEB B TonoT=2 - T2B; PS190LA E# R B ToHoT=1.5 - T2B )
motor will increase accordingly, of course the efficiency will reduce accordingly.
ITEHHNEN. AT —ETESRELRERANENLE, ARFE_EN=ERHEARY A ESLENER, thtEH, S8
HIE KB ABES TN T TR ERAOSE, F AR REn RER AN, S e T, Tein  TREEURER LHEER SRR e
Efficiency If refers to the gearing efficiency of the gearboxes in the case of the largest load.
MNNE  REREARIAT, MEROMIIE. AN, ANNS, SEM(E. e WRAREBEH AR DR TR RTONG S, AR ESE AR AR,
Average lifetime  Trefers to the continuous working time of the gearboxes of the highestinputrev.
FHEG R EEE AWM T, EEW TR TR, 8 40 5
%2[Nm] IR EERFREARSHRELR, SERERNEERETSEXFEERE.
Precise In high-speed reciprocating mechanical movement achieve precise positioning is the key to minimizing the movement through the
positioning angular deviation positioning accuracy depends on the two values,with a load of the deflection angle,involving a retum to space with S E RS . . —— —
FENIEE forsion stiffness,and the other is conirol of the movement and rotation angle,involving partial synchronization the problem worse. Tez[Nm] RERBAERREAN, TUARRABMETNRES, RUTAABY  Te=Tots<Tn
EREBHEEESHDHIIFRECMRNEETESH/NMERESEELNREE. EAFEERRTHREE, —EEENEE
HnmREs, $RIADEMREAAENE; S—EAREEHEHEENGRSER, SRIABSREEE. . _
iz 5 EEEAMEEAERFEHESHR EERZNENONE., HFAHELKR:
[Nm] Mzkmax=[Fa*yz+Fr*(Xz2+Z2)]/1000
Backlash — wmssigia i SR ABMBARER, MBHERERONNETE, ARERENANESMBE—ENE (2%Te) ,
BEME  psmRm s AT
Ll 4 @lareni] LDk EETTFHON—ED, EFTTHLE, EAERANEGHMSRT —EnEERE(Y)RF, GREA—EEIMEES
Cu= AT Fa[N] . #EhEBEARRRNEEER, ARBRSHRIKEEESE,
AP
=
= W_ 25 HEHERTHEIN—EH, EAEREARRE—ENHEERX), SMBEA—EIIFE, FRAER—EEED
““““ 50% 100% EiN] o
~T[Mmi] il T[Nm]
R T AR HSRIE, R A a 7 — [
i, BilEE, SEREEBENERESE, SEEHHIRNEDE === | e
75 o Ak WIS SIS M Te R kI e, MRS, 0| R sEmmainy. EIEEREEA MRS E e EER A AR AR 0 R R EEE N R E T R A MR E R
SRS TAENNEE, SANNEE— RS meE, & ¥ s A o EREFEERTLAHNBAAKERIEERTAMNTEIERERGHE P (1208 ) MH. BEERITERER, S8
P AT IS o s ) (B R RSB (i) FNAEERIEE (Gt ) (iEm s ) nHE, AFFRERWETRAA; AR, EHEMRGEEE, AFFREEEETREN.
Inerti Moment of the rotary inertiain this description refers to that at the input terminal. Said an object strive to maintain their rotational state e o .
ﬂ;?;; (or a stationary of rotating)characteristics of a value. RERHAs EEFUSTREROEEHNIDERERDEMILE,
B PR ZESER AR, RE—EHRENREE CEHENE ( SR ) St —EE,
LS FRARNFRERERNERASE, EEERERNANELNER TERRB.
The proportion Refer to the ration of load inertia and inertia drive system(motor with gearbox).This ratio determines the controllable of the A
f inerti i inerti in,high— i i ifficul f isi I.T
o 15“"; &:a ::t:::r:; r?f:::n;sr;:ii ;1:21;1::) :;; sln:ar:la bgrs:;zrt;n:lergr‘;:|Ig;13dd:fz2am|c action on the more difficult process of precision control.The SR Gzt i N AR A B e 2 R e BRI E, Crot= AT/ ACE RN TE M & k46 A B4R i WS B — 304, SA9 I
4 ' [Nm/Aremin]  mER{EGESMESHMN. EHEE LEZEMETM50%E100%EEEE, fEERER, HETEAL—SHE.
REEUEERGHAFREE (EMmEEsRE ) ERMNLE, SAREAETREMTEE. A EML, bREEEIBEEEE
A, SEEMIERERMERSTEED, 2RMETEN ) EEHES, ESmAETEEHEERE2,
ZENE EEEAEELEESEEENEERE (GO RERAENBRESEER ), BREFHEER, EREANEEFRERA
Noise The unit is decibel(dB). The value is measured when the input rev is 3000r/m without load and at the distance of one meter from the (Nm] RESR,
B F gearboxes.
RSB (dB) . EH{ERERNTEM30008/ 50, FHEHE, ERbEEE KRR,
Special Notice  You can only refer to the input terminal dimension given in this book ,special dimension is depend on the shaft extension terminal
- - FERlER of chosen motor , practical object's dimension will be difference with these in book the practical is depend on the finished product, the
Oper'a_tlng Operating temp/T{EiRET —60 /-40/-25 ~ +55/+90/+ 120 output terminal dimension is according to these given in this book if not sign.
conditions Degree of protection/ [ 3 & 4 IP54/IP65 The weight of reduce motor given in this book is approximation ,the practical is depend on the finished product.
Lo — === - = =—— FEAHOFERERENNR T ERSE, RERTHERTROHMNRTAT, BERMNERTREFHEFER, B
Lubrication/i# g Life time lubrication/=40HiE, EEERARESHMEEH TR RIS EAE R, A SRS TR i R R S,
Mounting position/Z2 2 A 3t Any/{FE FEHHARERARERBIINE, REESEUTYEE, BhEn SHETR.

INCREASING 85

INCREASING 86



Increasin
© mmemmmREn

'ﬁ' «E) R T4 #ﬁ‘i{ PRECISION PLANETARY GRAR REDUCER

Mounting instruction

RETEREREREES
Step 1. 1 Step2. ¥ 2
CHINE (N

right motor? / right gear? B2 EIERE? /[ HiEH ST IERE? rectify any damages / clean grease free
FEREMINERE TR/ TR SRS
HiRws

Step 3, M]3 Step4. 54

open clamping screw, duotor < GHohiwelle: Use bushing / motor if the motor has a keyway remove it FBEREMTHE
mounting preferred in vertical position / fit the motor in the gear

IEM R RS, RFEREAE DNEREHNERE T HES

AR, Eikit SRR R TR

Step5. S5 Stepg. HEE6

open clamping screw
/ use bushing / motor
mounting preferred in
vertical  position / fit
the motor in the gear

MFARREG, MRE

HEE A FHANFLER

 ERENESE, A%

REBE N EA5EE screws tighten crosswise /

B R R g motor flange adjacent on gear flange

2 HAEEEMIRE, BER R R R E T

Step7. HER7
Notice: You must link the located bolt firmly and then screw up the screw!
TE: —EECEFEMERBRERERHSG)

@ ﬁ_ ; F ’ﬁ‘f—’j T - size®H  60/70 90 115 M2 190
B | T ol e i —
—= D% ;@: sages @ |1 ]2/ 1]2[1]2[1][2]1] 2

|
molorshaft OM@ 14 19 | 24 | 35 |48 3548
tighten clamping ring with Ta tighten cover screw / Ta [Nm] | 45 | 95 | 165 40 |75 | 40 | 75
ERTA (HART ) BREBNE HETHEH swimm] | 3 4 | s 6 |8 6|8 |

INCREASING 87



